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Q.1. Encircle the correct option. o (10x1=10)

1. Given below all the components are there in research design except?
a. Sampling Design b. Data Collection Strategy
C. Instrument Development d. Data Analysis

2. In sampling respondents are selected primarily on the basis of their
availability and willingness to respond.
a. Convenience b. Stratified
c. Purposive d. Quota

3. In , a series of cross-sectional surveys are conducted over time.
a. Experimental Design. b. Cross-Sectional Design
C. Longitudinal Design d. Successive Independent Design

4. refers to the truthfulness of a measure.
a. Reliability b. Validity
C. Norms d. Theory

5. Which method is used to determine equivalence between study and control group?
a. Operational Definition b. Matching
C. Random Sampling d. Purposive Sampling

6. The overall effect of an independent variable in a complex design is called a:
a. Main Effect b. Interaction Effect
C. Mediation d. - Moderation

7. A design consisting of an experimental and a control group, but participants are not
randomly assigned to the groups is which of the following?
a. Interrupted time-series design  b. Non-equivalent comparison-group design
C. Single case design d. A-B-A-B design

8. What is the typical length of a focus group?
a. 30 minutes b. 1 hour
C. 90 minutes d. 2 hours

9. IV must be manipulated before the measurement of DV is called:
a. Co-variation of events b. Time order relationship
C. Elimination of extraneous variables d. Time series relationship

10.  The degree of control in quasi-experimental design is:
a. Equal to true experiment. b. Less than true experiment
C. More than true experiment d. All of these.






UNIVERSITY OF THE PUNJAB
 B.S. 4 Years Program | Sixth Semester — 2019 : Roll No. ..ooocnnennnnee 3

Paper: Research Methods-li ’
Course Code: APSY-361 Part-1i Time: 2 Hrs. 45 Min. Marks: 50
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Q.2. Give short Answers. (4x5=20)

Discuss two limitation of survey research.
What do you know about interviewer bias.
Write a brief note on Quasi experimental design.
Differentiate between interaction and main effect.

o A~ N -

Write strength of case study method.

Q.3. Give Long Answers. (3x10=30)

What are the threats to internal validity?

2, What are three conditions needed for casual inference?

3. What are the advantages and disadvantages of using open ended questions in a
survey?
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Q.1. Encircle the correct choice. (1x10=10)

1. According to Freud, the psychic energy by which the life instincts perform their work is
known as

a). Thantos b). Libido
c). Eros d). Id

2. Jung believed that ancient experiences contained in the collective unconscious are
manifested by recurring themes or patterns called

a). Collective unconscious b). Personal conscious

c). Archetypes d). Persona

3. The primary goal of all human existence according to Adler is

a). Striving for superiority b). Fictional finalism

c). Inferiority feelings d). Style of life

4, Karen Horney defined as ‘the feeling a child has of being isolated and
helpless in a potentially hostile world’.

a). Neurotic needs b). Basic needs

¢). Neurotic anxiety d). Basic anxiety

5. Allport believed that a is the one that is so pervasive that all acts of an

individual’s behavior can be traced to it.

a). Cardinal disposition b). Central disposition
¢). Secondary disposition d). Common trait
6. According to Cattell, are the constitutional aspects of response like

speed, energy or emotional reactivity.

a). Ability traits b). Temperament traits
c). Ergs d). Dynamic traits

P.T.O.



7, ‘Everything must be perfect or it will be a disaster.’ is what the cognitive theorists
believed is called

a). Absolutist thinking b). Cognitive triad
c). Selective perception d). Constructive alternativism -
8. " is a fluid, on-going process defined by Rogers, whereby experiences

are accurately symbolized and valued according to optimal enhancement of the organism
and self.

a). Conditions of worth b). Need for positive regard

¢). Self-congruence d). Organismic Valuing

9. Maslow believed that the mechanism which operates only for the self-
actualization need.

a). D-Motivation b). B-Motivation

c). Peak experiences d). Self-actualization

10. Personal Construct theory was given by .
a). George Kelly b). Albert Ellis
c). Aaron Beck d). Raymond Cattell
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Part 2 (Short Questions) (4 marks each)

1. What and when the fixations occur in Freud’s Oral and Anal stage and what are their respective
personality characteristics?

2. Explain the difference between Jung’s concepts of Personal Unconscious and Collective
Unconscious by giving examples.

3. Briefly explain the object relation theory.
4, What are the basic characteristics of traits identified by Cattell?
5. What are major characteristics of self-actualizing persons according to Maslow?

Part 3 (Brief Questions) (10 marks each)
1. Explain in the detail the Adler’s theory of personality.

2. Describe the views of Erik Erikson on personality, its assessment and intervention.

3. Explain in detail Gordon Allport’s contributions in the personality development.
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Q.1. Encircle the correct choice. (1x10=10)

1. The purpose of neuropsychological assessment is to
a. Identify cognitive impairment
b. Evaluate preserved cognitive ability

¢. Differentiate between causes of cognitive impairment
d. None of the above

2. The area that coordinates emotions, is known as
a. Pons
b. Cerebral cortex
¢. Limbic system
d. Reticular activating system

3. Frontal lobe is associated with
Executive functions
Speech functions
Sensory functions
Motor functions

All of the above

a0 o

4. The little brain is called
a. Wernicke’s area
b. Cerebrum
¢. Cerebellum
d. Septum
e. Cerebral Cortex

S. Speech production areas are known as
a. Wernicke’s area
b. Broca's area
¢. Botha&b
d. Septum area
¢. Brain stem

P.T.O.



6. The most commonly administered test of cognitive ability is the
a. Halstead-Reitan
b. Stanford Binet

¢. Luria-Nebraska

d. None of the above ) )
7. One of the most common features of neurological disorders are Language deficits and are collectively

known as
a. Alogias
b. Anomias
c. Aphasias
d. Aphasia

8. When an individual has a disruption of the ability to speak is known generally as
a. Broca's aphasia
b. Beidecker's aphasia
¢. Warnick's aphasia
d. Wernicke's aphasia
9, If an individual suffers a traumatic event and has a neurological disorder that means they may be
unable to recall anything from the moment of the injury or to retain memories of recent events. This is

known as
a. Anterograde amnesia

b. Retrograde amnesia
¢c. Botha&b

d. Fugue

10. The resting potential of a neuron is
a. -70mv
b. 70mv
¢. 60mv
d. -65mv
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Q.2. Answer the following short questions. (5x4=20)
1. Describe action potential

2. What are major types of glial cells?

3. Define various types of sleep.

4, What is neurophysiology of hunger?

5. What are characteristics of neuromodulators, neurotransmitters and Neurchormones?

‘Q.7. Answer the following brief questions. (10x3=30)

1. Describe Dementia.

2. What are function of glands?

3. What are major types of thirst?

4. Which brain regions and neurotransmitters are involved in hunger?
5. Describe functions of Acetylcholine.

6. Which brain regions are involved in speech?

7. Define neuropsychology and role of neuropsychologist.

8. Define CVA.
9. Describe two eating disorders in brief,

10.Define sleep, circadian rhythms and Zeitgeber.
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Q.1. Encircle the correct choice. (1x10=10)
1) is entitled as the father of modern social psychology.
a) Kurt Lewin
b) E.Ross
c) W.Mcdoughall
d) J. Moreno
2) Emotional reactions that are oriented towards other people and include feeling of compassion
and concern is called
a) Altruism
b) Sympathy
¢). Facilitation
d) Empathy

3) Persuasion is .
a) Efforts to change other’s attitude
b) Efforts to change other’s behavior
¢) Efforts to change other’s beliefs
d) Efforts to change other’s prejudices
4) The process by which a message induces change in beliefs attitude or behavior is called

a) Propaganda
b) Persecution
¢) Persuasion
d) Advertisement

5) Social loading is a tendency to .
a) Exert less efforts when people work in group
b) To perceive favorably you are in group
¢) To divide individuals in ‘in group” and out group
d) Be influenced by persuasion

6) The sum of the factors that cause people to want to remain members of a group is called
group
a) Bonding
b) Cohesiveness
¢) Identity
d) Collectivism

P.T.O.



7) The belief that others are paying more attention to one’s appearance and behavior than they
really are is known as:
a) Spotlight effect
b) False uniqueness effect
c) Self-serving bias
d) False modesty

8) When we behave badly or fail in a task, we reassure ourselves by thinking that such lapses are
common. This is an example of:

a) Self-serving attribution
b) False consensus effect
¢) Confirmation bias

d) Priming

9) The tendency to draw inferences about a person’s characteristics from behaviors that could be
explained by situation alone is known as:

a) Base-rate fallacy
b) Correspondence bias
¢) Cognitive error

d) Egocentric bias

10) A false impression of what most other people are thinking or feeling or how they are
responding is known as:

a) Groupthink
b) Group polarization
¢) False consensus effect

d) Pluralistic ignorance
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Part 2 (Short Questions) (4 marks each)

1. What is Content Analysis?

2. What is the difference between Self Concept and Self Esteem?

3. Briefly describe Leon Fastener’s theory of Cognitive Dissonance?
4. Describe factors influencing Altruism?

§. Briefly describe types of group?

Part 3 (Brief Questions) (10 marks each)

1. Define attitudes. Explain in detail how attitudes are measurement.
2. Define leadership. Explain in detail the theories of leadership.
3. Describe in detail the concept of self and its components in social psychology.
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Q.1. Encircle the correct option. (10x1=10)
1. is a psychological and possibly life-threatening eating disorder

defined by an extremely low body weight, illogical fear of weight gain, and distorted
perception of self-image and body.
a. Anorexia Nervosa
b. Bulimia Nervosa
c. Obesity
d. None of Above
2. Health behaviors that suggest beliefs relating to the effectiveness, ease, and consequences
of doing a certain behavior will determine whether individuals do that behavior is
called
Health locus of control
Health beliefs
Life orientation
Health status
3. is a subjective assessment that people make about their own health state
and it is an indicator of overall health status.
a. Perceived health status
Overall quality of life
Health beliefs
All of the above
4, is the study of the self in relation to others and to society.
Locus of control ‘
Life orientation
Quality of life
d. None of above
The degree to which an individual is able to maximize his or her physical, psychological,
vocational, and social functioning is called
a. Locus of control
b. Quality of life
¢. Health status
d. All of the above
6. The typeftypes of retrovirus.
a. Oncogenic
Foamy retroviruses
Lentiviruses
All of above
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7. is a powerful pain in the chest, which sometimes radiates down the left
arm.

a. Cancer
b. HIV
¢. Angina
d. None of above
8. is a hormone made by the pancreas, helps glucose from food get into

your cells to be used for energy.

a. Pancreatic juice

b. Peptic juice

¢. lnsulin

Cortiol

9. is a type of diabetes develops in some women when they are pregnant.
Type I diabetes

Type 1l diabetes

Gestational

. None of above

10. Humoral theory of illness was proposed by
Discartes

Hippocrates

Plato

Galen

e
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Q.2. Give short Answers. (20)
What is biopsyhosocial model? (3 Marks)

What are illness perceptions? (3 Marks)

What are psychophysiological disorders? (3 Marks)

What is Selye's general adaptation syndrome? (3 Marks)

What is psychoneuroimmunology? (3 Marks)

What is Selye’s general adaptailon syndrome? (3 Marks)

What are the aims of health psychology? (2 Marks) .

NV R W

Q.3. Give Long Answers. (5x6=30)
1. What is health belief model? How can it be apply on patient with diabetes? (6 Marks)
2. What are the problems faced by caregivers of patients with chronic disease? (6 Marks)
3. What are personality traits? How can they influence illness recovery? (6 Marks)

4, What are stages of change model? How can it be used for smoking cessation? (6 Marks)
5. What are physical and psychological problems related to obesity? (6 Marks}
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Q.1. Encircle the correct choice. (1x10=10)
Q. No. 1: Fill in the blanks with suitable terms. (10)
1. In dicotyledonous stems, the is @ multilayered zone found in

between the endodermis and the vascular buﬁdles.

(a). Vascular cambium (b). Exodermis
(¢). cortex (d). Pericycle
2. Vascular bundles in a stem are conjoint, collateral or bicollateral
and open.
" (a). monocot (b). dicot
(c).botha& b (d). none of these
3. Theterm - is applied to gymnosperm wood, that of

to the dicotyledonous wood.

(a). softwood, hardwood (b). Hardwood, softWood
(c).Heart wood, sap wood (d). Early wood, late wood
4. The flattened petiole which looks like ordinary leaf is called -
(a). Gland (b). phyllode
(¢). Stinging hair (d). Papilla
5. A leaf in which palisade parenchyma is present on both abaxial and adaxial leaf surfaces
is termed as -- .
(a). Bifacial leaf (b). Isobilateral leaf
(c).Dorsiventral (d). Foliage

P.T.O.



6. The are cells or series of connected cells that contain latex, a

fluid of complex composition.

(a). trichomes (b). laticifers
{c).lenticels (d). Phelloderm
7. Guttation is a process characteristic to
(a). Nectaries (b). Laticifers
{c). Hydathodes (d). Resin ducts
8. ---- is the first or lowermost whorl of the flower.
(a). Corolla (b). Calyx
(c). Androecium (d). Gynoecium
9. In type of xylem, the development of the xylem takes place toward

periphery of the axis or protoxylem elements develop towards the centre.
(a). endarch (b). exarch
(c). mesarch (d).Botha& b

10. The earlier increments of secondary xylem gradually become non-functional in
conduction and storage. The relative amount of the non-functioning wood is called ------- .
(a). Heartwood {(b). Sapwood

(¢). softwood (d). none of these
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Q. No. 2: Give brief answers of following questions. (10 x2)
l. What is an ovule? What are its different types?

Define Reaction wood. What are its different types?

Define Histogen theory. Who proposed this theory?

Give comparison of monocot and dicot stems.

Differentiate between vessel members and tracheids.

What is meant by Leaf Abscission?

What is periderm? How is it formed?

What is meant by *Guttation’? How it is linked with ‘Hydathodes’?
-Why the heartwood is darker in color than sap wood?

P NS L oA woN

10. What is Anomalous Secondary Growth?
SECTION III

Q. No. 3: What is a stele? Describe its different types. (10)
Q. No. 4: Discuss secondary growth in dicot stem. (19)

Q. No. 5: What is meant by Axial and Ray systems in Secondary xylem? Explain in detail.
(10)
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Q.1. Encircle the correct choice. (1x10=10)

1. mRNA can be converted into DNA by
a. Hybrid DNA
b. Tag DNA Polymerase
¢. Ribosomal DNA
d. Complementary DNA
2. InPCR procedure when DNA hydrogen bonds are broken at 94 °C is called .
a. . Annealing
b. Denaturation
¢. Synthesis
d. None
3. Atthe end of a PCR a sample of the reaction mixture is usually analysed by
a. DNA sequencing |
b. Gene Cloning
¢. Gel electrophroses
d. Southern Hybridization
4. DNA consists of all the DNA present in a single cell or group of

cells.
a. Hybrid
b. Ribosomal
¢. Total
d. Complementary

P.T.O.



5. A DNA sequence that is able to move from place to place within a genome.
a. Template
b. Transposon
c. Transcript
d. Terminator

6. If two plasmids are unable to live in the same bacterial cell they are said to be .

a. Compatible
b. Conjugative
¢. Incompatible
d. None
7. Ethidium bromide is used as a dye to stain DNA in agarose and polyacrylamide gel in
following.
a. Blotting
b. Finger prints
¢. Electrophoresis
d. None
8. Ti plasmid can cause disease.

a. Hairy root
b. Proliferation
¢. Crown gall
d. Bothaandc
9. A virus with an RNA genome is

a. Plasmid
b. Episome
¢. Retro virus
d. None
10. A thermostable DNA polymerase that is used in PCR is
a. Taq DNA polymerase
b. DNA Ligase
¢. DNA Polymerase IlI
d. DNA Topoisomerase
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Q2: Answer the Following: (2x10=20)

i. What is the function of yeast artificial chromosome (YAC)?

ii. What is the difference between transfection and transformation?

iii, ~ How 5'-terminus end is different from 3'-terminus end?

iv.  What are exons?

V. Explain the purpose of Western transfer.

vi.  Give the significance of lambda vector in gene cloning.

vii.  What are linkers?

viti.  What is restriction map?

ix.  What is the purpose of polymerase chain reaction (PCR)?

X. What are the advantages of high copy number of plasmid in gene cloning?

Q3: Explain the following (6x5=30)

1. What do you know about role of vectors in gene cloning?

g

What are the basic features of Bacteriophages? Explain the lysogenic cyle of phage
virus.

Explain briefly about Lambda phage as cloning vector.

How Ti plasmid cause crown gall disease in plants? Explain briefly.

Write a note on PCR.

A S

Explain the role of gene cloning in Agriculture.
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Q.1. Encircle the correct choice. (1x10=10)

1. An Autoclave is used for

a) Sterilization of liquid media ~ b) Aseptic transfer of media and cultures
¢) Callus production d) Sterilization of explants
2. Anunorganized growth of cells is called as
a) Callus b) Tissue ¢) Explants d) Embryos
3. The best method for haploid culturing is
a) Cell cultures b) Protoplast cultures ¢) Embryo cultures
d) Anther cultures

4. Pollen culture technique is used to produce
a) Diploid plants b) Hybrid plants  ¢) Haploid plants d) None of these
5. An excised or isolated piece of tissue is termed as

a) Explant b) Tissue c) Callus d) Protoplast
6. The tissue culture media can be solidified by adding
a) Agar b) Sucrose ¢) Algin d) All of these
7. The hormone/s used in Plant Tissue Culture is/are

a) [AA b) Gibberellin ¢) Cytokinin d) All of these

8. Electro-fusion is used in
a) Callus cultures b) Protoplast cultures ¢) Embryo cultures d) Anther cultures
9. In autoclave, the media is sterilized at 15 psi pressure at
a) 100°C b) 121°C ¢) 131°C d) 141°C
10. Which one of the following is not used in Plant Tissue Culture
a) Suspension cultures b) Seed cultures  ¢) Embryo cultures d) Pollen cultures
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

QUESTIONS WITH SHORT ANSWERS 20 Marks

Q2. Answer the following questions briefly and to the point. Each question carries
two marks.

1. What is Sterilization? How is liquid medium sterilized?

2. Name a few media generally required in plant tissue culturing.

3. What are Callus cultures?

4. What is the role of hormones in callus cultures?

5. Write down the main steps involved in MICROPROPAGATION.

6. What is the importance of Plant Tissue Culture in research work?

7. Give the importance of Anther cultures.

8. How would you prepare Pathogen-free plants in a tissue culture lab?
9. How are the explants sterilized?

1

0. What do you understand by the term Cellular Totipotency?

QUESTIONS WITH BRIEF ANSWERS 30 Marks

Q3. Answer the following questions briefly focusing on quality of your amswer
rather than its length.

1. What is Sterilization? Describe various methods of sterilization in Plant Tissue

Culture. 10 Marks

2. What are Callus cultures? Describe various steps involved in callus culturing.
10 Marks
3. Write note on 10 Marks

a) Tissue culture Laboratory
b) Cell Suspension Cultures.
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Q1.

'l‘c

VI.

VII.
VI,

IX.

Encircle the correct choice. (1x10=10)

The field of Palynology concerned with extant palynomorphs is called

a. Palaecopalynology b. Neopalynology c. Archaeopalynology d. Palaeontology
Palynomorphs are organic walled whole organisms or parts of organisms range in
size from

a. 5um-200um b. 5um-300um ¢. S5um-500um d. 5um-50um
rocks are rich in Palynomorphs.

a. Igneous b. Sedimentary ¢. Intrusive  d. Metamorphic

Palynological preparations confain more or less organic “Junk” not referable to
specific palynomorphs:

a. Varia b. Palynodebris c. Palynofacies d. Organic matter

The fossil mouth parts of annelids are in nature.

a. Cellulose b. Chitin c. Sporopollenin d. Murien

A polien grain is a

a. male gamete b. female gamete  c¢. microgametophyte d. germinate to
grow into microgametophyte

Trilete and Monolete spores are produced by

a. Angiosperms b. Gymnosperms  ¢. Cryptogams d. Seed Femns

A Colporate Pollen grain has

a. Acolpus only b. A pore only c. Both colpus and pore

Monosaccate Pollen grain is characterized by

a. One saccus b. Two sacci ¢. Three sacci d. none

The outer most layer of exinal components which may or may not be present is

a. Baculae b. Intine ¢. Tectum  d. Foot layer
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2
l.
i

.

Answer the following short questions. (2x10)

What are Palynomorphs? Enlist various categories of Palynomorphs.

How Organic Thermal Maturity of Rocks is determined by the colour of fossil
palynomorphs? Discuss

What are Index Fossils? How does Index Palynomorphs help in

Biostratigraphy?
IV. What are Haptotypic Features/Marks? Why Haptotypic features are absent in
Cryptospores?
V. Whatdo these codes indicate about spores and pollen:
Scz, Pac, Pbz, Pdy.
VI. Differentiate between Exine Sculpture and Structure.
VIl.  What is Shell Code?
VIl.  Differentiate between Zona and Cingulum. Support your answer with suitable
diagrammes.

IX. What is principal of Heavy Liquid Separation?

X. How does Palynology help in Medicines to control Allergies and Asthama?
Q.3: Define Maceration. Describe in detail the procedure to macerate a given
sample of sedimentary rock to isolate Palynomorphs. (10 Marks)

Q4: a) What do you know about exine ultra structure? Discuss in detail

various systems used for classification of exine ultrastructure. (05 Marks)
b)  Describe any five exinal ornamentations. (05 Marks)

Q.5. a) Describe the Production and Dispersal of Spores and Pollen in detail.

(05 Marks)
b) Explain Organic Thermal Maturity. (05 Marks)

L X R J

.QOOQOOOOOCQOOOOOOO...

Time: 2 Hrs. 45 Min. Marks: 50
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Q.1. Encircle the correct choice. (1x10=10)
@® Auditingwork _____ accounting,
a. precedes
b. follows
c. goes parallel to
d. None of the above
(1) In the process of , the auditor physically inspects the assets.
a. vouching
b. verification
c. Inspection
d. investigation
(11 A is an intentional misrepresentation of financial information.
a. negligence
b. pilferage
¢, error
d fraud

(iv}  Any documentary evidence in support of a transaction is called:

a. voucher
b. account
¢ income statement
d. balance sheet
() While conducting audit of a . the auditor should examine compliance of
the Prudential Reguiations.
a.  hotel

b. newspaper company
c. bank
d. insurance company

(vi) is the evaluaton of performance of management,
management audit

operational audit

financial audit

PO o P

accounting

P.T.O.



(vii)

(vii)

)

means all the policies, procedures, methods, measures etc. adopted by the
management to ensure that everything is working in the organization as it should.

a. Internal conurol system

b. Internal audit

¢. Internal check

d. Interim audit

is a detailed list of audit procedures to be performed in the conduct of an
audit.
a. audit plan
b. working paper
¢ accounting
d. audit program

Which of the following is the primary object of external audit?

a. detection of errors and frauds

b. espression of independent opinion that whether or not financial statements give true
and fair view

c. shareholders’ satisfacrion

d. prevention of errors and frauds

This type of error arises when the correct amount is entered but in the wrong account.
a. error of omission

b. error of principle

¢. error of commission

d. errors of original entry
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q # 2. Answer the following short questions. (20)

7-
8-
9.

Define INTERIM AUDIT.

Define UNQUALIFIED OPINION?
What is AUDITOR’S LIABILITY FOR LIBEL?

- Define COMPUTER ASSISTED AUDIT TECHNIQUES (CAATS).

Define INTERNAL CHECK.

Define AUDIT WORKING PAPERS?
What is MANIPULATION OF ACCOUNTS?

Define QUALIFIED AUDIT REPORT?
What is the difference between THEFT and PILFERAGE?

10- What are TESTS OF CONTROLS?

Q#3. Differentiate between Continuous Audit and Final Audit. 10)

Q#4. What is a Statutory Report? State contents of the statutory report. (10)

Q#5. Discuss rights (powers) and duties of auditor of a company. (10)
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Q.1. Encircle the correct choice. (1x10=10)

1. Income Tax Rules are effective from:

a.

b, 1979
¢. 2000
d. 2001
e. 2002

2. As per the income tax ordinance 2001, Person means:

a.
b. Individual
¢. Company or AOP
d. Federal &Foreign Government
¢.  All of the above

3. Which of the following is NOT a public limited company?
a. A company in which 50% or more shares are held by the Federal Government
b. A company in which 50% or more shares are held by a provincial government
¢. A company in which 50% or more shares are held by a foreign government
d. A company in which 50% or more shares are held by a local government

4. Which from the following is NOT among the heads of “Total [ncome™?
a,
b. Salary
¢. Income from property/business
d.  Income from sales
e. Capital gains
S. Which of the deductible allowance is deducted from gross tax?
a. Educational Expenses
b. Payment to workers’ Welfare Fund
¢. aandbboth
d.  None of the above

6. Which of the following is not included in Rent Chargeable to tax?
4. Rentreceived or receivable by the
owner of land or butlding
b. Forfeited token money
c. B/10%of the advance not adjustable
against Rent

d. Nonc of the above
P.T.O.



7. Highest Forum for reference in the point of law:
a. CIR (Appcals) b. Appcllate Tribunal Inland Revenue
¢.  High Court
d. Supreme Court

8. A loss carried forward from Income from business may be set off against:
.
b.  Income from the same business
¢. Income trom any other source of
NCOMC
d. Income from any other busincss
None of the above

(7]

9. Which of the following is responsible for appointment of members and Chairman of FBR?

Federal Government
Central Board of Revenue
Federal Board of Revenue
Provincial Government

A op

(¢

10. Withholding tax is deducted at the time of?:

b. Recording suppliers invoice
¢.  Making a purchase

d. Making a payvment

¢.  Rendering the service
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. No.2: Define the short answers of the following questions. (2*10=20)
i. Define KIBOR.

11, What i1s Capital Asset?

it Difference between normal tax year and transitional tax year,

. Give two examples of Partly Agricultural and Partly Non-Agricultural Income.

v. Define Rent Chargeable to tux (RCT).

vi. Why is it important to differentiate between Revenue and Capital expenditure?

vil, What is the difference between Exempt and Non-Taxable?

viii. What is the tax treatment of “Loan to Employee™ under the income tax ordinance 20019

iX. Enlist at least four examples of Income from Other Sources.
X. Detine Best Judgment Assessment.

Q. No. 3: Answer any one of the following, (IS)

What is Provident Fund? Discuss the treatment of various types of Provident Fund for inclusion in

total incomce and exemption from income tax.

OR

What is meant by Agriculture Income? Is it taxable in Pakistan? Give explanation of different types of

agricultural Income.

P.T.O.



Q. No. 4:
Mohammad Ali. a senior citizen of Pakistan (age above 60 years), supplies the following information

for the tax year ended 30-06-2018. Compute his tax payable.

-

13.
14,
15
16.

17.
18.

Basic Salary
Cost of Living Allowance

Rent free unfurnished accommodation provided to him

Medical allowance

Medical Facility (under terms of agreement)
Loan obtained from the employer @: 12%
Property income (Repair charges Rs. 25.000, Property tax paid Rs. 5,000)

Un-Adjustable Advance Rent
Profit from textile business

. Un-adjustable business loss of previous ycar
. Capital gains on sale of shares of private company

(Disposed off within 12 months)

. Shaukat Khanum Memorial Trust
Specitied in ¢lause 61 of the second Schedule

Tax deducted at source from salary

Donation to Government educational institution
Contribution 10 approved fund at the age of above 40 yr
Won a car in competition held by Indus Motors

for promotion of its sales RMW
Education fee of three children

(15)

Rs. 5,00,000
30,000

----------

40,000
11,00,000
2,50,000

1,00,000

45,000

35,000

12,000
90,900

10,000
45,000
40.000

2,50,000
50,000

Gain on sale of shares of public company acquired atter {8 July 2017

(Disposal within the period of 12 months)

75,000

Rate of tax for salaried person for tax vear 2018

S. Slabs Rate of tax

1 Where the taxable income does not exceed Rs. 4,00.000 | Nil

2 Where the taxable income exceeds Rs. 4.00.000 but does | 2% of the amount exceeding Rs.
not exceeds Rs. 3,00,000 4,00,000

3 Where the taxable income exceeds Rs. 5,00,000 but dvues | Rs. 2,000 + 5% of the amount
not exceeds Rs. 7,50,000 exceeding Rs. 500,000

4 Where the taxable income exceeds Rs. 7.50.000 but does | Rs. 14,500 + 10% of the amount
not exceeds Rs. 14,00,000 exceeding Rs. 7.50,000

5 Where the taxable income exceeds Rs. 14.00.000 but Rs. 79,500 ~12.5% of the
does not exceeds Rs, 15,00,000 amount exceeding Rs, 14,00,000

6 Where the taxable income exceeds Rs. 15.00,000 but Rs. 92,000 +15% of thc amount
does not exceeds Rs. 18,00.000 exceeding Rs. 15.00,000

7 Where the taxable income exceeds Rs. 18.00,000 but Rs. 1. 37.000 ~17. 5% of the
does not exceeds Rs. 25,00,000 amount exceeding Rs. 18,00,000

8 Where the taxable income exceeds Rs. 25.00.000 but Rs. 2.59,500 +20% of the

does not exceeds Rs. 30.00.000

amount exceeding Rs. 25,00,000
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q2. Give brief answers to the following questions (Short Questions). Marks: (10*2=20)

1. Differentiate between ERP and MIS?

2. What are the benefits of ESS?

3. Define KMS with example.

4. What is the important of MIS Report?

5. What does the statement mean: “Hardware is useless without software?
6. Difference between Database and Database Management System.
7. Define the terms firewall and proxy server.
8. Describe the importance of Disaster Recovery Site?
9.
1

What do you understand by Intrusion Detection Systems?
0. Differentiate between MIS & DSS

Q3. Give detail answers to the following questions (Long Questions) Marks: 30

1. Differentiate between Business functions and Business process with example of online book
purchase store.

2. What is an information system? How does it work? What are its management, organization, and
technology components and why are complementary assets essential for ensuring that
information systems provide genuine value for organizations?

3. What are the most important tools and technologies for safeguarding information resources?
Name and describe three authentications.
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Q.1. Encircle the correct choice. (1x10=10)

1.

Converting raw data into a more meaningful form is called

A)  capturing. ) organizing.

B)  processing. D)  feedback.
In a business hierarchy, the level'that is responsible for monitoring the daily activities of
the business is

A) middle management. C) production management.

B) service workers. D) operational management.
Which of the following would NOT be used as an input for an information system?

A)  digital dashboard 0 bar-code scanner

B) handheld computer D) cell phone

The three principal levels within a business organization hierarchy are
A)  senior management, operational management, and service workers.
B) senior management, middle management, and operational management.
0) senior management, operational management, and information systems.
D) senior management, middle management, and service workers.
Engineers, scientists, or architects, who design new products or services for a firm,
belong to which level of a business hierarchy?

A) middle management 1)) knowledge workers
B) production workers D) data workers

Which main business function is responsible for maintaining employee records?
A) sales and marketing D) manufacturing and
B) human resources production

C) finance and accounting
A Order data for baseball tickets and bar code data are examples of
a. raw input,
b. raw output.
¢. customer and product data.
d

., sales information.
P.T.O.



8. Which is a benefit of generating a Gantt chart for your stakeholders, sponsors and team
members?
a. Shows clarity of multiple tasks and time lines
b. Identifies all the stakeholders and their requirements
¢. Lists risks and intended courses of action if these events occur
P is a full form of SQL.
a. Standard query language
b. Sequential query language
¢. Structured query language
d. Server-side query language
10. An advantage of the database management approach is
a. data is dependent on programs
b. data redundancy increases
c. datais integrated and can be accessed by multiple programs
d. none of the above
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Q.1. Encircle the correct choice. (1x10=10)
I. In terms of its contribution to GDP which one of the following is the largest sector in
Pakistan economy?
a. The Agriculture sector b. The Industrial sector
C. The Services sector d None of the above
i. Foreign exchange is used in .
a. Domestic trade - b International trade
cC. Local trade d. Regional trade
iii. Which of the following characteristics are most likely found in developing countries?
a. High population growth rates
b. Large number of people living in poverty
c. Very traditional methods of agricultural production
d. All of the above.
iv. Characterizes of modern economic growth is presented by
a. Prof Simon Kuznets b. Prof Adam smith
C. Prof Alfered Marshall d. Prof J.B Say
V. Economic development refers to
a. Economic growth
b. Economic growth plus changes in output distribution and economic structure
c. Improvement in the well-being of the urban population
d. Sustainable increase in Gross National Product
vi. Government of Pakistan spends on education
a. 1% of GDP b. 2% of GDP
c. 5 % of GDP d. 4% of GDP
vii. Foreign exchange is used in :
a. Domestic trade b. International trade
C. Local trade d. regional trade
vii.  According to Malthus population increases.
a. At Geometric rate b. At arithmetic rate
C. At constant rate d. None
iX. Which of the following is a low-income country?
a. Mexico b. Thailand
C. Turkey d. Bangladesh
X. More than three-forth world population live in:
a. Advance countries b. Developing countries
C. Asian countries d. African countries
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Short Questions (5x4=20)

i. Define economic development.

i. Explain the Millennium development goals.

ii. What are the three core value of economic development?

iv. Write the four characterizes of under developing countries.

V. What do you understand by the term "economic development is a process"?

Q.3. Long Questions (3x10=30)

i. Explain nature and scope of economic development.
. Suggest some measure to control unemployment.
iii. Why balance of payment of Pakistan is unfavorable?
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Q.1. Encircle the correct choice. (1x10=10)

(i). Environmental Governance views one of the following:

(a) Natural resources and environmental
{b) Artificial resources

(¢) Man made surroundings

{d) None of these

(ii).  Globalization refers to a process to do the following:

(a) to bring world closer

(b) dealing between two or more countries
(¢) Restricted relationship of countries

(d) All of these

(iii),. =ZMERCOSUR was found in :
(a) 1992
(b) 1945
(¢) 1944
(d) 2001
(iv). NPT stands for the following:

(a) Non proliferation treaty

(b) Non participating treaty
(¢) New proliferation treaty
(d) non-proliferation term

(v). Under which agreement IMF and World Bank Formed:
(a) WTO
(b) USA & allies
(¢) (a) and (b)
(d) Breton Wood Agreement
P.T.O.



{vi).

(vii).

(viii).

(ix).

(x).

Area of Kashmir is controlled by:
(a) UNICEF

(b) Two Counties

(¢) UNO

(d) None of These

What is the purpose of International Economic Association:
(a) To issue Rules and Regulations

(b) To solve the economic problem of countries

(¢) To provide Capital

(d) All of these

A parliament is called as a Parliament officially when formed by:
(a) Elected people

(b) America

{c) People of country

(d) Boundary Commission

Which country is not included is G-8:
(a) France

(b) Pakistan

(¢) Germany

(d) Turkey

The Foreign Ministers of SOUTH ASIAN COUNTRIES formed

-------------- in 1980s?
(a) G-3

(b} ASEAN

(c) NAFTA

(d) SAARC
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.No.2.Define the following Terms: (20 Marks)

i. Write down the names of institutions in WORLD BANK GROUP?
ii. Enlist the name of 4 Agency of UNO?

iii. What is the nature of Pak-Iran relations”

iv. Why China is so close to Pakistan

v. Enlist the countries included in G-87

vi. What is Nuclear Proliferation Treaty?

vii. Write down 3 Objectives of World Bank?

viii. What is the primary function of IMF?

ix. Write down about currency of IMF.

x. What is meant by Syndication?
Q.No.3. What are the Global warming reason ? How these can be addressed? (10)

Q.No..Write a ne:te on KASHMIR issue between Indian & Pakistan. (10)

Q.No.5.What is Glebalization? Explain the Merits and Demerits of Globalization on
Domestic business affairs of a country.
(10)
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Q.1. Encircle the correct choice. (1x10=10)

I. In Pakistan, Joint Stock Company is formed under the ordinance.

a. 1978 b. 1982 ¢. 1984 d. 1990
2. The person who manage the affairs of company are called

&, Sharcholders b. Debenture holders ¢, Promoters d. Dircctor
3. The minimum number of directors in a Public Lid. Company are

a. Nine b. Scven c. Eleven d. Two
4. The approuch in which Board of Directors to work {or the best interest of

sharehotders. but without damaging the interest of other stakeholders is called

a.  Shareholders b. Enlightened c. Stakeholders d. None of these
3. The issues arce discussed in Cadbury report which are related to

a. Financial Aspect of CG b. Director’s remuncration

¢. Director?s responsibilities d. None of these

6. What does a company issuc to get loan from the public
. Shares b. Debentures ¢. Dividend d. All the three

7. The board which comprises of people who have u big name in the socicty but have no
acumen for conducting a company’s business
4. Yesmenboard b, Paperboard c¢. Trophy board  d. Country Club board

8. The board composition in which only a part of the board retires at the end of a stated

tenure while the duration of cach director remains tixed

a. Common tenure board ¢. staggered board
b.  Unitary board d. None of these

9. The persons who are members of the board and also an employee of the company
a. Executive directorb. Non-exceutive director ¢. Independent director d. None of
these
10. Revised Code ot Corporate Governance issued by SECP in

a. 2001 b. 2004 ¢. 2008 d. 2012
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. No. 2: Give short answer to the following questions: (20 Marks)

1. What do you understand by “Corporate Governance™?

ii. What is the ditference between a sharcholder and a stakeholder?

iii. Which 1s the best approach to corporate governance and why?

iv. What is difference between unitary board and Two-tier board?

v. How is corporate governance linked with the agency theory?

vi. What is an ineffective board? Give example?

vii. Describe the sources from which the powers of board of directors can be
determined?

vili. What are the responsibilities of Audit Committee?

ix. What is Creative accounting?

x.  Who are the real owners of the company”?

Q. No. 3: What is the impaortance of corporate governance? Explain some of the corporate
wrongs over the past few years. Also discuss corporate sins and some of the key issues
related to corporate governance. (10)

Q. No. 4: Discuss the types of directors in detail. (10)

Q. No. 5: What are stukeholders? Classify them on the basis of their role in the company and
explain why corporate governance is important for stakeholders. (10)
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Q.1. Encircle the correct choice.

1. Embargo is:
A. Ban till a specific time
B. 2™ headline of newspaper
C. Important news item
D. None of these
2. Curtain Raiser is:
A. News with 5Ws & 1H
B. News before an event
C. Name of Printer and Publisher
D. News received from web desk
3. Who defines headline as “Title of news?”
A. Miskeen Ali Hijazi
B. A.R.Khalid
C. Abdul Salam Khurshid
D. None of these
4, comemeenee- is backbone of newspaper?
A. Editor B. Sub-Editor
5. Display Adis:
A. Ad displayed on back page
B. Ad from Government
C. Ad in which graphics are used
D. Ad from private sector
6. Advertorial is:
A. Ad and News content on same page
B. Editorials on certain products
C. Pages contains ad in national newspaper
D. None of these
7. Tabloid has ------ Columns:

A 4 B.5 C.6
8. Obituary news relates to:
A. Deaths  B.Births C. Crimes

9. Print Line means:
A. Name of Story Write
B. B.Date and City Name
C. Name of Publisher & Printer
D. None of these
10. TASS is a news agency of which country?
A. Brazil
B. Russia
C. China
D. Germany

A
N
N

(1x10=10)

C. Gate Keeper D. Peon

D.7

D. Sports
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Question No. 2: Write short answers. (5*4=20)

i Write four characteristics of Headline...;/zf=ter® dd
ii. What is American Style of making headline? Explain with 2 examples.-/» St M i
fi.  Newsroom is the most important place in a newspaper. Discuss-.;/% i S o1 LM

iv.  How 5Ws and 1H is important in a news story?S e-edif§ g 2

Question No.3: Write brief answers. (6*5=30)

1 Sub-Editor is the key to newspaper. Discuss. S Bt S et SR R

i, Describe various make-up techniques of Pakistani newspapers. fuig-+/ Jv'fv?f ol of St atididel

ii.  Headline is a window towards news. Discuss.-.{/. as.e 3/ SASHEAS

iv.  Computer plays a vital role in subediting and page designing. Discusstsi/ it fe Ll T 1'456“/':;:(
-/ /s éf--q.r/

V. “Pakistani newspapers are only spokesmen of govemnment.” Do you agree with this statcment?
Support your answer with arguments. . f 131221085 e W BT L NN O

e
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Q.1. Encircle the correct choice. (1x10=10)

i Which phrase describes a feature?

{a) A hard news story

(b) Any story thatinforms the reader
{c) A soft news story

(d) Any short newspaper article

it Whatisalead ?

(a) The main ideas of a feature story

{b) A piece of information that attracts and keeps the reader’s interest
(¢} Apointin the story where the reader loses interest

{(d) The angle of a story

iii What is the soft news?

{(a) News that is based on opinions, not facts

{b) News that is entertaining or interesting

{c) News that is circulated on the internet not on paper
(d} Advice column

iv Your choice of source depends on

(a) The source’s expertise

{b) The source’s popularity

{c}) The source’s availability

(d) The source’s height and weight

v What is editorial ?

" 'n

a) An opinion piece that uses the pronoun
b) The process when an editor works with unfinished story
c) Apart of the working process

{
{
{c)

(d) The job that reporters get after they are promoted
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Q.2. Write short answer of following. (4x5=20)

i. Educational values of feature.

i. Importance of column writing.

iii. Difference between structure of news story for radio and newspaper.
iv. Write a short note on editorial cartoon.

Q.3. Write brief answer of following. (10x3=30)

i. Editorial reflects the policy of newspaper organization. Write a detail not on it.

ii. Why feature is considered as the “Show Window” of any newspaper? Give strong
arguments and also write down different types of features.

i, What is the difference between an opinion article and an editorial?
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Q.1. Encircle the correct choice. (1x10=10)

1. Inthe process of conducting research what is the next step after the ‘Formulation of
Hypothesis"?

a) Statement of Objectives - b) Analysis of Data

¢) Selection of Research Tools d) Collection of Data

2. The people or cases used in experimental research are called ,
a) Respondents b) Units

¢) Subjects d) Population

3. Each person or unit is connected with another through a direct or indirect linkage in,
a) Random sampling b) Snowball sampling

c) Stratified sampling d) Purposive sampling

4. In which of the following method “vision” is employed as a mean of data collection?

a) Experiment : b) Survey
¢) Historical d) Observation
5. In-----emee——-sampling, every unit of population has an equal chance of being selected for
sampling.
a) Non probability sampling b) Probability sampling
¢} Quota sampling d) None of these

P.T.O.



6. The process of converting concepts into their empirical measurement is called,
a) Conceptualization b) Characterization

¢) Classification d) Operationalization

7. Inwhich level the events are classified into categories in order to measure difference among
them?

a) Nominai-level measurement b) Ordinal-level measurement

¢) Ratio- level measurement d) Interval-tevel measurement

8. Measurement with an absolute zero as its lowest value or absence of variable is,
a) Nominal-level measurement b) Ordinal-level measurement

c) Ratio- level measurement d) Interval-level measurement

9. Convenient sampling is also called,
a) Haphazard sampling b) Accidental sampling

¢) Both of these d) None of these

10. Which of the following is related to Quantitative research?
a) Objective facts b) Focus on variables

¢) Statistical analysis d) Ali of them
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Q.2.  Give short answers to following questions. (4x5=20)

1) What are the sources of research literature for a researcher?
2) Give an account of the strengths of Qualitative research.
3) Compare Basic research with applied research.

4) How Probability sampling is different from Non-probability sampling?

Q.3. Answer the followings. (3x10= 30)

1) Give a comprehensive comparison of Quantitative research and Qualitative research.
2) Describe the need and significance of research in social sciences.

3) What steps are involved in conducting a survey research?
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Q.1. Encircle the correct choice. (1x10=10)
1. Three researchers; Phillip J. Tichenor, George A. Donohue, and Clarice N. Olien of
Minnesota University - first proposed the................. in 1970.
a) Priming b) knowledge Gap Hypotheses
C) Agenda setting d) None of these
2. Everett Rogers, a professor of communication studies, popularized the theory
a) Framing b) Diffusion of innovations
Cc) Cultivation theory d) Magic Bullet theory
3. Mc. Comb & Shaw presented theory.
a) Framing b) Agenda Setting
c) Magic Bullet d) Priming
4, Most of the media images are purposely used to capture our attention and
develop .
a) Mediated realities b) Social realities
C) Natural realities d) One of them
5. Cultivation effects hypothesis was presented by .
a) George Gerbner b) Mc Comb & Shaw
C) Laswell
6. Agenda Setting was presented in .
a) 1972 b) 1970
c) 1971 d) 1975
7. When the group or public realizes that the individual has a divergent opinion from the
status quo: this is the basic concept of --——-
a) Agenda setting b) Diffusion of innovation
C) Cultivation effects hypothesis d) Spiral of silence
8. Selective Retention approves that

a) People recall best messages associated to their attitudes and views

b) People evoke already prevailing messages near to their attitudes and views
) People retention of messages level is very poor

d) None of above.

9. Which of the following is not one of the primary functions of mass communication?
a) Surveillance b) Cultural Transmission
C) Entertainment d) - Immunization

10. The media exercises a selective influence over how people view reality
a) Diffusion of innovation b) Framing

C) Cultivation effects hypothesis d) Opinion formation
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ii.

Q.2. Attempt all Questions with short answers (4x5=20)
i. Describe briefly the proposed elements of "Diffusion of Innovation".
i. Explain the concept of "selective retention” in the light of media effect approach.
iii. Discuss the close relationship between theory and research.
iv. Describe the term priming.
V. Explain the significance of theory and its relationship with research.
Q.3 Questions with comprehensive answers (3x10=30)

What is your understanding regarding "Knowledge Gap Hypothesis"? Explain with
example.

Write a comprehensive note on framing Theory.

Discuss the classification of individuals in social system on the basis of innovativeness

in the light of Diffusion of innovation also describe its basic assumptions with the help
of examples.
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Q.1. Encircle the correct choice. (1x10=10)

1. Advertisements of particular products which are banned by law is
called advertising.
a. Covert c. Professional
b. Surrogate d. Banned

2. There are two categories of advertising appeals.
a. Emotional and Rational C. Social and Rational
b. Emotional and Social d. Social and Fear

3. [faslogan is sung in any advertisement then it becomes
" a. BGM c. Tagline
b. Jingle d. None of these
4. Appeal draws the viewers’ attention by giving them sense of loss.
Death Appeal c. Rational Appeal
Emotional Appeal d. Fear Appeal

o e

';Il

Which one of the following is not the type of propaganda
a. White c. Grey
b. Black d. Yellow

6. is a story on what is likely to happen and not a report on what has happened.

a. Press release ¢. Curtain raiser
b. Press Note d. none of these

7. is a short, compelling news story written by a public relations professional
and sent to targeted members of the media.

a. Propaganda c. Publicity
b. Press release d. None of these

P.T.O.



8. Father of Public Relations is

a. Edward L. Bernays c. James E. Grunig
b. Thomas Jaferson d. Ive Lee
9. is an account of government view point issued on important and urgent

occasions. Newspapers or electronic media have no choice but to publish or air it in the

same language and with the same contents

a. Advertising ¢. Public Relations
b. Press Note d. None of these
10. is a marketing tactic involving paying for space to promote a product,

service, Or cause.

a. Advertising ¢. Sale
b. Campaign d. None of these
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Short Answers (20)

What is the difference between Press Release and Press Note?

What do you mean by ATL activities?

What is Curtain Raiser?

What is different between Advertising and PR?

What do you mean by Blink Add?

What is difference between propaganda and publicity?

Write down the names of major departments of Advertising Agency.
DGPR stands for?

. Write down any two qualities of PRO?

10, RACE stands for?

0% N oL bW

Questions with Brief Answers (30)

1. Discuss in detail the duties of Public Relation Officer and also describe tools of Public
Relations. (10)

2. What are major key players of advertising agency and what is the responsibility of

Creative department in advertising agency? (10)

Detine Advertising, Explain any three types of Advertisement. Highlight the various

(93

techniques and tactics used in making effective advertisement. (10)
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Q.1. Encircle the correct choice. (1x10=10)

@) Mathematical relation between entropy and probability is

@ S=khao
(©) S=-kw

fd) None of these

(i)  The SI units of pre-exponential factor A in equationk = Ae-% for zero order
reaction are

(a) MS”

(o) M''s™

(c) M%s

(d) None of these

(iii)  The pre-exponential factor A in equationk = Ade -7% is the rate constant at
(a) Room temperature

(b) Absolute zero

() Infinite temperature

{d) None of these
(iv)  Eyring equation is related to

(a) Collision theory  (b) Transition state theory  (c) magnetic field
(d) Relaxation methods

P.T.O.



(V) The value of entropy of universe is going to increase. This statement belongs to

(@) 1* law of thermodynamics
(b) 2™ law of thermodynamics
(c) 3" law of thermodynamics
(d) None of these

(vi) The relaxation methods are used to study the kinetics of

(a) Slow reactions
(b) Irreversible reactions
(c) Fast reversible reactions

(d) None of these
(vii) The ST units of TAS of a process are

(a) Kmol™ @) Jmol’  (c)m?mol?® (d) mol m”
(viii) Inareversible process entropy of the universe is always

(a) Increasing (b) Decreasing (c) Remains same (d) None of these
(ix)  The units of rate constant for 1* order reaction are

(a) mold m®Sec?  (b) K kg mol’? (c) K kg mol (d) Sec™!
(x) The method of kinetic study of fast reaction based on perturbation of a system
in equilibrium are called
(a) Relaxation methods (b) Phosphorescence methods

(c) Transmission methods  (d) Spectroscopic methods
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Q.2  Answers the following short questions: (2x10=20)
(a) Define the term microstate.
(b) What are effective collisions?
(¢) Give two statements of 2™ law of thermodynamics.
(d) Give a mathematical relation between Gibbs energy, entropy and enthalpy of a
process.
(e) What is the effect of temperature on vertical distribution of gas?
(f) Describe term Clausius in-equality.
(g) Write two different forms of Arrhenius equation.
(h) What is difference between Classical and Statistical thermodynamics?
(i) Give mathematical formulation of Barometric formula.

(j) What do you understand by fast reactions?

Q.3  (a) State and explain 2™ law of Thermodynamics. (5)
(b) Discuss Clausius in-equality in Thermodynamics. : &)
Q.4  (a) Give five postulates of transition state theory. 8))

(b) Derive Eyring equation on the basis of postulates of transition state theory  (5)
Q.5 (a) Whatis Sterling’s approximation? Giv: its significance. 3)
(b) Discuss effect of molar mass and altitude on vertical distribution of particles. (5)
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Q.1. Encircle the correct choice. (1x10=10)

1. The hybridization of Ni in NIi{CO)is .
a)sp’ - b)dsp

c)sp d)sp’

2.which one is a high spin or outer orbital complex? .
aMCo(H,0)}™* b) [Co(CN}e)

¢) [CoFel> d) [Co(CN)e)*'

3,Which one of the following statement is faise )
a)weak ligand like F* CI' form high spin complexes. b)strong ligand like CN" form low spin complexes.

c)[FeFs] is high spin complex. d)Ni{CO)sis high spin complex
4.0ctahedra! complex(C.N=6)show cis-trans isomerism if they are of type
a)Magb; b)Ma;b;

c)Mag d)M:sb

5.The red phosphor in colour screen is

a)Ca0 b)CuSO,

d}Eu _d)Xe

6.The most common oxidation state of actinide are

apMs b)+7

cjzero dj+3

7.All lanthanides are non-radioactive except
a)promethium bjactinium

cluranium d)thorium

P.T.O.



8.Which theory is unable to predict the shapes of molecule having extensive delocalized n-electrons system
ajCFT b)VBT

cMOT d)warner’s theory

9.Which of the following compound show intermolecular hydrogen bonding

a)p-nitrophenol. © b)m-hydroxy benzaldehyde
c)o-hydroxy benzoic acid d)none of the above.
10.YH3 is used as

ajhydrogen moderato carrier . bjdiluents.

¢)structural component. djradiation source.

d)none of the above.
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Q. 2 SHORT QUESTIONS (2x10=20 marks)
M How VSEPR theory explain the shape of SO; and SO ?
(ii)  Explain the shape of ABg molecules with examples?
(iii)  What is the shape of XeF, and XeFg molecule?
(iv)  Explain the structure of heteronuclear diatomic molecule by MOT.
(v)  Explain John-Teller distortion with example
(vi) Differentiate between Hybrid and molecular orbital?
(vii)  What are the different oxidation states of Actinides?
(viii)  Give some examples of ores of Lanthanides.
(ix) What are the applications of Uranium?
(x)  Explain preparation of metals of individual Lanthanide after separation.
Q. 3 Long Questions (19x3=30 marks)
(i) Explain the isomerism in coordination compounds with suitable examples? (10)
(ii) How Thorium can be extracted from monazite ore by acid cracking? (10)

(iif) What are the role of Lanthanides in industry and chemistry? (10)
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Q.1.

i)

vi)

vii)

viii)

Encircle the correct choice. (1x10=10)

Which version of radical halogenation of alkanes is most selective?

a) Fluorination b) Chlorination

)] Bromination c) lodination

Which one of the following statements regarding free radicals is false?

a) Free radical carry a single, unpaired electron

b) Free radicals are product as a result of hemolytic cleavage of covalent bond

c) Free radical don't occur naturally in body

d) A free radical can interact with a molecule to generate a new free radical
species

OH

CO,H

Catalytic reduction of Ph gives

CHO
Ph™ "COzH

OH
a) Ph” "CHO c)

N
by Ph” “COR d) PR "COzH
Aldehydes and ketones can be reduced to
a) Hydrocarbon b) Alcohols
C) Carboxylic acids d) All of these
Which one of the following is principle chromophore in azo-dyes?
a) C=N b) N=N
c) N=N d) C=N
Which of the following statements is wrong?
a) Infrared radiation is higher in energy than UV radiation.
b) Infrared spectra record transmission of IR radiation.
¢) Molecular vibrations are due to periodic motions in atoms i.e. stretching bending
d) IR spectra give information regarding functional groups in a molecule
Which of the following wavelength is associated with UV spectroscopy?
a) 0.8 — 500nm b) 400 — 100nm
c) 380 - 750 nm d) 0.01 —10nm
Visible absorptions are than UV.
a) Weaker b) Stronger
C) Equal d) None of above
Swern oxidation would convert primary alcohol to
a) Aldehyde b) Ketone
c) Carboxylic acids d) Alkene
Secondary alcohols on catalytic dehydrogenation by Cu-Ni couple gives
a) Ketone b) Carboxylic acid
C) Aldehyde d) Amine
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Q.2. Answer the following questions. (4x5=20)

i) Give possible electronic transitions in Ethyl benzoate and Acetaldehyde
i) Discuss Birch reduction with suitable example and mechanism.

iii) Explain why ethylene does not show C=C stretching band while propylene does.
iv) What is role of free radicals in aging?

V) Write product and mechanism of given reaction

H He H 0s0,
,C\‘ /C\ /CQ

HGC E{ 82 CH2 NalO,4
Q.3.
i) What a note on Swern oxidation of alcohols? (5)
ii) Discuss different methods for oxidative cleavage of double bond? (5)
Q.4. Describe sample handling in infrared spectroscopic technique? (10)
Q.5.
a) How would you complete these reactions with mechanism? (6)

OH
DCC
m-CPBA B — C
PR —— A Ph/l\ DMSO

EI3N
b) Describe briefly hydroboration with mechanism and regeoselectivity? 4)
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Q.1. Encircle the correct choice. (1x10=10)

(i)  Which of the following is not application of flame emission photometer?.
a) Analysis of biological fluid
b) Determination of sodium and potassium ions in soil analysis
¢) Determination of metal
d) Analysis of complex mixture

(1)  Solvent extraction is controlled by
a) Distribution law
b) Dilution law
c) Particle size
d) All

(iii)  Ether layer is used to separate
a) Fiber
b) Inorganic impurity
¢) Organic impurity
d) Gases
(iv)  Absorbed wavelength is AAS appear as
a) Dark background
b) Dark lines
¢} Light background
d) None

(v}  Inflame emission photometer, the measurement of _____is used for qualitative analysis
a) Color
b) Intensity
¢) Velocity
d) Frequency

(vi)  Laminar flow burner, used in flame photometer is known as
a) Turbulent burner
b) Premix burner
¢) Total consumption burner
d) Nozzle mix burner

P.T.O.



(vii)

(viii)

(ix)

In Gel electrophoresis, how do we make DNA migrate through the ge!
a) Gravity

b) Place a positive electrode away from wells

¢) Large fragments drift to end of the gel

d) Place a negative electrode away from wells

lon exchange resin is

a) Linear

b) Low molecule weight

c¢) Organic polymer with porous structure
d) Soluble

Which of the following is not component of emission system in flame photometer?
a) Burner

b) Atomizer

¢) Fuel gases

d) Chopper

The pH at which the net charge in the amino acid is zero

a) Isoelectric point

b) Isoelectric focusing

¢) Capillary point

d) None
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

SUBJECTIVE
Section I

Q.2- Attempt all Short questions (2x10=20)

(i) What is isoelectric point?
(ii)  Differentiate between Flame photometry and atomic absorption spectroscopy.
(iii)  Write examples of strong acid cationic resins.
(iv)  What do you mean by percent extraction?
(v)  Write principle of atomic absorption of spectroscopy.
(vi)  Describe significance of Gel chromatography.
(vil)  What do you know about electro osmotic flow?
(viii)  How does ion exchange chromatography help in softening of hard water?
(ix) What is solid phase extraction?
(x)  What is the role of complexing agents in metal extraction?

Section 11
Attempt all questions. (5x6=30)

Q3:

a) Explain all steps involved in flow injection analysis.
b) Discuss different types of resins
¢) How are metals extracted by solvent extraction? Explain.

d) Write applications of flame emission spectroscopy.
e) Describe hydride generation in flameless method in AAS.
fy Discuss factors affecting ion exchange chromatography.
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Q.1. Encircle the correct choice. (1x10=10)

1) Soaps were originally made from
a) Protein
b) Animal fat
¢} Chemicals
d) Vegetable oil and animal fat
i) Hydrogenation catalysts are
a) Metals
b) Hydroxides
¢) Organic compounds
d) None of the above
iii)  Picric acid is formed when phenol reacts with
a) Nitric acid
b) Hydrogen
¢) Sulphuric acid
d) Formaldehyde
iv) Tallow is a
a) Fatty material
b) Low melting fat
¢) Digest ot animal fat with steam
d) All above
V) Density of phenol is
a) More than water
b) Less than water
¢) Equal to water
d) None of these
Vi) In high Silica glass, percentage of Silica is
a) 96 '
b) 90
¢) 95
dy 92

P.T.O.



vii)  Which of the following is a unit operation
a) Oxidation
b) Hydration
¢) Bromination
d) Filtration
viii)  Glass is
a) Undercooled liquid
b) A union of nonvolatile inorganic oxides
¢) Amorphous solid
d) All above
1X) Which of the following can be used as fabric softeners?
a) Cationic surfactants
b) Anionic surfactants
¢) Amphoteric surfactants
d) Non-ionic surfactants
X) Which of the following substance(s) is used as filler in soap manufacturing
a) Sodium silicate
b) Sodium chloride
¢) Caustic soda
d) All can be used
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Q.2 Short Questions 2x10=20
i.  Define UNIT CHEMICAL PROCESSES with examples.
it.  Discuss oxidation of AMINES.
i, Describe the structure of CATIONIC surfactants.
iv.  Draw the flow sheet diagram of NITRATION process.
v.  Whatis the significance of ANNEALING in glass industry?
vi.  What are homogeneous CATALYSTS?
vit.  What are Metallic soaps?
viit.  Describe any two SULFONATING agents?
ix.  Why SOj is not direcily added to the water in CONTAT process?

X.  Describe the principle of multiple effect evaporator.

Q.3  Extensive Questions 6x5=30
a) Describe manufacturing of ACETIC ACID in industry?
¢) What is a TEMPERED safety glass? How is it manufactured?
d) Describe SOAP manufacturing by KETTLE process.
e) How NITRATION of benzene is carried out in industry?
f) Explain MULTIPLE EFFECT EVAPORATOR. Why is it preferred over single effect

evaporator?
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Q.1. Encircle the correct choice. (1x10=10)

i) An example of a saturated fatty acid is:
a) Palmitic acid
b) Oleic acid
¢) Linoleic acid
d) Erucic acid

ii) If the fatty acid is esterified with an alcohol of high molecular weight instead of
glycerol, the resulting compound is:
a) Wax
b) Plasmologen
¢) Cephalin
d) Lipositol

iii) ~ Which one of the following acid is a vitamin
a) Aspartic acid
b) Lactic acid
¢) Ascorbic acid
d) Adipic acid

iv)  Calcium deficiency in the body occurs in the absence of:
a) Vitamin C
b) Vitamin D
¢) Vitamin A
d) Vitamin E

V) Protein present in milk is
a) Sericin
b) Oryzenin
¢) Glutalin
d) Casein
vi)  What is the calorific value of fat/g?
a) 5Cal/g :
b) 9Calig
¢) 4Cal/g
d) 10Cal/g

P.T.O.



vii)

viii)

a)
b)
c)
d)

Cephalins consists of

a) Glycerol, fatty acids, phosphoric acid and choline

b) Glycerol, fatty acids, phosphoric acid and ethanolamine
c) Glycerol, fatty acids, phosphoric acid and inositol

d) Glycerol, fatty acids, phosphoric acid and Serine

Molecular formula of cholesterol is
a) CxHysOH
b) Ca9Hs7OH
¢) CasHsOH
d) Cy3H4yOH

Each turn of a-helix contains the amino acid residues (number):
3.6
3
4.6
4

An essential amino acid in man is
a) Aspartate

b) Tyrosine

c) Methionine

d) Serine
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q2  Short Questions | 2x10 =20
i.  How much amount of catalyst is consumed in the reaction it catalyzes?
ii. What are AROMATIC Amino Acids? Give example.
iii. What is the difference between reversible and irreversible inhibition?
iv.  'What do you mean by a PEPTIDE LINKAGE?
v.  What is the main source and form of energy?
vi.  Define MICELLES?
vii. What is RANCIDIFICATION? Give example.
viii,  Differentiate between COLLAGEN and ELASTIN?
ix.  Write two Functions of MYOGLOBIN.
x.  What do you mean by COMPETITIVE INHIBITION?

Q.3 Extensive Questions 6x5=30
a) Define PROSTAGLANDINS. Write about it in detail.

b) Write a note on FACTORS effecting ENZYME ACTIVITY.

c) Write a note on the STRUCTURE of PROTEINS.

d) Write a note on ENZYME INHIBITORS.

e) What do you understand by THERMOGENIC EFFECT of food?

f) What are PHOSPHOLIPIDS? Explain briefly.
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Q.1. Encircle the correct choice. (1x10=10)

1- The sale of new security directly to an investor or group of investor is:

a) Public offering
b) Over the counter

¢) Private placement
d) Non of these

2- recognizes revenues and expenses only with respect to actual inflows and outflows of cash

a) Accrual basis

b) Cash basis

¢) Matching principle
d) None of these

3- The likelihood that managers may place personal goals ahead of corporate goals is:

a) Financial problem
b) Market problem
¢) Operations problem
d) Agency Problem

4- Decrease in any asset in cash flow indicates of cash.

a) Inflow
b) Outflow
¢) No change
d) Depreciation

5- If total assets = 150,000 fixed assets= 50,000 current liabilities= 40,000, NWC is:

a) 60,000
b) 70,000
¢) 80,000
d) 90,000

6- The actual rate of interest charged by the supplier of funds and paid by demanders is:

a) Nominal
b) Real

c) Fake
d) Actual

P.T.O



7- Expected benefit on share is 6.5 and the current price of share is 50, k” will be:

a) 13%
b) 14%
¢} 15%
d) Non of these

8- If required return= 15%, constant zero growth dividend= 3, value of common stock is:

a) 30
b) 20
c) 40
d) Non of these

9- Beta usually measures risk.

a) Diversifiable
b) Non diversifiable
¢) Convertible
d) None of these

10- A current ratio indicates a great degree of liquidity.

Low

High
Medium
None of these

g0 op



8

Paper: Financial Management (Commerce)

UNIVERSITY OF THE PUNJAB

B.S. 4 Years Program / Sixth Semester - 2019 .

9000000080000 00080000

Course Code: COMM-306 Part-1Il

Time: 2 Hrs. 45 Min. Marks: 50

[ EXEEENEER NS NENE S NEN]

: Roll No. ....

ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q. 2 Give Short answers of the following questions:

1.
. What is the difference between real interest rate and nominal interest rate?
Compute the net working capital if Total assets = 150,000

e

0N

What do you mean by agency cost?
liabilities = 40,000

Define investing cash flow.

goods sold = 80,000

Define annuity.

10. What is time series analysis?

What do you mean by financial services?
How would you explain corporate governance?

(10%2=20)

fixed assets = 50,000 Current

What would be the gross profit margin if Cash Sales = 100,000 Credit sales =200,000 Costof

If risk free rate= 8%, market return=13%, beta=0.90. Compute CAPM.

Q.3 Newman Manufacturing is considering a cash purchase of the stock of Grips Tool. During the year just

completed, Grips earned $4.00 per share and paid cash dividends of $2.50 per share (D0$2.50). Grips' earnings

and dividends are expected to grow at 25% per year for the next 4 years, after which they are expected to grow

at 10% per year to infinity. What is the maximum price per share that Newman should pay for Grips if it has a

required return of 15% on investments with risk characteristics similar 10 those of Grips?

Q.4 Compute liquidity ratios and activity ratios.

Fox Manufacturing Company

Income Statement

For the Year Ended December 31, 2018

Sales revenue

Less: Cost of goods sold

Gross profits

Less: Operating expenses

General and administrative expenses

Depreciation expense

Total operating expense

Operating profits

Less: Interest expense

Net profits before taxes

Less: Taxes

Net profits after taxes {earnings
available for common stockholders)

_Earnings per share (EPS)

$600,000
460,000
$ 140.000

$30,000
30,000
60,000
$ 80,000
10,000
$70,000
27,100

$42,900

215

(10)

P.T.O



Fox Manufacturing Company .

Balance Sheet
December 31, 2003
Assets
Cash $ 15,000
Marketable securities 7,200
Accounts receivable 34,100
inventories 82,000
Total current assets $138,300
Net fixed assets 270
Total assets $408,300

Liabilities and Stockholders’ Equity

Accounts payable $ 57,000
Notes payable 13,000
Accruals 2.000
Total current liabilities $ 75,000
Long-term debt $150,000

Stockholders’ equity
Common stock equity {20,000 shares outstanding)  $110,200

Retained earnings 73,100
Total stockholders’ equity $183,300
Total liabilities and stockholders’ equity 5408300
Company made purchases of $600,000 during the year. (10)

Q.5 An investment offers $2,250 per year for 15 years, with the first payment occurring one year from now. If

the required return is 10 percent, what is the value of the investment? (10)
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Q.1. Encircle the correct choice. (1x10=10)
1) Traveller cheques can be encashed by:
a) any person b) third party
¢) the purchaser d) the creditor
2) Functions of the bank include:
a) borrowing and lending money b) act as Modarba company
¢) granting letters of credit d) all of these
3) In PLS account, profit or loss is determined & distributed after:
a) 3 months b) 6 months
¢) 9 months d) | vear
4) State bank of India was allowed to function in Pakistan until:
a) 30 September 1947 b) 30 September 1948
c) 30 September 1949 d) 30 September 1950
3) Minimum paid up capital for a bank can be determined by State Bank:
a) Only Once b) Annually
¢) From time to time d) Every 5 years
6) Any banking-company can appeal against the orders of State Bank to:
a) banking court b) central board of directors of SBP
¢) banking council d) none of these
7) State bank of Pakistan was established on:
a) 1™ July 1948 b)15 August 1948
c) |1 September 1948 "~ d) S December 1948
8) License to bank is issued by:
a) Federal Gowr. b) Provincial Govt.
¢) Banking Council d) State bank of Pakistan
9) Banker’s Book Evidence Act was passed in:
a) 1890 b) 1891
c) 1892 d) 1893
10} In 1947, which bank was functioning in Pakistan:
a) Habib Bank b) Australasia Bank

¢) Muslim Commercial Bank d) Both A&B
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Q.2Short Questions (2x10=20)

1. What are the benefits of negotiable instruments?
ii.  For what purpose the banks maintain the reserve fund?
iii. Explain the term tangible securities?
iv.  Briefly explain the duties of the borrowers?
v.  What are different kinds of deposit?
vi.  What do you understand by profit and loss sharing?
vil.  Describe the scheduled banks?
viii.  Define collateral securities?
iX.  What are the advantages of letter of credit?
X.  What is meant by the term “liquidity”?

Q.3Long Questions (3x10=30)

i.  Briefly explain the powers of the State Bank of Pakistan?
ii. Explain Foreign exchange regulation Act 19472
iii.  What are the classification of securities?
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Q.1. Encircle the correct choice. (1x10=10)

1. A contract of forward sale in which payment is in advance
whereas the delivery of goods in future

A . Bai Salam B. Bai Mudarba

C. Bai Murabaha D. Bai Musawamah
2. The Primary Source of Islamic Law

A. Holy Quran B. Ijma

C. Qiyas D.  Sharia Supervisory Board

3. Saving and term deposits in Islamic banking in Pakistan are
offered under the contract

A. ljara : B. Salam
C. Mudaraba D.  Musharka
4. Supply contract is termed as
A. Bai Salam B.  Bai Al Istijrar
C. Bailstisna D. None of these
5. means hazard, chance, stake or risk.
A. Gharar B. Khatar
C. Maiser D. none of them
6. takes place when two parties undertake obligations in
respect of any matter-
A. Aqd B. Contract
C. wadah D. Methaq

P.T.O.



7. ljarah Muntahia Bi Tamleek is an alternate of.....

A. Hire purchase lease B. installment
C. Modern I jarrah D.  shirkah

8. A contract involving “Principal & Agent”
A. ljara B. Wakala
C. Kafalah D. Rahn

9. Islamic mode of financing based on periodic rentals (contract
allowing the transfer of Usufract)
A. Bai Salam B. ljara
C. Bai Musharka D. none of these

10. Islamic mode of financing known as Cost plus system
A. Bai Salam B. Bailstisna
C. Bai Murabaha D. Bai Mudarba



8

UNIVERSITY OF THE PUNJAB ..................... .
B.S. 4 Years Program / Sixth Semester — 2019 : .

Paper: islamic Principles of Business & Finance
Course Code: COMM-308 Part-1Hl Time: 2 Hrs. 45 Min. Marks: 50
e

NN

ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Short Questions: Marks 20

Briefly explain the structure of Murabaha

Explain the need for Islamic Banks and NBFls

Discuss Diminishing Musharka as an Islamic Mode of Finance
Write down any four Business Ethics and Norms.

Explain modern use of [jara

Detailed Questions: Marks 30

. Explain the features with examples of Bai Salam and Bai Istisna’a

(Forward Sale)
Discuss in detail with daily life examples the prohibition of Riba,
Gharar and Maiser in Islamic Economic System
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Q.1. Encircle the correct choice. (1x10=10)

A) An argument consists of one or more premises and conclusion.
I. One
2. Two
3. Three
4. Four
B) Which one of the following word is a conclusion indicator?
1. But
2. Because
3. Since
4. Hence
C) Which one of the following is always a false proposition?
1. Tautology
2. Contingent
3. Contradictory
4. None of the above
D) An inductive argument is intended to provide:
1. Valid support for its conclusion
2. Probable support for its conelusion
3. Truth preserving support for its conclusion
4. Conclusive support for its conclusion
E) When two statements arc combined with the word “UNLESS” the resultant proposition is known as
1. Disjunction
2. Conjunction
3. Aantecedent
4. Consequent
F) An argument with true premises and true conclusion is known as
I. Strong Argument
2. Sound Argument
3. Weak Argument
4. Competing argument
G) Each Categorical proposition has a
1. Subject term and a predicate term
2. Subject and the middie term
3. Predicate term and middle term
4. None of the above
H) In a proposition of the form “IF P Then Q”, P is known as
1. Antecedent
2. Consequent
3. Cause
4. Effect
1) A fallacy committed when a syllogism contains all negative premises
1. Exclusive Fallacy
2. Existential Fallacy
3. Inclusive Fallacy
4. Negative Fallacy
J) Converse of “NO S are P is
1. ALLPare$
2, NOPare$
3. SomeParc$
4. Some P arcnot S
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Q2 Questions with Short Answers
Differentiate between the following terms. (2.5x8=20)

a) Tautology and contradictory

b) Proposition and statement

¢) Inference and argument

d) Subject term and predicate term

€) Major and minor premise

f) Conclusion and premise indicators
g) Universal and existential quantifier
h) Inductive and deductive reasoning
i) Hasty and Sweeping Generalization

Q3.  Use truth table to prove the validity of the following arguments. Justify your answer (10)
PagQ,

~Q

/¢~ P

P2Q,
15P o (PoQ)

Q4. Discuss various uses of language. Provide examples (10

Q5) What is a fallacy of ambiguity? Discuss at least Three Fallacies of Ambiguity. (10)
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Q.1. Encircle the correct choice. (1x10=10)

I is the sum total of ways in which an individual reacts to and interacts

with others.
a) Moods b) Values
c) Personality d) Attitudes
2. Through the function, managers monitor the performance of the organization
and significant deviations.
a) Organizing b) Planning
C) Leading d) Controlling
3. Perception is the process by which people information.
©a) Generate b) Retrieve
c) Transmit d) Verify
4, is the degree to which a person psychologically identifies with his or her job.
a) Job commitment b) Job overload
C) Organizational citizenship d) Job involvement
5. An individual who is able to adjust his/her behavior to external factors is a high
a) Machiavellianism b) Emotional Maturity
c) Type A d) Self-monitor
6. theory argues that behavior is a function of its consequences.
a) Equity b) Reinforcement
c) Goal-setting d) Expectancy
7. Which is considered the most important trait of effective leaders?
a) Agreeableness b) Extraversion
C) Emotional Stability d) Openness to experience
8. A has developed the capacity to adapt and change.
a) Learning organization b) Virtual organization
C) Matrix structure d) Simple structure
9. Which of the following is an individual level strategy for dealing with stress?-
a) Improving time management skills b) Engaging in physical exercise
C) Learning relaxation techniques d) All of the above
10.  When employees are dissatisfied, they may respond with , actively
and constructively attempting to improve conditions.
a) Exit b) Voice

C) Loyalty d) Neglect
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(3

-2 Answer the following short questions: (10x2=20)

What are three management skills?

Define general mental ability.

Differentiate between terminal values and instrumental vaiues.
Define self-efficacy

What is meant by heredity?

Define work force diversity.

What are key characteristics of OB as a scientific discipline?
What is meant by hygiene factor in two factor theory?

Name early theories of motivation.

o0 © O N O o bk w N2

0. Explain how does 360 evaluation work as a performance appraisal approach?

Long Questions: (3x10=30)

Q-3 What is meant by attitude? Give names of major job attitudes and explain job
satisfaction as an attitude at workplace.

Q-4 Briefly explain Big Five personality traits.

Q-5 Define stress. Give detail of individual and organizational strategies of managing

stress.
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Q.1. Encircle the correct choice. (1x10=10)

1. Real GDP is nominal GDP adjusted for:
a) Double counting
b) Changes in prices
¢) Population
d) Imports
. [f government increases taxes private savings will
a) Increases
b) Will become zero
¢) Decreascs
d) Not change

™o

3. Which of the following has largest figure?
i) NNP
ii) GNP
iii) PI
iv) DP1
4. When economy’s overall production grows faster than its population, it is referred o as :
a) Long-run growth per capita
b) An increasc in nominal GDP
¢} Deflation
d) The paradox of thrift
If MPC = 0.75 and the national income is Rs. 400 billion. National consumption will be
equal to
a) 400%0.75
b) 400+ 0.75
c) 400/0.75
d) 400-0.75

S

P.T.O.



pop

The govt. can control inflation by
a) Increasing government expenditures
b} Increasing money supply
¢) Decreasing money supply
d) Decreasing interest rate
. The most important feature of money is:
a) General capability
b) Convertibility into gold
¢} Store of value
d) Medium of change
During inflation
a) Lenders lose, borrowers gain
b) Borrowers lose, lenders gain
¢) Borrowers and lenders both lose
d) All sections of the society gain
9. Which is the most widely used tool of monetary policy
a) Clearing house
b) Open market operations
¢) Discount rate
d) Issuing of notes
10. Planned investment spending is:
a) Actual investment in a period
b) Investment spending minus depreciation in a period
¢} Investment spending that business plan to undertake during a period
d) Always equal to saving,

~

o
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Q# 2:
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Q#d:

= 0%~ v

Briefly explain the following: (20)

Define Inflation and Inflation rate.

Enlist the components of Aggregate Demand (AD).
Detine the dichotomy in the economy.

Explain perfect capital mobility.

Ilustrate the concept of transaction demand for money.
What are the various measures of GNP.

Define L-M curve.

Explain the concept of Business cyele.

Explain balance of pavments

. Explain the short run produciion function.
Derive the aggregate supply curve under classical assumptions, (10)
-u,/j;wt’m‘j,fu:&/gfau}‘&z{
Derive and explain the I-S Curve graphically. (10)
-/ /. \:)UJJ v mu/ Blesa d/ rl)? lﬂiu’il_éf
Drive and explain the short run Philips curve with diagram. (10)

-QI&Q)JJUJ'Q/JHBU':G((ﬁFJf

Time: 2 Hrs. 45 Min. Marks: 50
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Q.1. Encircle the correct choice. (1x10=10)
1. Even though the disturbance term in the CLRM is not normally distributed, the OLS
estimators are
a) Still unbiased
b) Biased but inefficient
c) Both unbiased and efficient
d) Both biased and efficient
2. In a regression model that contains the intercept, the sum of the residuals is always
a) Zero
b) One
c) Infinity
d) Can't be estimated
3. The conditional and unconditional means of a random variable are the same things.
a) Same thing
b) Different thing
¢) Not comparable
d) Comparable
4, Dummy variable trap is associated by
a) Multicollinearity
b) Heteroscedasticity
¢) Autocorrelation
d) None of the above
5. In the regression of ¥ on Xz and X3, suppose there is little variability in the values of 5. This
would increase
a) var ( /3’3 )
b)  var(f)
c) var ( ,& )
d) None of the above
6. If heteroscedasticity is present, the conventional ¢ and F tests are

a) Valid

b) Invalid

€) Not possible to estimate
d) All of the above

P.T.O.



10.

The R? values of two models. one involving regression in the first difference form and
another in the level form, are

a) Not directly comparable
b) Directly comparable
c) Not measurable

d) Measurable and directly comparable

When autocorrelation is present, OLS estimators are
a) Unbiased

b) Efficient

c) Consistent

d) None of the above

Autocorrelation is a problem associated with

a) Time series data only
b) Cross section data only
c) Panel data only

d) Both time series and panel data
WHITE test is used to detect

a) Multicollinearity
b) Heteroscedasticity
¢) Autocorrelation

d) Misspecification
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Subjective Part
Q2. Explain the following terms. 4x5 =20
i) Multiple regression K-variable model
it) Consequences of Autocorrelation
iii) ARDL Model
iv) Moving Average (2) process
v) Unit Root Problem

Q3. Write in detail about ARCH models. Also discuss ARCH (1) and ARCH (2)
processes. 10

Q4. On the basis on following data. a researcher estimated the regression line as:

Y =-25.08-0.66X2+621X:

Y 11 16 11 i4 13 17 14 15 12 18
Xz | 20 18 | 22 | 21 27 126 25 | 27 | 30 | 28
X; | 81 [ 84 | 85 |85 |88 |90 |89 |94 951895

Find the Durbin Watson ~d" Statistics ard confirm either there is
autocorrelation in the model or not. 10
Note: The critical values of Durbin Watson statistics at 5% level of significance
are dL=0.697 dU=1641

Qs Differentiate between short run and long run model for integration. 10
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Q.1. Encircle the correct choice. (1x10=10)

(i)  The reverse process of derivative is called:

(a) Definite integral (b) improper integral
(c) indefinite integral (d) None of these
(i) When two limits of integration are identical the value of the definite integral is:
(a) one (b) zero
(c) infinite ' (d) all of these
(ili) If the equation is % = 2 then particular integral is:
(a) 2 (b) 2t
(¢) Zero (d) 2t
(iv) The differential equation of the from: % + ty+ = 3ty? is called:
(a) First order difference equation (b) Second order difference equation
(¢) Simultanes differential equation (d) Bernoulli equation
(v) The value of Cos(%n) is: }
1 1
(@) &% ) Ry
73
(©) % Gk~
(vi) The integration of one (1) with respect to X is:
(a) x (b)y
(c) zero (d) constant
(vii) If the solpe of supply and demand curve are same then the time path will be:
(a) Explosive (b) Damed
(¢) uniform (d) all of these
(viii) In Solow Growth model output is function of:
(a) Capital (b) Labor
(c) Land (d) Capital and Labor

(ix) The relationship between the rate of growth of money wage and the rate of
unemployment is:

(a) Positive (b) Negative

(c) Positive & Negative (d) None of these
(x) Particular integral (3,) of the equation y"(t) = —10 is

(a) —10t2 (b) =10t

(c) =5t (d) —5t2
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Q.2 Write short answers. (5x4=20)
(i) Solve: [ Inx dx
(i) Given the demand function P; = 25 — Q2 and supply function
F; = 2Q + 1. Assuming pure competition find the consumer’s surplus.
(iii) Define integrating factor.
(iv) For second order differential equation y"(t) + +a,y'(t) + a,y = 0.
Show that sum of roots is —a, and product of roots is a;.
(v) Deftine Convergence and the Roth theorem.
Q.3 For a general exact differential equation M dy + Ndt = 0, derive the
formula for the general solution of an exact differential equation:

[ Mdy + [ Ndt ~ [ (5[ Mdy)dt = 0 10
Q.4 Find the polar and exponential forms of the following complex numbers:

@3 +23; (i) 4(v3 + i) 5+5=10
Q.5 Find the general solution of: 10

1
Yevz F 7Y =5
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Q.1. Encircle the correct choice. (1x10=10)

-ufﬂa/'b:fﬁ..,lié‘ll/:}g)lf
i.  According to Demographic Transition theory population growth rate is minimal in.
(@) 1tStage (b) 29 Stage (c) 3™ Stage (d) a & c both
e B PO O Lo 512 81 3
uim_/.’m#g(;) u’:Jifé._ﬁ.:(@) Sdo pe () u:,b/%’é(..ajl)
ii. Ina Developing couﬁtry, generally:

(a) Birth rate is high (b) Death rate is high (c) Infant, mortality rate is high
(d) Alla,b,c

:("J Lui'J/.Jg@/'w?’

‘LénuLJc«lrlZ/ /‘(g) ganuij 420 ;‘(J‘)

Lo UZ () e Bnmliciril R #UIQ)

iii.  The theory that says that level of population at which per capita income is Maximum:

(a) Theory of population by Malthus (b) Theory of demographic transition
(c) Theory of optimum population (d) None

:ﬁDJ.L.J'LM&J&ATU'I/ dut‘?f; ub/d)lﬂ)/ 4"_l'/]"/ i }’ 23
S ES e po) TG F @) SBRIIES NS AT S U

iv.  Last census carried out in Pakistan in the year:
(a) 2017 (b) 1998 (c) 1981 (d) 1961

-er, /d/’f’u:ul"/g
1961(,) 1981(%) 1998(-)  2017(#)
v.  Which is not social factor of High birth rate?

(a) Early marriage (b) Ignorance (c) Social Urge (d) More earning hands
:UZ;J;&L’KJ)!&C;‘MLJQK
)l/'bb(u.l;]()) < 25 () Az () d:l?‘fd/:’(_ﬂl)

vi. According to economic survey 2018-19 is our population growth rate is:
(a) 1.4% (b) 2.4% (c) 3.4% (d) 4.4%

e S22 AT P £2018-201907 6 bt

4+44.405) 43.4(%) £432.4(2) 451.4(4))
vii. Country with the smallest population of the world.
(a) Sri Lanka (b) Dubai (c) Kuwait  (d) Vatican City
s s L ST
&G0 () Goe) S

P.T.O.



viii. Pakistan's ranking in most populated countries of the world:

(a) 3I‘d (b) 4th (C) Gth (d) 8th
_é.ut.ﬁt/ Ll}d}ﬂuyﬁgﬁ/:’/(u%
JFT0) L2 (%) Bg(e) LA
ix. Unchecked high population growth rate is not responsible for:
(a) Poverty (b) Increasing crime (c) Low per capita income

(d) Tax evasion
U s 3N P 2ESAT A
IO ARLIO) flzmnl) e

X. Pakistan’s population is equivalent to world population.
(a) 1.6% (b)2.6% (c) 3.6% (d)4.6 %

< KTl
424.6() +433.6(%) #432.6()  421.6(H)
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Q # 2: Write Short Answers of the followings questions.

(4x5=20)
i.  Discuss labour as a factor of production.

-u:,ﬂéai/,,)fl&g)ligaf:‘.zﬂuf .
ii. Merits of population increase

S L endent i

ii. Life expectancy & its determinant.

et L i s
iv. Main features of Pak Demography.

Ledoswu LTt V-

Q # 3: Give Answer with long questions of the followings questions. (10x3=30)
i.  Explain classical theory of population.

-Q/o?LE)Jd)LT:,)’ f:’lb/ .

Impact of population growth on economic development.

_dua.i/“/'u}uj}&b»zii,wg:u’,g';’ i.
iii. What are the sources of demographic data?

Les L i A S i
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Partl’

Elaborate the following shortly: 20 (4*5)
i) Twin Deficit

i) Sources of Inflation

iif) Green Revolution

iv) Debt Management in Pakistan

Partll

Answer the following Questions in detail: 30 3*10)
i) Discuss WTO and examine the impact on the economy of Pakistan,
ii) Discuss any three measures of unemployment in context of Pakistan.

jif) How far foreign aid has been helpful in economic development of Pakistan?
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A

Q.1. Encircle the correct choice. (1x10=10)

i. What is the aim of educational research?
(a) Identifying major problems that need to be solved
(b) Searching for new facts and principles underlying the process of education
(c) Identifying the aims of education
(d) Identifying the values that need to be inculcated in the pupils.
2. Why is research in education important for teachers?
(a) It adds to their academic qualifications.
(b) It makes them wiser
(c) It makes them better teachers
(d) It enables them to judgments about what should be taught and how.
3. Which of the following is undesirable in a questionnaire?
(a) Asking for unnecessary information that lengthéns the questionnaire
(b) Avoiding ambiguity in questions
(c) Simplest possible wording and suitable vocabulary
(d) Avoiding questions which the subjects will not answer or will not answer truthfutly.
4. What i the meaning of Data?

(a) Facts (¢) Observation

(b) Truths (d) Marks obtained
5. What are the kinds of variables?

(a) Continuous (¢) Both

(b) Discrete (d) None of these.
6. What is the meaning of population in Educational Research?

. (a) Male, Female, Children (¢) Elites
(b) Observation of all the units (d) All of these.

7. Which is the most important characteristics of the survey method of research?
(a) Itrelies on a small sample-
(b) It studies characteristics of a group instead of an individual
. (¢) Itaims at developing some theory or the scientific laws
(d) It focuses on studying the cause effect relationship between variables.
8. What type of statistical data is used-in educational research?

(a) Descriptive statistical analysis (c) Both of them

(b) Inferential statistical analysis (d) None of these,
9. What are the functions of statistical analysis?

(a) Exptanation of results (c) Both of them

(b) Presentation of data (d) None of these'

10. What is the meaning of Null Hypothesis?
(a) Difference between two parametric mean is zero
(b) The difference is due to error in sampling
(c) Both of them
(d) None of these
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Q.2. Write short answer of following. (5x4=20)

 What is the definition of Educational Research?
. Define Hypothesis ‘

1

2

3. What are the characteristics of good researcher?.
4. What is Experimental Research? Give an example.
5

. What are the basic differences between Basic research and applied research?

Q.3. Write brief answer of following. (10x3=30)

1. Define sample. What are different Sampling techniques?
2. What is Survey Research method? Give details
3. Define variable. What are the types of Variables?
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Q.1. Encircle the correct choice.

i. The goal of teaching is
(a) To give information
(b) To involve pupils in activities

ii. The nature of mathematics is
(a) Ornamental
(b) Difficult
iii. Mathematics is the science of

(a) Intellectual
(b) Calculations

iv. Students are passive in
(a) Project method
(b) Discovery method
V. We move from specific to general in
(a) Inductive method
(b) Deductive method
vi. Practice is made in
(a) Inductive method
(b) Deductive method
vil. The Socratic method is known as
(a) Lecture demonstration method
(b) Discussion method
viii. Which is not true about projects
(a) It is a purposeful activity
()1t is accomplished in real life
iXx. Which is not true about lesson plan
(a) It develops confidence
(¢)It is developed by students

N
Ay
A

(1x10=10)
(c) To impart knowledge
(d) Desirable change in behavior

(c)logical
(d)Not for common

{¢) Numbers
(d) All the above

(c) Lecture method
(d) Inquiry method

(¢) Drill method
(d) Discussion method

(c) Drill method
(d) Discussion method

(c) Inquiry method
(d) Question- Answer method

(b) It is proceeded in social environment
(d) It is teacher centered activity

(b) It helps in orderly delivery of contents
(d) It saves from haphazard teaching

X. Which is not the advantage of tcam teaching better

(a) utilization of resources
(¢) use ol teaching techniques

(b) planning
(d) financial benefits of teachers
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Q.2. Write short answer of following. (5x4=20)

Give good points in teaching of mathematics.

What are the objectives of teaching Mathematics at elementary level

1.

2

3. Describe Heuristic method of teaching.

4. What is the criteria for the selection of method/strategy
5

Enlist four Principles of using Audio Visual aids

Q.3. Write brief answer of following. (10x3=30)

1. Preparc a Lesson Plan for 5" class in the subject of mathematics

2. Differentiate between Analytical and Synthetic Methods of teaching.

3. What are the merits and demerits of subjective and objective items used in mathematics?
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Q.1. Encircle the correct choice. (1x10=10)

1. Which is not the advantage of team teaching

(a) Better utilization of resources (b) Better planning

(c) Better usc of teaching technigues (d) Better financial benefits of teachers
2. Example of psychomotor domain is that student

(a) Demonstrates awareness to environmental pollution (b) Performs an experiment

(¢) Can compute results of two experiments (d) Can narrate a story
3. Example of cognitive domain is
(a) Describe a topic (c) Type a letter
(b) Develop an X-ray film (d) Take responsibility for tools

4. The right sequence of subgroups cognitive domain is
(a) Knowledge. Comprehension, Application, Synthesis, Analysis, Evaluation
(b) Knowledge, Comprehension, Apptication, Evaluation, Analysis, Synthesis
(¢) Knowledge, Comprehension, Evaluation, Application, Analysis, Synthesis
(d) Knowledge, Comprehension, Application, Analysis, Synthesis Evaluation

5. Which is not true about projects

(a) It is a purposeful activity (b) 1t is proceeded in social environment
(c)It is accomplished in real life (d) It is teacher centered activity

6. Which is not true about lesson plan
(a) It develops confidence (b) It helps in orderly delivery of contents
(c)lt is developed by students (d) 1t saves from haphazard teaching

7. Which is not the objective of Drama/ role play
(a) Recreation and enjoyment (b) Development of social skills
(c)Development of skills of conversation (d) Do make rehearsals

8. A field trip is arranged for
(a) Making an excursion (c) Note the meanings of action
(b) See other people doing things (d) all of the above

9. Which one is a standard for demonstration method?
(a) Student should observe the demonstration and teacher should not tell important finding
(b) To keep accuracy of results the teacher shouid dictate the result
(c) Demonstration should be pre- tested to remove the weakness in demonstration
(d) all of the above
10. Which one is NOT the Psychological principle of teaching?
(a) Proceed from concrete 10 abstract
(b) Proceed from complex to simple
(¢) Proceed from known to unknown
(d) Proceed from simple to difficult
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Q.2. Write short answer of following. (5x4=20)

1. What is the criteria for the selection of method/strategy

Differentiate between inductive and deductive methods of teaching

2
3. Give demerits of discussion method of teaching
4. Give merits of drill method

S

. Describe merits of problem solving method

Q.3. Write brief answer of following. (10x3=30)

1. Prepare a lesson plan for junior class on the topic of” Punjab Province”.

2. What is the importance of AV aids in Teaching Social Studies? Give the principles of

using AV aids for teachers.

3. What is the importance of teaching of Social Studies at Elementary level?
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Q.1. Encircle the correct choice. (1x10=10)

}. Which one of the following would be most appropriate synonym for the dependent variable?
A Outcome variable
B. Response variable
C. Effected variable
D. Experimental variable

L. Survey research is of a value because it provides:
A.  Educators with practical and useful information about the forthcoming
phenomenon.
For up-to-date detail of what is taking place
Details of what had taking place
Details of cultural realities

Cow

3. The study conducted to collect data on a group by asking each member to select person in the
group most preferred by him/her on the basis of specific criterion is called study:
A, Sociometric
B. Follow up
C. Case
D Survey

Y., Chi- Square is suitable for:

A, Ratio data

B. Nominal data
C. Interval data
D. BothA&c

5. If, when reading information about a class, we assign 1 to girls and 2 to boys, the level of
measurement is:
A. Interval
B. Nominal
C. Otdinal
D Ratio

b. 000X, 000 describe the:
000X, 000
A. Two group pretest-posttest design
B One group pretest-posttest design
C. Time series design with variation
D Counter balance design

P.T.O.



7. Study conducted to determine the status of a group of interest after some period of time is referred

as:
A. Developmental
B. Follow up
C. Sociometric
D. Survey

B. When subjects in a study are selected on the basis of their extreme scores, and after receiving
treatment, their scores reversed, it is referred to as:
A. Maturation
B. Statistical regression
C. Testing
D. Mortality
9. Anexperimental study in which extraneous variables are controlled is said to be:
A, Internally valid
B. Externally valid
C. Internally reliable
D. Externally reliable

} 6, Experimental research is the one type of research that enables researchers to make conclusions
about:
A. Group differences
B The change of variables over time
C. Relationship among variables
D Cause and effect
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Q.2. Short Questions. (5x4=20)
1. Discuss the advantages of doing literature review.

Describe the differences between independent, dependent, and intervening variables.

3. What is action research? Enlist its steps in sequential order.

‘Observational studies give us a true picture of reality, while survey research only give us

pe‘rceptions.' Do you agree or disagree with this statement? Why? Support your answer
with arguments and examples.

How qualitative research is different from quantitative research? Explain with examples.

Q.3. Essay type Questions. (3x10=30)

1. What are the basic differences between true experimental and Quasi-experimental

studies? Describe different types of design for conducting experimental and Quasi-
experimental studies . (2+4+4)

2. What is Mix-method research? Explain its different types by giving examples.
(143+343)

3. Descr'ibe situations in which you would like to use each of the following sampling
techm.ques:.(i) stratified random sampling, (ii) cluster sampling, (iii) multi-stage
sampling, (iv) purposive sampling, and (v) snowball sampling. (2+2+2+2+2)
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Q.1. Encircle the correct choice. (1x10=10)

e

In general, group administered tests
a. should be used for program placement
b. are usually used for diagnostic purposes
c. permit observation of the students’ approach to a task
d. are usually used for screening purposes
ii.  Which of the following does not need to be considered in order 1o establish content
validity?
a. Appropriateness of the content
b. How content is measured
c. Completeness of the content
d. Gender of the student
ili.  Which statement is NOT true about observation in which the observer is present in the
setting?
a. [t usually involves artificial apparatus (e.g.. video-recorder)
b. Reactivity usually is an issue
c. Reactivity is usually not an issue
d. It can be restrictive
iv.  Developing criterion-referenced curriculum-based assessment instruments involves
a. completing a psychological evaluation of the student
b. identifying skills to be measured. objectives, and standards of performance
c. prioritizing objectives
d. .identifying objectives for a single student
v.  The Think Aloud procedure is ofien used with which assessment technique?
a. Authentic assessment
b. Portfolio assessment
¢. Diagnostic interview
d. Criterion-referenced testing
vi.  The degree of reliability needed is dependent on the type of
a) Test
b) Subject
¢) Decision
d) Al of the above
vii.  The extent to which an assessment instrument measures what is supposed to measure is
called
a) Reliability
b) Standardization
¢) Validity
d) Practicality

viii.  To test student's mastery of classroom objectives. indicate which type of test would be
used.
a) Achievement Test Battery
b) Separate Test of Content
¢) Customized Achievement Test
d) Individual Achievement Test
ix. Most standardized tests of aptitude and achievement are high in
a) Reliability
b) Usability
¢) Objectivity
d) Validity
x.  The Design of an adapiive test usually start with the administration of an item that is
expected to be
a)  Very low difficulty
b) High difficulty
c) Average difficulty
d) Low difficulty
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Q. I1. Short Answer Questions (Attempt All Questions) (5x4=20)
1. Differentiate between Diagnostic and Formative Assessment
2. Marking a false statement false does not guarantee that the student knows what is true.

How should a teacher handle this problem?

3 Define Adequacy and how it is determined while developing a test?
4, Define Criterion Reference Tests and what are its different uses?
5 What is Inter-rater Consistency? How it can be improved?

Subjective Part 111
Q. IIL. Attempt All Questions 3x10=30)

1. Describe the relative merits of using correct-answer and best-answer multiple-choice

items. What types of learning outcomes are best measured by each type of multiple-
choice item?

2, What are the ethical issues related to assessment? Describe.

3. What are some of the perceived advantages and disadvantages of fixed-choice tests
relative to complex-performance assessments?






AN

%ﬁj UNIVERSITY OF THE PUNJAB *\ RON NO. in Fig. covreessessessssseses

B.S. 4 Years Program / Sixth Semester — 2019 ' Roll No. in Words. ............
Paper: Pedagogy-Ill (Methods of Teachings Related to Islamic Studies) \
Course Code: EDU-308 Part - | (Compulsory) Time: 15 Min. Marks: 10 Ty rrromrrmmemsssssssmmmmeesses
__—.—__._—-—-—'————— \
ATTEMPT THIS PAPER ON THIS QUESTION SHEET ONLY. \ Signature of Supdt.:
Division of marks is given in front of each guestion. \\
This Paper will be collected back after expiry of time limit mentioned above. AR
@ PR Sy
Ny, >- SN ffEstatd” -l
« s /o"fjd‘ic,_/ 2
< (L‘i/»(ﬁg)dlﬁﬁ -3
-&JJ.?}:«A/J a.(_;yL’?c.«’bai/,d:f?lJ" -4
(6) GBS ez () Ay
NTVETESIY I |
£1(0) FAaSR)  Gpok(s) el

Sl Al G 22

S ONENCTT (SN {7 O B J{(S-)
S bl eIl S S 3

1O NNY 11( B (- BT V(@)
sl fgnlesr A

19800,) 1990(¢) 1975(=)  1985(N
et St s

T L oot i R i (L) A ()
:_u:«lx,,wau?r(}) el )

&L SIBIFEn N 6
ORI Nl (O NP1 ] 2 O R VA€ )






7 UNIVERSIT\(OF THE_PUNJAB E.coc-o.ooooooooo-ooo:
B.S. 4 Years Program / Sixth Semester — 2019 + Roll No. ......... s

Paper: Pedagogy-lll (Methods of Teachings Related to isilamic Studies) |
Course Code: EDU-308 Part-1I Time: 2 Hrs. 45 Min. Marks: 50

ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

(10x2=20) Dbz Lyt Ay
S st Ll fai L

| SIS

Ut Rh e g A

S 5 36T U B\ WL

I LR i S

I et St

S e By e

G et Sl R LY,

el L

VAL Ny

Y N R W

p—

0.

(10x3=30) L1 Mzl Lty L3 o003 7 iy
e A
-q/uy.‘j'jn)zimuﬁdﬁud/&,uf} 2.
_u:‘.’g Yy’ 2F 3






% UNIVERSITY OF THE PUNJAB RO No. i Fig. e

B.S. 4 Years Program / Sixth Semester — 2019 *s Roll No. in Words. ............
Paper: Pedagogy-IV (Methods of Teachings Related to Pak Studies) \\
Course Code: EDU-309 Part — | (Compuisory) Time: 15 Min. Marks: 40 "xroeoemermrossem
__—__——_______________—___———-——_——"'——_———— N\
ATTEMPT THIS PAPER ON THIS QUESTION SHEET ONLY. RS Signature of Supdt.:
Division of marks is given in front of each question. N
This Paper will be collected back after expiry of time limit mentioned above. S
\\\
Q.1. Encircle the correct choice. (1x10=10)

I) What is the other name of lecture method of teaching?
~ a. Speech b. discussion ¢. Presentation d. Question and answer

1) Which of the following technique is suitable to teach Pakistan Studies to larger classes?
a. Group work b. Discovery ¢. Supervised study d. Written work

I11) Which of the following technique may be used to supplement self-study in a Pakistan Studies classroom?
a. Lecture b. Question and answer ¢. Group discussion d. Assignment

IV) A test commonly uses to measure students achievement in Pakistan Studies is , .
a. Behavioral test b. General Aptitude test ¢. Standardized test d. Attitude test

V) A teacher may enhance the effectiveness of whiteboard by

a. Using colored markers b. Drawing rough diagrams
¢. Using each portion of the whiteboard d. Keep silent while writing on whiteboard
VI) Which of the following is the major strength of objective type questions?
a. Lack validity and reliability b. 100% reliable
¢. Easy to score d. Easy to prepare
VII) A text book of Pakistan Studies is used to in the classroom.
a. Increase teacher’s efficiency b. Explain ideas and concepts
¢. Achieve learning objectives d. Memorize answers of the questions
VIII) The purpose of the lesson planning in the subject of Pakistan Studies is to the activities.
a. Organize b. Analyze - ¢. Evaluate d. Synthesize

IX) What is the very first step of a lesson plan?

a. Setting objectives b. Devising the required apparatus
¢. Assessing previous knowledge d. Assessment

X) Which of the following teaching method is generally considered as teacher centered?
a. Inquiry method b. Lecture method ¢. project method d. Activity method
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Part-11

Q.2. Write Short Answers to the following questions. (4x5 =20)
Lz Lo Lipie

i. Write any four merits of lecture method of teaching.
LS F At s SIS i wF 6

ii. Write any four activities which can make the teaching of Pakistan Studies interesting and
effective?

?w{;‘t{}rm.‘_,{;f el b A 2Ll F el s A

iii. What are the general characteristics of a good project in the subject of Pakistan Studies?
gdnyeter? $A L i fifior” Loe b

iv. Enlist the Audio-Visual aids a teacher may use in teaching the subject of Pakistan Studies.
S Ip ey Sl Lgeh e i Lty S e St § A 870

v. Briefly describe the demerits of objective type of test in the subject of Pakistan Studies.
LT P IS A L) Lr” Lo
Part-I11

Write answers of any THREE of the following questions. (10x3 =30)
..;,[f {/’ ayzﬁai#rgf e‘jf LS ips

Q.3. If you are a teacher of Pakistan Studies then which kind of Audio ~Visual Aids you will prefer to teach the
topic of “Two Nation Theory”? Give relevant arguments and examples to support your answer.

WP J 05360 F Lt LL G5 bl A3 SPOS L Ly U £t S0 Tt LA i/

Q.4. How a teacher can use “Teacher's Manual” in teaching the subject of Pakistan Studies? Explain in detail
-qf:-#t‘ac.d.j ‘.'(;..C;f WS L Ly fur® ﬁM.‘ﬂvf teacher’s manual st/ 1

Q.5. Select a topic of your choice from the subject of Pakistan Studies and write a “Lesson Plan” on this topic.
LS S F Ll Sing S F P r LSS P Lo

Q.6. What is Project Method of teaching? How it can be used in teaching the subject of Pakistan Studies? Explain
in detail,

S a St Bl W Ly for® Leh b S bR P
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Section A

Q.1.Can a critic be also a creative artist? Discuss with reference to Oscar Wilde. (5)

Q.2. Write a note on the primary and secondary qualities in Hume. (5)

Q.3. What does Plotinus mean by the phrase “Intellectual Beauty”. (5)

Section B

Q-4. How does Terry Eagleton theorize literature in the essay in your syllabus? (15)
Q.5. Write a detailed note on the work of condensation as theorized by Freud. (15)

Q.6. Write a detailed note on the relationship between Idea and Sublime in Hegel. (15)
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Q.1
Q.2

Q3

Q4

Q.5

Q.6

Note: All questions are Compulsory.

SECTION A
What is the significance of the Oracles in Oedipus Rex? 05

What is the significance of the duel scene in Shakespeare’s Twelfth

Night? | 05

What does Torvald’s fascination with beauty and appearances imply

about his personality? ' 05
SECTION B

' Bring out some of the tragic defects of Oedipus’ character. To what

extent are these responsible for his tragic suffering? 15

The tragedy in Marlow’s plays is always the tragedy of individual. How
far is it applicable to Doctor Faustus? 15

Describe the stages by which Macbeth degenerates from a hero into
villain. 15
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SECTION A

Q1: The poem “ Old Cumberland Beggar” by Willlam Wordsworth can be linked
with the French Revolution’s Leitmotif, “ Liberty, Equality, Fraternity.” Discuss. (5)

Q2: Shelley’s revolutionary urge is seen through symbolism employed in “ Ode to

the West Wind.” Comment. (5)

Q3: Blake’s mysticism is a distinct feature of his poetry. Discuss in reference to the

poems you have read. ()
SECTION B

Q4: According to Middleton Murray, “ Ode to Nightingale” is a poem of midnight

sorrow and beauty. Elaborate. (15)

Q5: Discuss Coleridge as a supernatural poet. (15)

Q6: Lucy Grey by William Wordsworth is a meditation on death. Discuss in
detail.(15)
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Note: Attempt all questions from both sections.

Section I

Q.1 How will you differentiate between fantasy and science fiction?

Q.2 Robbie is a robot without human feelings but he proves to be a great caretaker of
Gloria. How is their relationship unique?

Q.3 Richard Hagstrom is husband to an indifferent wife, and a disgruntled, ungrateful
teenage boy. How does the word processor change his life for good?

5+5+8
Section 2
Q.4 Hermione is an annoying perfectionist and is eager to impress others all the
time.Does your assessment of her character match this observation or not?

Q..'§* the vanity of human wishes!” , Cornelius Agrippa sighs in a broken and inward
voice.All the characters in ‘The Mortal Immortal’ embody this statement.Discuss

Q.6 The door is more than a mere portal to imagination in short story ‘The Door in the
Wall’. Do you agree?Was it a real door or Wallace’s hallucination?
15+15+15
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PART-1

(Short Questions) 3x5=15

Q:-1 What is the symbolic significance of the title” The Metamorphosis™?
Q:-2 Critically evaluate Faiz’s poem , “Speak”.

Q:-3 Discuss Rumi as a mystic poet.

PART-II

(Long Questions) 3x15=45

Q:-4 How does the novel “The Outsider "'by Albert Camus is an absurdist novel?

Q:-5 How can Self be strengthened? Briefly describe with reference to the elements

described in Igbal’s “*The Secrets Of the Self”.

Q:-6 Discuss Don Quixote as a chivalric romance.
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Q.1. Encircle the correct choice. (1x10=10)

1. Which of the following is not a qualitative research design?
a. Ethnography

b. Phenomenology
c. Grounded theory
d. Experimental
2. The primary goal in qualitative research is:
a. explanation
b. description
c. exploration
d. doing cross-sectional studies

3.” Which one of the following techniques of data collection can be used for conscious

raising:
a. unstructured interview
b. group interview
¢ survey
d. focus interview

4. Ina‘good’ focus group, the discussion is:

a. directed towards moderater
b. among the participants

c. focused at key persons

d. focused at recorder

5. Playing the complete participant role in field research has the advantage that you will not
affect what you are studying:
a True
b. False

6. Which one of the following sampling technique will be more appropriate if you intend to
make accurate conclusions about each group of the population?

a. quota

b. probability
c. accidental
d. stratified

P.T.O.



10,

I selected a sample of schools where my class-fellows were working as head teachers.
This type of sample is known as:

a. probability sample

b. convenient sample

c. snow-ball sample

d. stratified sample

The common feature of archival and historical research is that both:
a. deal with history
b. use documentary sources
c. use remains as sources
d. conduct quantitative analysis

Case study is conducted of individuals who are:

a. below average
b. above average
c. normal
d. aandb

The type of qualitative research that describes the culture of a group of people is called:
a.  Phenomenology
b.  Grounded theory
¢.  Ethnography
d.  Case study
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Q.2. Write the short answers to FIVE of the following questions. (5x4=20)

1. The non-participant observation may change the behavior of people. What will you do to
reduce this effect?

2. Suggest two topics which should be researched using Phenomenology as a research design.
* 3, Differentiate between structured and unstructured interview schedules.
4. Write names of any two Gender Studies Journals.
- 5. Discuss the role of researcher in Focus Group Discussions (FGDs).
‘-6, Write short note on any TWO of the following:
i) Triangulation
ii) Action Research
iii)  Idea Saturation

Q.3. Write the brief answers to THREE of the following questions. (3x10=30)
“+ 1. Explain the difference between Content Analysis and Historical Research.
. 2. Discuss Feminist Post-Modemnism Research.

¢ 3. Differentiate between probability and non-probability sampling. Explain various types of
non-probability sampling.

4, Discuss various stages in conducting a qualitative research.

- §. Discuss how data is analyzed in Qualitative Research.
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Q.1. Encircle the correct choice. (1x10=10)

1. A friend nods in agreement at something you've said. This is an example of
. a) Feedback in interpersonal communication
b) Feedback in Mass communication
¢) Noise in interpersonal communication
d) Encoding in interpersonal communication
2. Media sends important messages about
a) Women’s place
b) Women’s roles
~¢) Women’s lives
d) All of the above
3. Which of the following is not attributed to men?
a) Aggressive
b) Dominant
¢) Compassionate
d) Independent
4. The perception of being a male ora female refers to which of the followings?
a) Masculinity
" b) Sex
¢) Gender
d) Femininity
5. To understand news, it is necessary to understand the in which news are
contextualized.
a) Mainstreaming
b) Frame
¢) Concept
d) Aspect
6. Being unable to concentrate on what your mother is saying because you are upset about
something that happened with a friend is an example of
a) Transmission noise
b) Psychological noise
¢) Physical noise
_d) Geographical noise
7" The word sex refers to the biological differences between men and women, whereas
“gender” refers to the:
a) Intellectual aspect
b) Physical aspect
¢) Socio-psychological aspect
d) Economic aspect
P.T.O.



8. Media is more relentless with
a) Men
b} Women
¢) All of the above
d) None of the above
9. Women experience effect very often in media organizations,
a) Glassceiling
b) Glass walls
¢) Glass cliff
d) Glassbars
10. Women’s involvement in news industry can improve the of women in
media.
a) Status
b) Representation
- ¢) Presentation
d) Portrayal
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Wirite the short note on the following. (5x4=20)

Rapport Talk Vs. Report Talk

Men as the gate keeper of communication
Women as marginalized Group
Speech Codes

Gender portrayal in print media

AW

Q.3. AQuestions with brief answers. (3x10=30)

.1: Mass media have the ability to transfer the salience of items on their news agendas to
the public agenda, Discuss.

2: TV is a social agent and there is a need to study the effects of TV exposure. Explain

3: What is communication process? Describe the types and existence of “Noise” in the
communication process.






% UNIVERSITY OF THE PUNJAB

B.S. 4 Years Program | Sixth Semester — 2019 : RollNO. ..coomrenmniens

'......O...'.Q....O...

cese
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NOTE: Attempt any THREE questions in all, while Question No. 4 is compulsory.

Q1 What is development and how it effects mainstream development and peace process? 20
marks

Q2 What is Peace and their basic principle of fundamental rights on Gender perspective? 20
marks

Q3 What are the global issues of peace and security on gender perspective? 20 marks

Q 4: write a note on any one topic. 20 marks

(i) How violence effects on women perspective for peace
(ii)  Role of media for Peace Building
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Q.1. Encircle the correct choice. (1x10=10)

1

---— are the codes of behavior that the society expects for one gender or another.

¢ Human characteristics
¢ Gender roles
¢ Peoples activities

2- Stage performances and puppetry are the types of -

¢ Literature
Art
o - Calligraphy

3- Male and women when publish some work with assumed names ,it is called-—-

. Biography
* nick name
e Pseudonym

4 -Poetry and prose are called----—--

o Ant
o Criticism
e Literature

5 -In --—-- 3 group of women artists in New York city formed a collective organization called the
Guerrilla Girls to protest at the unequal treatment of women professional artists in arts.

e . 1985
1988
e 1995

P.T.O.
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. Culture refers to the ~--—-------- beliefs, values, traditions, and behavior patterns of a particular

group.

individual

shared

odd

————————- endorse man as breadwinner, woman as housewife.

Marxist ideology

Traditional gender ideology

Contemporary gender ideology

Gender is @ -~~~---—-- cOncept.

social

biological

psychological .
The expression of human creative skill and imagination in a visual form such as painting or
sculpture is called —-emememmm,

Art

Religion

Culture

---------i§ the organization of words to give pleasure is called

Art

- Literature

Language
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Q.2. Write the short note on the following. (5x4=20)

1.Write down the names of some contemporary male and female poets.

2.Art of calligraphy is always dominated by males. Comment on this statement with some examples.

- 3.How literature is a predominant media to reflect cuitural process and gender roles?

4.Define Literature and Art.

Q.3. Questions with brief answers. (3x10=30)

11.What is the contribution of Feminist debate in Literature, Art and Gender?

. :2.While there is a feminization of the artistic practices, one cannot yet talk about a reversal of the
dominant gendered order. Comment on this statement.

3.How do you evaluate and critically analyze the Gender and development of handicrafts in Pakistan
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Q.1. Encircle the correct choice. (1x10=10)

1, “ammmmcnacues are social inventions for accomplishing goals through group efforts”

a. Mﬁnagement b. Organization ¢. Leadership d. Behavior

2. Which of the following is/are the key features of organization

a_ Social invention b. Accomplishing goals ¢. Group efforts d. All of these
3. A study of human behavior in organizational settings is

a. Individual behavior b. Group behavior ¢. Organizational behavior d. None of these

4. Scientific Management approach is developed by a, Elton Mayo b, Henry Fayol c. F.W.
Taylor d. A. Maslow

5. Who proposed * bureaucratic structure” is suitable for all organization a. Elton Mayo b.
Henry Fayol ¢. F.W. Taylor d. Max Weber .

6. “Hawthrone experiment” which was a real beginning of applied research in OB was conducted
by a. Elton Mayo b. Henry Fayol ¢. F.W. Taylor d. Max Weber

7. Process or administrative theory of organization is being given by a. Elton Mayo b, Henry
Fayol c. F.W. Taylor d. Max Weber

8. Whose concept states that interpersonal and human relations may lead to productivity a. Elton
Mayo b. Henry Fayol c. F.W. Taylor d. Max Weber

9, Today’s organization are

a. Open system b. Closed system c. Open as well as closed d. None of these
10.Organization Behavior is

a. An interdisciplinary approach b. A humanistic approach ¢. Total system approach d. All of 10
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2 .Compare and contrast Maslow’s Hierarchy of needs theory with Herzbergs two factor
theory.10 '

3. Write short note on:
a) Theories of Motivation b) Importance of Motivation. 10

4. “A good leader is not necessarily a good manager” Discuss this statement and compare
- leadership with management. 10

5. Discuss conflict resolution techniques? What are the strengths and weaknesses of each? 10
6.Define following terms |

a). social organizations

b). Performance appraisal

¢).informal organization

d).motivation. 10
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Q.1. Encircle the correct choice. (1x10=10)
L1/ L.,mé‘ 14
i.  Nuclear family can be defined as a family with members. .
?ﬁ'.dn)lﬁd/)l/'hﬂ‘ﬁct,rww(}fgf
(@)  Two adults with children (b)  Two adults with children and siblings
(¢)  Single adults (d) aandb both

ii.  Monogamy is a marriage in which number of spouse is

-c‘-aﬂﬂﬁd/.:?ug;gﬂu)':f_dﬂﬁﬁlﬂr

(@) 4 by 1 () 2 ~ (d)  None of them
iii.  Polygyny is a type of marriage in which has more than one spouse.
-:‘_L‘:fwg».,f)uy;u{t ........ ufgfq_d:b'i(ﬂ&fd;j
(@) Men (b) Women (c) Both (d) None of them

iv.  Primary Socialization occurs at
et bl 1 ”»
-----..---q_,t‘ﬂjb TKewrs (“I; 1l

(a) School (b) Home (¢) Media (d)  Work place
v. Bythe age of , children have a partial understanding of what gender is.
_gt'nd/b:lbf»u’( u.fé_JLL/:vfg.lf S A d/ )
(@) Two (b) Five (c) One (d) Three
vi. The most influential and controversial theory of the emergence of gender identity is
that of
-g_d/ ........... Theory.+ 6+l by sl
(@) Sigmund Freud (b)  Nancy Chodorow

(¢) Carol Gilligan (d)  None of them
vii. Divorce refers to :

&l /:_JUJ’
(a) lllegal marriage (b)  Child marriage
(c) Breaking the ties with spouse (d)  Union of spouses

viii. Endogamy is a marriage is a marriage in which spouse is selected.

.......... g.btgy@,l?'th?u{/‘utu?“;.dﬁum‘fja

(@)  Within some specified group (b)  Outside the specified group
(¢}  Within close relatives (d) None of them
ix. The functions of the family includes

Y005 S S S i L
(a) Affection (b)  Economic provision
(c) Protective (d)  Allof them
x. Nancy Chodorow argues that gender learning derives from the infant's attachment
to parents at age.
WP SPS VvV S JUIP R Py S It u,{-,)‘ Ve AL i S e JKisas™

(a) Early (b)  Middle (c) Teen-ageing (d) a & B both
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SVt 4‘}(‘}!36? Serfm g

Q # 2: Questions with Short Answers. (4x5=20)
_d_)cpgl?./‘? L&UVJ,JGA :2/.-‘? dfr‘

i. Define marriage and name its types.

Lot fGse b
i. Define Changing Gender Roles.

SN Dy W
ii. What is socialization? Draw difference between primary and secondary
socialization.

‘q/(i”u./.d%}ﬁrydj(f'/ﬂélﬁlo%)l/g‘_%;,r:g.(.fué iii.
iv. Write down any three of the family’s functions.

S Enef I e St i o v,

Q # 3: Questions with brief answers. (3x10=30)
-q,;vlﬁéaﬂifdlbj):B A Jlr'
i.  Write a detailed note on Gender Socialization process and factors responsible

for Gender role socialization.
_uflﬁﬁfauég}.‘.‘y/,g)'lfgﬂﬁdu’wlfLé/l'-g £
i. How women’s working status is affecting family dynamics? )
Sl beii sl el S S SILE s

iii. Write a note on the following.

a) Economic changes affecting the families
b) Single parent families

-gﬁ.”a &f/,c«tli’ St i
gt}t4u)rx(&(d?/ﬂd;be’5!&’4 (]

zl'f; u‘f'/ﬁ&.)ﬁ" -
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Q.1. Encircle the correct choice. (1x10=10)
1. Threads share the execution time of their process.

a. Yes
b. No

2. InCSS, we can apply different styles to a class.
a. True
b. False

3. ISP stands for
a. JavaSuper Pages
b.  Java Super Program
¢. JavaServer Pages
d. JavaServer Program

4. Static member functions and data members can be accessed in non-static member functions of
the same class.
a. Yes
b. No

5. Response of a request in web-architecture contains
a. Response Text
b. Status Code
¢. botha&hb
d. none of these

6. Byte code can be executed on different OS without compiling the code.
a. True
b. False

7. Super keyword can be used for calling .

a. muitiple constructors

b. constructor of parent class
¢. function of child classes

d. All of above

P.T.O.



8. For-each loop can in forward direction.
a. move
b. not move

9. Injava, instanceofis a/an _____operator.
a. binary
b. unary
¢. botha&hb
d. none of these

10. What will be the output of the program?

try{
int x = 0/5;
}
catch (Exception e){
System.out.printin{“Exception”);
}

catch (ArithmeticException ae){
System.out.printin(“Arithmetic Exception”);
}
Finished
Exception
Compilation fails
Arithmetic Exception

a0 ow



% UN!VERS!TY OF THE PUNJAB esssscesensrnssessIIY

B.S. 4 Years Program | Sixth Semester—-2019 . : RoliNo.....c.covwrnnc. .
Paper: internet Programming (IT) ' I
Course Code: IT-308 Part-1i Time: 2 Hrs. 45 Min. Marks: 50 -
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Question # 2. [2 x 10 = 20 Marks]
Precisely write down the answers of the following questions.

1. What is difference between static and constant variable in java?
2. In event handling, what is the purpose of ActionListener interface?
3. Write down a life cycle of java serviets.

4, Write down the benefits of threading.

5. What is the purpose of PreparedStatement object in JDBC?

6. In CSS, how can we apply style to the components?

7. What does JDBC and HTML stands for?

8. How packages give benefits to the developer?

9, Inwhich cases, multiple inheritance is allowed in java? |

10. How can we achieve polymorphism in java?

Question # 3. (3 x 10 =30 Marks]
Briefly write down the answers of the following questions.

1. Write a program in which a thread will be created. This thread will take a positive number as input
from main thread and display all odd numbers from 0 to that number.

2. A client wants to send a request to server for counting the maximum character used in a string.
So, you have to make a server-client application, in which client sends a string to the server and
server resends the maximum count of the character used. {Do your task with serialization method
in which either you can use built-in class String or make your own string class).

For example:
¢ Client; “Hello, Ali! How are you?”
Server: “1:3, 0:3”
¢ (lient: "l love Pakistan”
Server: “a:2"

3, Write a JSP page, which will dynamically create a drop down list with all drinks along with their
rates saved in data base.

D8 Name: Dotabase
Table name: Beverages {drink_name (varChar(15)), rate{int}})
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5,

A Y
N
N

Encircle the correct choice. (1x10=10)

In the OSI model, what is the main function of the data link layer?

a) node-to-node delivery b) process-to-process message delivery
¢) synchronization d) hop to hop delivery
which Topology require most extensive cabling

a) Star b) Bus

¢) Mesh d) none

What is the size of Port address

a) 16 bits b) 32 bits

¢) 48 bits d) 64 bits

Which multiplexing technique transmit Digital signal.
a)FDM b)TDM

c)WDM d)None of above

A Go-back-N ARQ uses a window of size 15, how many bits are needed to define the sequence
number

a) 16 b)5

c)4 d) none

A stream of packets from a source to a destination is called data
a) congestion b) flow

¢) process d) none

When data and acknowledgement are sent on the same frame ,this is called
a)Back packing b) Piggybacking
c)Piggypacking d) A good idea

In an optical fiber, the inner core is ---=---- than cladding

a)More dense b)Less dense

c)Equally dense d)None of above

What is the data rate of Fast Ethernet?

a)100Mbps b)10Mbps

¢)1000Mbps d)None of above

10. A periodic signal has a frequency of 10 MHz , what is the time period?

a)0.01micro sec b) 0.1micro sec
¢) 0.10milli sec d) none
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Question No 2: Give the short answers of the following Questions? [2x10=20]

1. What will be the phase shift in degrees corresponding to % cycle delays?

2. Calculate the bit rate for the baud rate of 1000 baud under 8-PSK modulation?

3. How many Bytes will be In the Pad field of an ethernet frame if Data Is of 20 bytes?

4. Determine the level of sensitivity ("High' or *Low’) of each application in the following table for
given parameters,

Application Reliability | Delay Jitter Bandwidth
Text Chat
Online Gaming

S. Using a 5 bit sequence number, what is the maximum size of the send and receive windows for
each of the following protocol:
i, Go-Back-N ARQ
il. Selective Repeat ARQ

6. Which of the medium access protocol has vulnerable time equal to the frame propagation time?
7. Differentiate between inter domain and intra domain routing protocol?

8. Which metrics (at least two) can be observed In order to monitor the congestion in the network?

9. What is a socket address?

10. Where ICMP protocol is used?

Question No 3: Give the answers of the following Questions? {6x5=30]

(1) Write a note on the wireless medium used in communication?

(2) Consider a muitiplexer having three Input lines where each line has a data rate of 300kbps. If
frame size is 9 bits. (3 bits taken from each input) then

i. How many frames are sent per second?
fi. What is the output bit rate?
iil. What is the duration of each bit in the output line

{3) Given a remainder of 111, a data unit of 10110011, and a divisor of 1001, is there any
Error in data unit?

P.T.O



{4) Draw only the sender and receiver windows for a system using selective repeat ARQ, given the
following?

a. Frame 0 is sent; frame 0 Is acknowledged.
b. Frame 1 and 2 are sent; frame 1 and 2 are acknowledged.
¢. Frame 3, 4 and 5 are sent; frame 4 is acknowledged; timer for frame 5 expires.

(5) Which of the following are easy/difficult to handle in Virtual-Circuit and Datagram subnets,
and why? (Answer just in one line for each case)
i.  Address parsing time '
li.  Congestion control
iti.  Router fatlure
iv.  Quality-of-service

(6) Find the Initial addresses, Final addresses and also the Number of addresses in the biock If one of
the addresses Is 140.120.84.24/20 ?
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Q.1. Encircle the correct choice. (1x10=10)

1. Term software refers to )
a. computer manuals

b. computer programs
¢. machinery

d. both computer programs and manuais
2. In order to produce a computer-based information system, we must together .
a. Sparts
b. 3 parts
c. 2parts
"d. 4parts
3. Term hardware refers to
a. computer manuals
b. computer programs
¢. machinery
d. both computer programs and manuals
4. Factsand figures that are used by programs to produce useful information are called

a. Software
b. Data
¢. Hardware
d. Procedures
5. Set of instructions and rules to design and use information system are called .
a. Software
b. Data
c. Hardware
d. Procedures
6. An is a set of processes and procedures that transform data into information
and knowledge.
a. information system
b. Knowledge system
¢. Database system
d. Computer system

P.T.O.



7. Asystem is called
certainty.
a. Probabilistics
b. Deterministic
¢. Open
d. Close
8. Which of the following is included in the Office automation systems?
i). Word processing
ii}. Electronic mail
iit). Voice mail
iv). Electronic calendaring
v}). Audio conferencing

when the inputs, process and the outputs are known with

a ijdijfliand vonly
b. i, 1ii, iii and ivonly
¢ i, i, ivand vonly
d. Alli, i i, ivandv
9. Inatypical network, application processing is shared between clients and one
more servers.
a. client server computing
b. cloud computing
¢. mobile computing
d. data computing
10. The is defined as a set of activities performed across the organization creating
as output of value to the customer.
a. development process
b. business process
c. quality process
d. customer focus
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Question #2. [2 x 10 = 20 Marks}
Precisely write down the answers of the following questions.

1.
2.
3
4.
3.
6.

7'
8.
9.

What are the five components that make up an information system?

What are three examples of information system hardware?

Microsoft Windows is an example of which component of information systems?
What is application software?

What roles do people play in information systems?

List the following in increasing order (slowest to fastest): megahertz, kilohertz,
gigahertz,

What is the bus of a computer?

Name two differences between RAM and a hard disk.

What are the advantages of solid-state drives over hard disks?

10. How heavy was the first commercially successful portable computer?

Question # 3. {3 x 10 = 30 Marks]
Briefly write down the answers of the following questions.

1

With reference to the type of decisions made, define the followings.

a) Operational Management b) Strategic Management c) Tactical Management
Briefly discuss the advantages and disadvantages of choosing packaged software
rather than developing customized software,

What are the main functions of a modern database management system?
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Q.1. Encircle the correct choice. (1x10=10)

(ii)

(i)

(iv)
(v)

(vi)

(vii)

(viii}

If Aand B are two square matrices of the same size then

(a) tr(A4B) = tr(A)tr(B) (b) tr(AB) # tr(A)tr(B)

(c) r(AB) =tr(A)+tr(B) (d) None of these

A system of m homogeneous linear equations Ax = 0 in » variables has a non-trivial solution if and
only if the rank of A4 is -=------— |

(a) equal to n (b) less than n (c) greaterto n (d) None of these
If Ais a matrix of order 3x 3 and det(A4) = 2, then the value of det(34) is --------

(a) -24 (b) -6 (c)-27 (d) None of these
A group has exactly ---------- identity element. _

(a) One (b) Two (c) Three {(d) Four

The subspace of R’ spanned by the vector (a, b, c) i§ mmmmmeemes

(@) x=ty=bt,z=ct (b) x =—at,y=-bt,z=—ct

(c) x=at,y=0t,z=ct (d) None of these

The property Va, b, c €R then a+(b+c)=(a+b)+c iscalled

{a) Associative property (b) Transitive property

(c) Closure property (d} None of these

Alinear transformation T :U — V' is one-to-one if and only if —---------

(a) N(T) ={0} (b) N(T)={0} (c) N(T)={1} (d) N(T)={-1}

Let R’ be the vector space of ail ordered triples of real numbers. Then the transformation 7 : R > R’
defined by T(x, y,2) = (x, y,O) is

a) Linear b} Not Linear ¢) Rational d) None of these
The dimension of KerT is called ... '

(a) Rank - (b)Nullity

(c) basis (d)} none of these

4 0
The characteristic polynomial of the matrix {O } [T

fa) p(1) = (2 - A)? (b) p(A) = (4=~ ANT - A)
(€) p(A)=(4+ )7+ A1) _ {d) None of these
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Q.2 : SHORT QUESTIONS (4x5 = 20 Marks)
(i) Find the reduced echelon form of the matrix
1 =2 3 -1
2 -1 2 2
31 2 3
(i) Prove that
1 1 1
a B y|=(a-p)(B-7)(r-a)a+B+y)
aB ﬁ3 }/3

(iii) Show that the vectors (1 - i,i), and (2,-1+1i) C?are linearly independent over C but linearly
. independent over R.

(iv) Define 7: R °— R*byT(x,,x,,%;) = (—x;,X,, %, +x;). Find N(T).ls T one-to-one?

(v)

2 21
Find the Eigen Values and eigenvectorsof |1 3 1
1 2 2
LONG QUESTIONS | (6x5 = 30 Marks)
Q.3 Solve the system of linear equations
Ix+2y+4z=7
2x+y+z=4 3x+2y+4z=7
x+3y+5z=73
Q.4 I+x 1 1 1
Show that bodex be x*y’
1 I 1+y 1
1 1 1 1-y
Q.5 1 2 1
if A=12 1 2| determine the value of 4> —44—5]
2 2 1 |
Q.6

‘Determine whether or not the set of vectors {(1,2,—1),(0,3, 1),(],—5’3)} i< a basis for R°?.
Q.7

1 2
Find the real orthogonal matrix P for which P™' 4P is orthogonal where A :{ J
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Q.1. Encircle the correct choice. (1x10=10)

1. Who focused on Psychology as the science of Consciousness

(a) William Wundt (b) Sigmund Freud
(¢) J.B.Watson (d) Carl Rogers
2.A tube like structure that carries the neural message to other cells:
(a) Neuron (b) Soma
() Glial (d) Axon
3. Who was the established of the first psychology laboratory?
(a) 1879 (b) 1869
(c) 1859 (d) 1889
4. Variables that are result of introduced stimuli in the experimental method are:
(a) The Independent Variable (b) The Dependent Variables
(¢) Both(a) & (b) (d) None of these
5. Two Factor theory of intelligence presented by:
(a) Spearman (b) Termann
(¢) Wechsler (d) Binet
6. psychoanalysis is a meathod of searching a person’s:
(@) Conscious Memories (b) Unconscious Memories
(c) Latent Memories (d) None of them
7. whole is the greater than the sum of parts is the key point of
(a) Cognitive School of thought (b) Functionalism
(e) Behaviorism (d) Getalt School of thought
8. What is the duration of short term memory?
(2)0.2 Second (b)10.05 Second
(¢)0.5 Second (d)20.00 Second
9. Which disease is occurred due to malfunctioning of Rods:
(a) Nearsightedness (b)  Color blindness
(c)  Farsightedness (d)  Night blindness
10. Who opened the first psychology lab at the university of Leipzig?
(a) Wilhelm Wundt (b) B.F. Sinner

(© Ivan Pavlov (d) E.B. Titchener
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Question — 2:
Short Questions (4 Marks X 5 Question = 20 Marks)

. Define various processes in Learning?
iI. Differentiate between mind and brain?
. What is the subject matter of Developmental Psychology?
IV.  What is Analytical thinking?

V. Explain the Internal Determinants of Attention?

Question - 3:
Long Questions (15 Marks X 2 Question = 30 Marks)

I Write a detailed note on Psychoanalytic theory of personality.

Il.  Briefly explain the following School of Thoughts in Psychology:
e Functionalism
e Structuralism

e Humanistic Psychology






UNIVERSITY OF THE PUNJAB *\Roll No.in 3 "I ——

B.S. 4 Years Program / Sixth Semester — 2019 *s Roll No. in Words. .......o...
Paper: Introduction to Sociology (SS) \\
Course Code: IT-314 Part — | (Compuisory) Time: 15 Min. Marks: 40 ' ooeooosermmmsesnemmesmsees
ATTEMPT THIS PAPER ON THIS QUESTION SHEET ONLY. " 'signature of Supdt.:
Division of marks is given in front of each question. \\
This Paper will be collected back after expiry of time limit mentioned above. “
\\\
Q.1. Encircle the correct choice. (1x10=10)

1. Survey means:
(a) Overlooking (b) Observation
(¢) Organizing social data (d) None of these

9- *Man is a social animal” are the famous word of:

(a) Aristotle (b) Cristo

(c) Spencer (d) Plato

3. When two or more persons interact with each other they form™

(a) Community {b) Group

(¢) Society (d) None of these
4.The Greek thinkers Plato and Aristotle gave primacy to.....

a) The individual - b) Religion

¢) society d) The state

5: The term "Sociology” was first coined by.. |
(a) charls Darwin (b) Max weber
(¢) Emile (d) Auguste Compte
6. The word "Sociology” is derived from.. _
(a) Latin Word (b) Greek word
(c) A. Latin & Greek word (d) None of these

7. Who has defined sociology as a branch of study attempting

the interpretative understanding of social action?

(a) Kimball (b) Raymond Aron
(c) L.F. Ward _ (d) Max weber

P.T.O.



8. Max Weber focused on the idea of:
(a) Communism
(¢) Functionalism

(b) Symbolic interactionism
(d) None of these

9.Sociology originated as a separate discipline in:
(a) 1836 (b) 1837
(c) 1838 (d) None of these

10.who used the analogy of living organism for society”

(a)Max weber (b) C.W.Mill
(c)Auguste Comete (d) Herbert spencer



8 UNIVERSITY OF THE PUNJAB ~ roeeseereeeee

B.S. 4 Years Program / Sixth Semester — 2019 : RoliNo. .ocovcuennnnene :

Paper: Introduction to Sociology (SS)

Course Code: IT-314 Part-1l Time: 2 Hrs. 45 Min. Marks: 50

ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Question — 2:
Short Questions (S Marks X 4 Question = 20 Marks)
[.  Define Ibn-e-Khuldun Laws of Sociology.
II.  Differentiate between Society and Community .
[II.  Define the various Types of Authority and Status.

IV.  What is social interaction? Discuss the any three types of social interaction.

Question - 3:
Long Questions (10 Marks X 3 Question = 30 Marks)

I.  Define the term sociology? Discuss the major perspective of Sociology in detail.
II.  Define the term “Feudalism”. Discuss the Disadvantages of “Feudalism” in Pakistan.
HI

Terrorism has become a real and potential threat to global peace and stability. What
role social scientist can play to combat their problem?
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Q.1. Encircle the correct option. (10x1=10)

1. ¥ f € R{a) on [e,b] and f > 0 on [a, b}, then (1 mark)

(a f2 }da <0.
(b) f; fda > 0.
(© f? fda=0.
(d) Al of the above

2. Which one of the following is a correct statement. A (1 mark)

(a) A constant function f(z) = 6z is not integrable on [0, 2].
(b) A constant function f(2) = 6z is integrable on {0, 2].
(¢) A function f(z) := 122 is not integrable on [0, 2).

- (d) None of these.

3. A function f is said to be Riemann-Stieltjes integrable with respect to a on [a, b}, if f is bounded on [a, b],
and (1 mark)

@) f? fda=[° fdo.
®) f2 fda # [P fdo.

© f tda> J° fda.

(d) None of these

4. The upper and lower Riemann-Stieltjes sums are ——— (1 mark)

(a) unbounded,
(b) bounded.

{c) both (a) & (b)
(d) None of these

5. If P* is the refinement of the partition P, then ——-— (1 mark)

(2) L(P*, f,0) S L(P, f, ).
(b) L(P, f,@) < L(P*, f, ).
(c) L(P*, f,a) = L(P, f,a).
(d) Both (b} & (c)

P.T.O.



6. Let a < ¢ < band f is of bounded variations on [a,b], then J is of bounded variations on

(a) [a,q).

(b) [e.b].

(c) Both (a) & (b).
(d) None of these.

7. Let f and g are of bounded variations on [a, b}, then

(8) fg is not of bounded variations on {a,d].
(b) Ag; X € R is not of bounded variations on [a, 4]
(¢) fg is of bounded variations on [a, B}.

(d) Af;X € R is not of bounded variations on [a, b}

8. Let h is of bounded variations on [a, b}, then

(a) h is not of bounded variations on [a,b].
(b) h is of bounded variations on {a, b].
(c) Both (a) & (b).
(d) None of these.
9. A sequence of function fu(z) := ZineN,z€Ris e,
(a) not pointwise convergent on [0, 1]
(b) not pointwise convergent on [0,1]
(¢) More information is required
(d) None of the above.

10. Which one of the following is not a true statement about the function f defined by

f@) = 0 if x is irrational,
~1 1 ifx is rational,

(a) f is not Riemann integrable on any interval.
(b) f is not continuous on any point of R,
(c) is not a measureable function.

(d) Al of the above.

(1 mark)

(1 mark)

(1 mark)

{1 mark)

(1 mark)
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Q #2 SECTION I1I-Questions with Short Answers

1. Let f € R(a) on I :=[a, b}, then prove that |f| € R{a) on I. (4 marks)
2. Test the uniform convergence of f:° exp(~zy) sinzdz. (4 marks)
3. Let f be a real valued bounded function on I := [a,b]. Show that the upper and lower Riemann integrals

are bounded on [. (4 marks)
4. Let f be a real valued bounded function on I := [a,}]. Let a be a monotonically increasing function and P*

be the refinement of a partition P of I, then prove that L(P*, f,a) > L(P, f,a). (4 marks)
5. Check whether or not the following integral converges or diverges (4 marks)

o z
,/o 1+ z2sin? mdx'
SECTION III-Questions with Brief Answers

@\3 Let £ : [a,b] ~ R be a continuous function. Show that there exists ¢ € (g, b) such that

1
Ty ff(z)d” = f(c).
Is this still true for Riemann integrable functions. (6 marks)
&4 * Show that the following integral is conditionally convergent. ' (6 marks)
OO
f cosz
2 logz

& { Test for uniform convergence of the sequence {f,(z)}. where (6 marks)

ne
fn(x) = m, for all real z.

ﬁ 4  Let f be a real valued continuous function defined i
on [a,b]. If ' exists and is bound i
function of bounded variations on [a, 4. But its oonvex['se r]nay iot be true. s bounded on e, 0] tl(xgnmﬁrx;s

g7 State and prove Cauchy's criterion of convergence for infinite integrals. (6 marks)
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Q.1. Encircle the correct option. (10x1=10)
(@  Theset Z, ={0,1,2,3,4,5} under addition and multiplication modulo 6 forms :
(a) Division Ring (b) Integral domain (¢} Commutative Ring (d) field

G 1f §:R > R’ isaring homomorphism such that #a)=0 V aeR then Kerg=ommemnmm---
@ K (o) {0} © R (d) None of these
(iii) Theset Z, ={0,1,2,3,4,5,6,7} under addition and multiplication modulo 8 forms

‘(a) Division Ring  (b) Integral domain () Commutative Ring (d) field

(iv) Z, isafieldifandonlyifnis...cccc.coorn
(a) Natural number  (b) Integer ~ (c) Composite number (d) Prime number

(v)  Aring which is commutative with identity element and having no zero divisor is called
(2) Division Ring  (b) Integral domain  (c) Prime Ring (d) nilpotent ring

(vi)  Anindexed set of vectors {v;, vz, ..., Vp} in R issaidtobe .oocevrremrmniiiisirnnsanearens if the
vector equation Xy, + x,v, +++++x,v, =0 hasonly the trivial solution.

(a) Linearly independent (b) Linearly dependent (c) Basis (@) None of these

i The set S = {[;},B}[g}} Of vectors in RIS ....ovuccurnsssensecsiness

(a)Linearly Independent (b) Lincarly dependent (c)Basis (d) None of these
(viii) Let 7:U >V isalinear transformation from an n dimensional vector spaces U'to a vector

spaces V over the same field F then
a) dim N(T) + dim R(T) = 0 b) dim N(T) + dim R(T) = 2n
o) dim N(T) + dim R(T) =n’ d) None of these

(ix) The vectors (1,2) and (1,-2) are........ooeeereveens
(a) linearly independent (b)linearly dependent
(c) parallel ‘ (d)} perpendicular

®

1 0
The characteristic polynomial of the matrix ( 0 2) iS.verrnrenrrenens

@ p(A)y=Q -2y ) p(A) =(-)(2-1) () p(A)=4® (d) None of these
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Q.2 SECTION-1I

@ Show that the homomorphic image of a commutative ring is commutative. | 4
(i)  LetRbeacommutative ring andae R, thenaR={ar:re R}isanidealin R. €]
(i) LetR be a commutative ring with 1 as its identity element. Let I be an ideal in the ring R, @

then I = R ifandonly if 1€L

(iv)  State Gram Schmidt Process and explain with example. 4)
(v)  Show that the vectors (1,-2) and (3,-5) span the vector space R’ 4
SECTION-IIL
Q.3 Prove that a finite integral domain is a field. (6)

Q.4 LetRbe commutative ring with identity. The ideal P is 2 prime ideal in R ifand only ifthe  (6)
quotient ring R/P is an integral domain.

Q.5 Define the following terms: Linear Functional, Dual b‘asis, Annihilator. 6)
Q.6  State and prove rank and nullity theorem. (6
Q7 ©6)

Find the Eigen Values and eigen vectors of

- o DI
SRR )
[ I
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Q.1. Encircle the correct choice. (1x10=10)

1. An elliptic function with no poles in a cell 158 ...ciiieennn
a) Entire function b) constant function c) Periodic function
d) None of these

2. For f(z) =22 =008 voevereenin.
z
a) Isolated singularity b) nonisolated singularity ¢) essential singularity
d) removable singularity

3. If the principal part in the Laurent series contains an infinitely many nonzero terms, then
the singularity iscalleda .................... ‘
a) Isolated singularity b) nonisolated singularity c) essential singularity

d) removable singularity

a) 2 b)3 : c)l d)0
5. Sum of Residues of f(z)= _(—27)2163 15 verernreanenes
a) 0 b) -1 c)7 d=-

6. The number of poles of an elliptic function in any cellis .vvennnnnns
a) Finite b)infinte C) ZETO d) None of these

P.T.O.



7. An elliptic function o
a) Entire function
d) None of these

forderlessthantwoisa.................
b) constant function c)

has a zero at z=2 of order..................

2z+5
8. /(2)= :
(z—1)(z+ 5)(z-2)

a) 1 b) 4
9. The principal part of

2) = by =

z z
§ 22 dz T evserrrsiaersracinn
10.c +9
a)2x b) 0

c)2 d)3
sinz ,
f(@)=——is.ccooreirrnnn,
z
1
z

, where C: ]z - 2i] =4,

W4 d) mi

Periodic function
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Q2. Solve the following short questions (4x5=20)
1
1. Determine whether z=0 is an essential singularity of f(z) = ¢**z
2. Evaluate (ﬁe”’dz where the contour C s the circle lz}=1.
¢

3. Prove that an elliptic function with no poles in a cell is a constant function.
4. Find the order of the poles of f(z)=tanz.

SECTION II (Long Questions) (3x10=30)

Q3. Prove that the sum of residues at the poles in a cell of an elliptic function is zero.

Q4. State and Prove Weierstrass's F actorization theorem.

2z
1
5. Evaluate | ———— 3@
Q ! 10—~6cos@
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Q.1. Encircle the correct option. (10x1=10)

(8) The moment of inertia of i_sphericél shell of mass M and radius dabouf; it diameter is

iR -3 2M 2M ,
A B.# C3 D

(b) Calculate gyroscopié couple acting on & disc which has radius of 135 min. Angula.r an%
precessional velocities are 15 rad/sec and 7 rad/sec respectively. Assaxxfe depsity = 7810 kg/m’
and thicknéss of disc = 30 mm
A 12.83N-m B. 10.99 N-m C. 11 N-m D. Incomplete data

(¢ .  Total angular momentum of a body is given by ‘
A. I x w where I: moment of inertia of body, w: angular velocity
B. I? x w where I: moment of inertia of body, w: angular velocity
G. I? x w? where I: moment of inertia of body, w: angular velocity
D. I xw® where: moment of inertia of body, w: angular velocity

d . The Parallel-Axis theorem can be applied to determine
@ A. only the Moment of Inertia B. only the Mass Moment of Inertia  C. both the Moment of

Tnertis and Mass Moment of Inertia D. none of the above

(e) . The force =2 m W x Vg, called
A. Corlious force B. Centrifugal force . C. 'Ikansverse force D. Acceleration

63 The moment of inertis’of 8 bady is glways minimum with respect to its
" " A. Base B. Centroidal axis C. Vertical axis D.. Horizontal axis :

(8) Apparent acceleration is measured in — frame {8) of reference
“A. fixed B. rotating C. both D. none

(h) - . Equation of momental ellipsoid of a solid cube at its center represents a
A. Cube B. Angularbox C. Both D. None

(i) (1 mark) A surface having no thickness is called
A. Ellipsoid B. Cuboid C. Lamina D. Sphere

G) w % (w % ) is called acceleration
A. centripetal B. angular C. Coriolis D. none
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Q.2. Write short answers.

(10x2=20)
(a) _ Define equimomental systems. -
(b) Find M.I of rod of mass M and length 2L about a line through end points and per-
pendicular to rod. .
(e} In the absence of external torque, write down the Euler’s equations.
(d) Wiite down the necessary and sufficient conditions for two systerns S, S; to be equimo-
mental. '
(e) Write down the formula for product of Inertia about X, z-2xes.
() - ~ Define inertia and write its units.
& State parallel axis theorem. :
(B} - Prove the principal of angular momentum for a rigid body rotating about & fixed axis.
(1) A rigid body has its three mutually perpendicular axes of sxmmetry meeting at common
point P. What do you know about principal axes of this body st point P.
G Differentiate between inertial and non-inertial frames of reference.
Q.3. Write long answers. (3x10=30)
i.
(&) - What is a spinning top? Express the equations for the mot?o.n ofa spixmm-' g top having
one point fixed on its axis in terms of Euler angles and find the condition of sleeping top.
(b) Find the moment of Inertia of & trisngular lamina of mass M about one of its sides.
ii.
(a) " Show that rigid body motion is screw motion.
(b)

Find the minimum spin of the gyroscope in above part so that it can sleep in the ver-
tical position.

(a) Discuss Torque free motion of a rigid body symmetric about an axis with one point
fixed.

(b) State and prove CHASLE's theorem.






*\ RONNO. in Fig. coveevreriessassnss
A Y

UNIVERSITY OF THE PUNJAB

% B.S. 4 Years Program / Sixth Semester — 2019
Time: 15 Min. Marks: 10

' Roll No. in Words. ............
AY

PAPER: Functional Analysis-|
Course Code: MATH-311 Part - | (Compulsory)

ATTEMPT THIS PAPER ON THIS QUESTION SHEET ONLY. \ Signature of Supdt.:

Division of marks is given in front of each question.
This Paper will be collected back after expiry of time limit mentioned above. .

AY

Q.1. Encircle the correct choice. (1x10=10)

(i)  Thespace Cla,blis asubspace of
{d) None of these

{a) Bla,b] (b) B{X.Y) € 1*[a,b]
(i) et f:R—> Rgivenby f(x) =S5x , then for any &> 0, function fis uniformly continuous for O = —ereee

(a) € {b) S¢ {c) €/5 (d) None of these
(i) Let A= (O,I) be a subset of real line R with usual metricon R.Then F,(A4) = -

‘(a) (0,1) (b) [0,1] (©) {0, l} (d) None of these

(iv) A Cauchy sequence in X =(0,1)which does not converge in ), —
(a) {l:neN} (b) {n:ne N} (¢} {1+—!-:ne N} (d) None of these
L1 n
(v) In (R,d)with usual metric d on R the closure of (0,2]U[3,4)is ----------

(a) (0,2]w[3,4) (b) [0,2]W][3,4) (€} (0,2]w(3,4] (d) None of these

}.Then d(A, B) = -eeeeee-

v Let AzN,B:{n——]—;nzlneN
n
{a) n (b} 2n {c} 0 {d) None of these

(vil)  n the ptane R?, which one of the following is convex

(@) {(x, y)e R x> +y <1} b) {(x,y)e R’: 5" = y%}

() {(x, y) e R*: y* = x} {d) None of these
P.T.O.



(viil) ina linearspace N, the convex combination of the vectors X, ¥,z € N can be writes as follows: ---

(ix)

(x)

} | } i ] 1
—Xt+—y+— b} —x+—-y+—2z
(a)zx 3)) 42 ()3 3) 3
] l ]
{¢) =x+—y+—z {d) None of these
4 4 4

If isthe orthogonal projection from a Hilbert space H onto its proper closed subspace A4, and for
each xe H,x=y+2z,ye 4,76 A*, then v

(a) 7{x)=0 {b) r(x)=1x (c) 7(x)=y {d} None of these
In aninner product space V the paralielogram law is ------v<=-

of ) o) e+ off +le- A =lof oA

o e of e =2

(c) ux+ y“z +nx - yll2 = ZH,\“+“ y" (d) None of these
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SECTION-IX
Q.2 (i} provethat every open ball B(a,r) in a metric space (X,d) isopen. . - (4)
(ii) Show that every Cauchy sequence in a metric space (X d) is bounded. - - @
(i) f xg s an accumulation point of a set 4 < (X d) Then show that any nelghborhood (4)

of X, contains mfmltely many points of 4.

(iv) - Llet {x,},{y,} beany sequences in an inner product space V. f A o (4)

x, = x,y, — y then show that ( ”,y”>——> (x y)

(v) For any x, yin a complex inner product space V prove that R ' , (4)

()= (el =l of i off =il

SECTION -IXI

Q.3  Let X,Y be topological spaces andf XY, g ¥Y>2Z be uniformly continuous - (6)
functions. Then show that go f: X5 7Zis uniformly continuous.

Q.4 Show that the space C of complex numbers with usual metric is complete. (6)

Q.5 Let NV be a normed space in which every absolutely convergeht series converges. Then . (6)

show that' NV is a Banach space.

Q.6 If YisaBanach space then prove that the space B (X Y) of all bounded linear op’eratdrs ‘ (6)

is Banach space under the norm defined by, HT” =

,X€E X Deduce that the Dual

space of a normed space X is a Banach space (whether ornot X is).

Q.7 Let H be'a Hilbert space and y € H then the function f,: H — F given by f,(x)= < > (6)

defines a hnear functional on H. Moreover Hf)” ‘yn yeH
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Q.1. Encircle the correct choice. (1x10=10)
. d’y .
1. The general solution of pro Oy=01is y=..ccconene.
x

a) Ae” +Be™” b) Ae*+Be™ c) Ae* + B

d) Ae* +B

: . . . . 2 d’y dy
2. The singular points of the differential equation (x* + 2)—;{——2— + 2x-;; +6y=0are........
x
a) +1 b) £/2i c) 0 d) no singular point
3. The cigen values of S-L system 24 1y=0, 3(0)=0, y(z)=0
. ¢ e1gen values of S-L. system ZX—Q—+ y=0, (0)=0, y(z)=0 are

a) A=n', n==%142, 43, ... b) A=n’, n=0,11,%2,43,...

¢)  A=n n=tl42,#3,.. d) A=+, n=11$2,43, ..
4. The differential operator that annihilates 1—-5x* +8x"is ..............

a) D* b)(D-2) ¢) D+2 d)D-2
5. For a gamma function, the values of F[—i—] = e

1 /4
a) 5\/; b) By c)l d) none of these
. . dy .
6. The eigenfunctions of S-L system o +4iAy=0, y(0)=0, y(#)=0 are
x

a) Yo = b" sin(nx), n= il, i2, 13, b) Y, = b" cos(nx)’ n= il, _.tz’ i3,

P.T.O.



c) ¥, =b, tan(nx), n=%1,42,43,..

nx"‘lJn(x) b) ~x™"J, (%)

Ji () =

1}—g—sinx b) —2-cosx
/03 X

d) 3 _2_(cosx
7

+ sin x)
X

b) —%(sz -2)

d) %(Sx“ ~3x)

d) y,=b, sin(\/g X), n=11,%2,43,...

) x"J (x) &  J,(x)

c) %(33& -1)

10. The function y = 4e™** + Be’™ +Ce** gives a differential equation of degree

a)

1 b) 2 ¢)3

d) 4
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SECTION1

Short Questions

Q2. Solve the following short questions (4x5=20)

. . d .
1. Find a solution of Zi—ii —-2xy =0 in the form of a power series in x.

2. Solve 4d;’2v+36y=csc3x.
dx

3. Provetheidentity J_, (x)=(-1)"J, (x).
4. Define Bessel functions of the second kind.

SECTION II (Long Questions) (3x10=30)

Q3. Find the eigenvalues and eigenfunctions of the system

A = 0 0)=20 1)=20
x2+1y.~’ y()— ’y()"

d 2 dy
= (x“+1) dx)+

Q4. Use the method of Frobenius to find a series solution in x of the differential equation

d’y dy
22Xt ——y=
dx®  dx y=0

QS. Derive Rodrigue’s Formula

(x> =1)", n=0123,.
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Q.1. Fill in the blanks or answer True / False. (1x10=10)
1. (—55)1/2 + k2 is a linear operator. ' | » (True/False)
2. (k- 1) =T(k) (True/False)
3. F [E%f(t)J = —w?g(w). (True/False)

4. If x is a solution of Laplace’s eqﬁation V2x = 0, then % is not a solution of Laplace’s equation.
(True/False)

5. Legendre equation (1 — z2)y” — 2xy’ + 2a(a + 1)y = 0 has singularity at z = +1. (True/False)
6. I'(2z) = limp 00 z(z+1§é‘_§‘2‘)‘:?(z+n) n® n#0, ——1? -2, ..., (True/False)
7.6(1—2) = §O 2041 () | (True,False)
RN G12) E

9 .c{f”’(t)} e,

10. L {cos(at)} = e
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Section-II (Short Questions) Marks=20

1. Linear operator A has n distinct eigenvalues and n corresponding eigenfunctions: Ap; = \; ¥, Show
that the n eigenfunctions are linearly independent. Do not assume A to be Hermitian.

2. A triangular wave is represented by

f(x):{ z, O<z<m

-, —r<z <.
Represent f(z) by a Fourier series.

3. Show that
Ffr(-t)] = F(w),
where F(w) = F [f(t)]. ' :
4. Using

1.23...n
L(z)= 1 z 0,-1,-2,..
(2) n-lfgoz(z+1)(z+2)...(z+n)n’ n#0,-1,-2,

show that
[(z+1) = 2[(z).

5. Evalute [ z3e~% Hy, () Hn(z)dz.

Section-IIT | . Marks=30

1. Show that

| oz, 0<z<t,
G<‘”’t)_{ ¢, t<xz<l,

is the Green’s function for the operator L = —%Z—% and the boundary conditions y(0) = 0,3'(1) = 0.

2. Verify the Dirac delta function expansions

5(1 —l') = 2271;—11371(%)7
n=0 .

s1+a) = (-0 EERw)
n=0

3. Expand z" in a series of associated Laguerre’s polynomials L${°>, with k fixed and n ranging from 0 to
r (or to oo if r is not an integer).

4. Show, by direct differentiation, that, .
(o) s

. (__1) rp\vt2s

Iule) = 2 ST(s + v+ 1) (2) ’

satisfies the two recurrence relations

Jy_1($)+Jy+1(IC) = ————.],,(.’E),

J,,-](fl))-J,,+1(iL‘) = 2

5. Evaluate .

/ (14 z)* (1 — )’ dzx,
21
in terms of the beta function.
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Q.1. Encircle the correct choice. (1x10=10)

i. Addition of pentavalent impurity to a semiconductor creates many

a. Free electrons ¢. Valence electrons
b. Holes d. Bound electrons
ii. Hall voltage is directly proportional to
a. current c. magnetic flux density
b. electric field d. all of above

iii. Boltzman constant is actually
gas constant per mole
gas constant per kg
gas constant per molecule
product of pressure and area
iv. The energy required to break a covalent bond in a semiconductor
isequalto 1 eV
is equal to the width of the forbidden gap
is greater in Ge than in Si
is the same in Ge and Si
v. Inan insulator, the forbidden energy gap is of the order of
1 MeV c. leV
0.1 MeV d. Sev
vi. P-type and N- type extrinsxc semiconductors are formed by adding
impurities of valency?
a. 5 and 3 respectively
b. 5 and 4 respectively
¢. 3 and 5 respectively
d. 3 and 4 respectively

o o R. o oW

o

P.T.O.



vil.

a.

For metals conduction band and valence band are
Fully occupied
Empty
Partially occupied
Overlapping
Which is the correct ordering of the band gaps energy?
Diamond > silicon > copper
Diamond < silicon < copper
Diamond < silicon > copper
Diamond < silicon < copper
If the density of charge carriers is increased, the value of Hall voltage
Decreases ¢. Remains constant
Increases d. Changes the direction
Specific heat capacity of a substance is equal to
mass of the substance x heat capacity
heat capacity /mass of the substance
mass of the substance/heat capacity
None of the above
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Question No.2: Answer the following short questions. (10x2=20)
1 Define Bloch function and Bloch theorem.
2 Explain briefly intrinsic mobility.
3 Differentiate between metals and insulators on the basis of orbital band theory.
4 What are significances of Hall-co-efficient?
5 Plot the distribution of probability *p’ in the lattice for |¥ +|%,|¥ —|? and for pure

travelling wave.

W W a3 N

What is meant by density of energy states in metals?
Define and draw Fermi sphere.

What factors affect the resisitivity of electrical materials?
State Weidman Franz law.

10 Explain the difference between direct and indirect band gap materials.

Q.3.

Q4.

Q.S

(10)

. Give quantitative explanation of energy gap formation under periodic potential.
. Plot Fermi dirac distribution function for various temperatures.

(10)

. Show that the wavelength associated with an electron having an energy equal

to Fermi energy is given by
x \32
Ap =2 ™

. Derive an expression for intrinsic carrier concentration in a semiconductor.

(10

. Consider Free electron gas in 3-dimensions, then by using periodic boundary

conditions, derive expressions for Fermi energy and density of states for the
system.

. Explain collision time and mean free path as applied to free electrons.

[IEXE N NREN N ENENNENNENRE SN

Time: 2 Hrs. 45 Min. Marks: 50
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Q.1. Encircle the correct choice. (1x10=10)

(i) At classical turning points, the value of energy Eis
(a) greater than potentiél (b) less than potential (c) equal to potential (d) None of these
(il) The wavefunctior associated with Helium-4 is '
(a) anti sysmmetric (b) symmet_ric (c) zero (d) None of these
(iii) Pauli spin matrices are
(a) traceless (b) non-hermitian (c) singutar (d) All of these
(iv) The spin of photon is
@1 @®O0 (12 (@32
(v) WKB approximation is suitable for system with

(a) rapidly varying potential (b) slowly varying potential (c) classical turning points only
(d) None of these

(vi) The sum of determinants for all Pauli spin matrices is equal to

@0 ()1 (c)-3 ()2

(vii) Which of the following particle does not obey Pauli excliusion principle?
(a) Proton (b) alpha particle (c) neutron (d) All of these

(viii) The frame in which particies move with equal and opposite velocities before and
after scattering is known as

(a) inertial frame (b) Lab frame (c) center of mass frame (d) Non-inertial frame
(ix) In Heisenberg picture, the state vector is

(a) time dependent (b) frozen in time (c) zero (d) None of these

(x) Which of the following is not an approximate method for eatimating solutions of
systems?

(i) WKB method (ii) Perturbation Theory (jii) Rayleigh-Ritz variational method
{(iv) None of these
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.No.2 Answer the following short questions. (4x5=20)
(i) Compute [Sz,S4].

(ii) Define (a) PERMUTATION operator (b) HILBERT space.

(ili) Write down ANTI-SYMMETRIC WAVE FUNCTION for a system of three identical
FERMIONS.

(iv) Write down validity of WKB method.

(v) What is difference between Schrodinger and Interaction pictures of Quantum
mechanics? '

Q.No.3 (a) Describe VARIATIONAL method as an approximate method. Write down the
steps involved in this method.  (5)

(b) Find the GROUND STATE ENERGY of a HARMONIC OSCILLATOR by using
VARIATIONAL method.  (5)

Q.No.4 Find the relation between scattering angles for two-particle scattering in LAB
and CENTER of MASS frames. (10)

Q.No.5 Discuss briefly (5,5)

(i) PAULI Exclusion Principle (ii) BORN approximation
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Q.1. Encircle the correct choice. (1x10=10)
(i) In the decimal number system, what is the MSD?
(a) the middle digit of a stream of numbers (b) the last digit on the right
(c) the digit to the right of the decimal point (d) the digit with the most weight
(ii) The domain of SOP expression ABC+AB+ABCD+CD is
(a) ABC (b) ABD (c) ACD (d) ABCD
(iii)  Inad-variable K-map, a 2-variable product term is produced by
(a) a2-cell group of Is ' {b) an 8-cell group of 1s
(c) a4-cell group of Is (d) a4-cell group of Os
(iv)  OnaK-map, grouping the Os produces
(a) a product-of-sums expression (b) a sum-of-products expression
(c) a"don't care" condition (d) AND-OR logic

(v) A 5-variable K-map has
(a) sixteencells (b) thirty-two cells (c) sixty-four cells (d) none as above

(vi) An ADC is an

(a) alphanumeric data coder (b) analog-to-digital comparator
(c) analog device carrier (d) analog-to-digital converter
(vii) How many Flip-Flops are required for mod-16 counter?
(a) 5 (b) 6 (c) 4 (d) 3
(viii) How many clock pulses are required to enter a byte of data serially into an 8-bit shift register?
(a) 8 M) 4 {c) 16 (d) 9
(ix) An asynchronous counter differs from a synchronous counter in
(a) the number of states in its sequence (b) the method of clocking
(c) the type of flip- flops used (d) the value of the modulus

(x) To serially shift a byte of data into a shift register, there must be
(a) one clock pulse (b) one load pulse
(c) eight clock pulses (d) one clock pulse for each 1 in the data
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Q.2. Write short answers of the following questions: (2x10 =20)
i, Do the following conversions.
(a) (650)10=(? )16 (b) (11000110)2=( ? )oray
i Subtract the following hexadecimal numbers:
(a) 94|6-2A|5 (b) 84|6—'2A16

iii.  Verify that the NAND operation is commutative.
iv. Sketch K-map for four variables.

V. What is a “Don’t Care” condition in a K-map?

vi. By using laws of Boolean algebra, prove that 4+ 4 B=A +B
vii.  Why D- flip flop is widely used for circuit implementation?
viii. How a J-K flip flop is connected for toggle operation?

ix.  Define the term Shifi Registers.
X. Differentiate between ROM and RAM?

Q.3: (a)  Use K-map to reduce the following expression to a minimum SOP form;
AB+AB+CD+CD
(b)  Using Boolean algebra techniques, simplify the expression;
ABCD + AB (CD)+ (AB)CD , toobtain CD+AB.
(5, 5)

Q4d: (a) Describe a method of edge triggering for an S-R flip flop.
(b) A device is needed to indicate when one or two HIGH levels occur on its inputs
and to produce 2 LOW output as an indication. Specify the device.

7,3)

Q.5: (a)  Explain in detail the operation of a 4-bit binary ripple counter.
(b) A 2MHz clock signal is applied to a live stage binary ripple counter. What is the
frequency at the fifth flip flop?

(7, 3)
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Q.1. Encircle the correct choice. (1x10=10)

i. C++ program statement ends with a:
a) getch() (b) void main ()  (c) semicolon (d) comma

ii. In C++ what is not a selection:
a) select (b) if (c) switch (d) if-else

iii. C++ language, LIBRARY TYPE that provides stream oriented input and output is

called:

(a) Header (b) #include (c) iostream (d) both (a) & (b)
iv, Which of the following is an assignment operator in C++?

(a) == )= @+ @F

v. Which escape sequence can be used to begin a new line in C++:
(a) \new () \n (c)\next (d)\t
vi. The pow () isa: :
(a) Operator (b) user defined function (c) built in function (d) None
vii. In C++, a loop with fix number of iterations is:
(a) While (b) do-while  (c) for (d) None
viii. If x =23 and y= 32, then for statement “y == x” which of the following result is
true
(a) xequalsy (b) x is greater thany (c) true (d) false
ix. In C++ the expression 45%?2 is evaluated to:
(@20 (b) 1 (c)22.5 (d)error
x. Which of the following is not a Boolean operator for in C++:
@& ® || © = (d)nons
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Q2. | Write short answers of the following Questions;
i. | Explain with example the following terms in C+: 4
a) floatx; (b)cos() (c)switchQ (d)sqrtQ)
il. | Write syntax with example the following in C++: 4
(a) do-while () loop (b) for ()
iii. | Explain arithmetic operators in C++? 4
Write C++ program code segment for the following: 8

(a) to calculate equivalent of two resistors connected in series
(b) to print x against f{x) for the equation

5
(*)=
! 3 2x} —4x* -2x+4

(c) to calculate and display table of a number
(d) to convert grams to kilograms using a function

Q3. 10

6
Write C™ program to evaluate the I;—,—l—s-dx by Simpson’s rule or
5~

by Trapezoidal rule due to options 1 or 2 respectively (use n=6).
Report error message for any other option pressed by the user.

Q4. ' 2+4+4
Suppose A and B be 3x3 matrices. Write C™ program which reads
in entries of A and B and prints out the entries of matrix which is

(i) 74-3B , (ii)C = 24’ and (ii) to print diagonal elements of C.

Q5. 743
Write C™ program for the forced harmonic motion (FHM) of a mass
attached with a spring using Euler’s method under the following
conditions: (g=9.8 m/s’ initial position zero and velocity 15 mvs,
time step 0.1 sec. and maximum time 15 sec., k = 1 N/m, m=lkg,
damping coefficient = 0.5 N/ms, o =0.01 s' and f=1.5N.).
Calculate and print values for time, position, velocity and
acceleration. How you can change the same program for Simple
H.M., Damped. HM

Write C™ program which reads in 10 numbers into an array and
display those numbers in reverse order.
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Q.1. Encircle the correct choice. (1x10=10)

1. Dictatorship of the Proletariat is one of the concepts of:
(a) Karl Marx (b) Max Weber (c) MaoTzedung (d) None of these

o

Hobbian social contract is based on:

(a) Desire for peace
{b) Selfishness
(c) Fear
(d) None of these.
3. Leviathan' is written by:
(a) Thomas Hobbes ~(b) Hegel _(c) Locke (d) None of these

4, Jean Jacques Rousseau was born at:
ia) London (b) Paris (c) Geneva (d) None of these
5. According to John Locke. the best form of Government is:
(a) Monarchy (b) Aristocracy (¢) Democracy (d) None of these

6. "Introduction to the Principles of Morals and Legislation (! 789)" Was written
by:

(a) Jeremy Bentham (b) J.S. Mill (¢) John Locke (d) None of these
7. Which of the thinkers is a social contractualist?

(a) Lenin

(b) Marx

(c) Hobbes
(d) None of these

P.T.O.



8. “Two treatises on civil Government™ constitute the basic source
of Political thought of :

{(a) Sia Robert Filmer
{b) Locke

(c) Plato

(d) None of these

9. Marx and Engels produced the famous book’ Common Manifesto’ In:

(a) 1848
(b) 1845
(c) 1883
(d) None of these

10. The distinction between Real Will and Actual Will was made by:

(A) Green

(B) Bosanquet
(C) Rousseau

(D) None of these
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@,42

Short Question: 4*¥5=20 Marks

1. Define concept of Human Nature by Thomas Hobbes.
2. Explain the relevance of Machiavelli's theory in contemporary times.

3. Evaluate the human nature and state of nature by John Locke.
4, Discuss Leninism and its main components.
Q=3
Long Questions: 10*3=30 Marks
1. Critically evaluate Marxism.

2. Discuss the theory of Social Contract by ].J. Rousseau
3. Evaluate the Dialectic history of Hegel.
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Q.1. Encircle the correct choice. (1x10=10)
1. Poet of the east is the title of .
a) Afghani b) Igbal c) Haali
te G A
do @) Jo () don ()
2. Jamaluddin Afghani was a political activist of century.
a) 17 b) 18th c) 19t
B KL i PP I e 2
; Ul @) Jrd (L) g2y (G
3. Muhammad Abdhu belonged to .
a) Syria b) Egypt C) Lebanon
= Jw Koat & 3
o @) & () )
4, Igbal's first poetry book was published in language.
a) Urdu b) Persian c) Hindi
Sl e UG FESF SIS 4
e (@D gk (&) wa ()
5. Treatise on the Oneness of God is written by .
a) Igbal b) Muhammad Abduh c) Jamaluddin Afghani
.......... s U el A5
e @) wté () Jo ()
6. Syed Qutb started the movement of .
a) Muslim Brotherhood b) Revolution ¢) Evolution
NI 7) Ny S— Lo By 6
G (@) () kb (N
7. Syed Qutb was executed in
a) 1966 b) 1965 c) 1964
-dﬂ&}"L‘/”u: ------- [J;ﬁf’ 7
1964 () 1965 (2) 1966 (&)

P.T.O.



10.

Imam Khumaini had a leading role in

a) Afghan Revolution b) Iranian Revolution c¢) French Revolution
s S e 6 e
WIS @) Wiy () Wi (DD

Khumaini was a of Iran.
a) President b) Prime Minister C) Supreme Leader
- S 4T V4
Liude @) A () e ()

Igbal was influenced by the teachings of
a) Muhammad Ali Jinnah

b) Sir Thomas Arnold

c) Shah Walliullah

-Z.yz}"(?:a;ﬂccabf’.’.gf ....... Juss
b @) #ISG, () kEE (D

10
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Q.2. Give short Answers. (4x5=20)

1. Write a brief note about the life of Jamaluddin Afghani?
N i Seddeigada A
2. What are the contributions of Maulana Maudoodi in Muslim Philosophy?
-u_/uy.fu:”/yfd:@m{ﬁ(‘”Jd;»rwr 2
3. Discuss the concept of Modernity Presented by Muhammad Abdhu?
_Q/&i/,:u"p/r‘gz(qui_oij 3
4. Discuss Igbal’s concept of Khudi.

ST LT [

Q.3. Give short Answers. (3x10=30)

1. Write a detailed note about the poetry of Allama igbal?
e LI LSS

2. Discuss in detail the efforts of Imran Khumaini for Iranian Revolution.

_u:"g .:](‘jkg/?u;—"/ Ju’.‘}’ rug,[,ut/.f.?,u?il 2
3. Write a brief note about the life of Syed Qutb?

-J.J&i@@»{iégfl)({vﬁg 3
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Q.1. Encircle the correct choice. (1x10=10)
1 In Traditional approach are given much importance
i) Behaviours ii) Traditions iii) Facts
2. is the author of the book “The System Analysis of Political Life
i) David Easton ii) G.A. Almond iii) Arthur Hughes
3. S.E. Finer has described the kinds of political culture
)2 D)3 iii) 4
4. Constitutional Government is the major indicator of

i) Political culture ii) Political Development iii) Political system

5 According to Karl Marx factor is vital for change.
i} Economic ii) Social iii) Political
6 used the term ‘Bureaucracy’ first of all in his writing.
i) Mac Iver ii) Max Weber iii) Lucian Pye
7 took over in 1999 in Pakistan
i) Ayub Khan ii) Zia ul Hag iii) Pervez Mushraf
8 countries are often facing crisis of legitimacy.
i) Developing i) Developed iii) Industrialized
9 is considered charismatic leader in Pakistan
i) Mian Nawaz Sharif it) Zulfigar Ali Bhutto iii) Benazir Bhutto

10  The main characteristic of political development is
i) Equality ii) Prejudice iii) Nepotism
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Q.2. Give short Answers. (4x5=20)
1. Define ‘Legitimacy’ in your own words.

2. What do you meant by participant political culture?

3. What is political development?

4. Define ‘Social Change'.

Q.3. Give short Answers. (3x10=30)

What are the common characteristics of political development
Write the role of bureaucracy in your own words.

Explain the issue of National Identity with Special reference to Pakistan.
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Q.1.

Encircle the correct choice.

Cuban Crisis occurred during the presidency of:
a) Ronald Reagan b) Jimmy Carter
c) Eisenhower d) None of These

Soviet Union invaded Afghanistan in:
a) 1978 b) 1979
c) 1980 d) None of These

Globalization is caused by advancement in:
a) Military b) Technology
c) Economy d) None of These

New World Order is the policy of which state:
a) Israel b) Russia
c) United States d) None of These

Which state was part of WARSAW pact:
a) United States b) Pakistan
c) USSR d) None of These

Mark the True / False.

World War | started in 1920.

League on Nations was established after World War I.
USSR was major supporter of socialist ideology.
Cuban missile crisis took place in 1960.

Cold War started in 1930.

(1x5=5)

(1x5=5)

T/F
T/F
T/F
T/F
T/F
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Q.3. Give Short Answers. (4x5=20)
1. Explain the treaty of Versailles.

2. Briefly explain Truman Doctrine.

3. Analyze the role of religion in contemporary world.

4 Critically evaluate major principles of New World Order.

Q.4. Give Long Answers. (3x10=30)

Discuss the major developments in International Politics between World War | and Il
Analyze the major developments during cold war and its impacts.
Define Terrorism, its types and measures to counter it.






% UNIVERSITY OF THE PUNJAB \\\I\!oll NO. i Fig. .ceuerceirernnnnns |

B.S. 4 Years Program / Sixth Semester — 2019 *sRoll No. in Words. ............

Paper: Introduction to Local Government N
Course Code: POL-310 Part — | (Compulsory) Time: 15 Min. Marks: 10 o wreeroremrrosssssrsmmesosmmem
_—__—_ﬁ \
ATTEMPT THIS PAPER ON THIS QUESTION SHEET ONLY. *\ Signature of Supdt.:
Division of marks is given in front of each question. \\

This Paper will be collected back after expiry of time limit mentioned above. N

Q.1. Mark the True / False. (10x1=10)

i. Local government is a government at central level. T/F

. There is no difference between local government and

local self-government. T/F
iii. Central government influences the performance of local institutions. T/F
iv. Lack of political awareness among people is a major problem

of local government. T/F
V. Local government depends upon provincial government for

" financial resources. T/F

vi. Local Government works at national level. T/F
vii.  Local Government creates awareness at national level. T/F
viii.  Local Government system in Pakistan was introduced by

Zulfigar Ali Bhutto. T/F
iX. Local Government resolves issues at national level. T/F

X. Local Government coordinates with provincial government. T/F
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Q.2. Give short Answers. (4x5=20)
1. Define nature of local government.

2. What is scope of local government

3. Discuss decentralization.

4,

Difference between local government and local self-government.

Q.3. Give Long Answers. (3x10=30)

Explain various approaches the study of local government.
Discuss different problems of local government in developing countries.
Discuss different characteristics of Local Government finance.
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Q.1. Give True and Falise. (5x1=5)

1. Quid e Azam joined Muslim league in 1916................

2. Delhi proposals were given by Quid in 1926..........

3. Congress ministries resigned in oct 1939..............

4. Quid e Azam was given the title of ambassador of hindu-muslim unity by Sardar

Patel...............
5. Quid-e-Azam led the Simla deputation in 1906.............
Q.2. Choose correct option. (5x1=5)

1. 1istworld warstartedin..............
(a) 1914 (c)1916
{b) 1938 (d) none of above

2. Congress ministries resignedin ..................

{a) Oct 1939 (C) Nov 1938

{b) Dec 1938 {(d) none of the above
3. . formed congress.

{a) Lord Atlee (c) A. O. Hume
(b} Pandit Nehru {d) none of above

4. Cabinet mission organized all provinces into ............ groups
(a) 3 (c)4
(b) 2 {d) none of above

5. In 1947 British P.M minister was .........coco.v....
(a) Lord Atlee {c) Lord Mountbatten

(b} Lord Wavell (d) none of the above
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.3. Write short answers. (5x4=20)
1. Writeany 5 points out of 14 quid's points
2. Describe briefly 4 initial problems of Pakistan.
3. Short note on Delhi proposals.
4, Describe causes of M A Jinnah's reasons to leave All india National congress.
5. Four causes of partition f Bengai.

Q.4. Give detailed answers. (3x10=30)

1. Discuss how Lucknow Pact was an effort of hindu-muslim unity by Quid-e-Azam?
2. Give detailed account of Khilafat movement and its results.

3. Give detailed account of formation of congress ministries and its atrocities on muslims.
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Q.1. Encircle the correct option.

N
A
N

(10x1=10)

1. The use of scientific research procedures to measure the effectiveness of an action program

called.
a. Evaluation research
b. analytical research
c. Scientific research
d. None of these
2. The first step in any sociological research project is to.
a. collect data
b. define the problem
¢. review previous research
d. formulate a hypothesis

3. Formulating the hypothesis is the

a. First

b. Second
¢. Third
d. fourth

step in the scientific method.

4. In most instances how well a student does on a test is determined by how much the student

studies for it In this example studying for an exam is a(n).
Correlation

a
b. independent variable

o

dependent variable

d. sample

P.T.O.



-

5. A researcher can obtain a higher response rate by using which type of survey?
Interviews

a
b. Questionnaires

L]

representative samples
d. observation techniques
6. The Scientific study of human social life is termed as.
a. Society
b. Sociology
¢. Anthropology
d. None of these
7. Karl Pearson said “The unity of all science consists alone in its methods not in its material It
relates to the importance of,
a. Scientific research
b. Scientific method
¢.  Science unity
d. None of these
8. Experiments are of two types.
a. Laboratory
b. Field
¢c. botha&b
d. None of these
9. If the information needed has already been written down somewhere it is looked up.it is called.
Observational studies

4.
b. Sociological analysis

L

Statistical Comparative studies

o

None of these

10. Questionnaire and interview studies are systematic ways of asking questions under.
a. Experiment situation
b. Scientific control

Normal circumstances

a o

None of these
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give short Answers. - (5x4=20)

Research Methodology
Research Funding
Career Utilization

Quantitative Research

o b~

Qualitative Research

Q.3. Give Long Answers. (3x10=30)

Define Research grant proposal. Explain the various points of research proposal.

How do you evolve research design? Briefly explain steps its research design.
What are the goals of literature review?
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Q.1. Encircle the correct option. (10x1=10)

1.

o

Which of the following is not a possible cost of high fertility rates and rapid population growth?
a. increasing returns to natura) resources. with a direct impact on average food
consumption.
b. increased urbanization and congestion.
¢. ahigher labor force growth rate and higher unemployment.
d. aworking population that must support a larger number of dependents,
The total fertility rate (TFR) is
a. the total number of children born in a country in a given year divided by labor force.
b. the number of children bom to the average woman during her reproductive years.
¢. the number of births in a country divided by total population in a given year
d. the number of women age 15-45 in a country divided by total population.

Positive checks on population growth can include:

a. warfare
b. famine
c. disease

d. Allanswers are correct
When people leave an area to go elsewhere that is called:
a. immigration
b. population transfer
c. migration
d. net-migration
Logic of growth argument is based on:
limited population growth.

the idea that the earth’s resources are finite and need to be managed carefully
the idea that new technologies will make the future even better

& 6o P

none of the above

P.T.O.



6. The population growth rate in Pakistan is percent?

a. 182

b. 192

c. 202

d. 212

7. Demographic processes does not include-

a. fertility

b. morbidity

¢. mortality

d. social mobility

8. Inastandard population pyramid the age range of each bar is:

a. Syears

b. 10years
¢. 15years
d. 20 yvears

9. The relationship between the economically active population and the non-working population is
known as the:
a. employment ratio
b. economic ratio
¢. dependency ratio
d. critical ratio
10. Increase in population does not necessarily increase
a. Unemployment
b. Resource generation

<. Health facilities

Q.

Per capita income
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give Short Answers. (5x4=20)

Population growth rate
Geographic distribution
Birth Rate

GNP growth rate

Sources of pepulation data

S e

Q.3. Give Long Answers. (3x10=30)

Explain the theory in ibn-e-Khaldun on Population. Discuss with examples.
What are demographic process? Explain in detail.
Explain the factors behind high fertility in Pakistan in detail.
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Q.1. Encircle the correct option. (10x1=10)

1. In statistics out of 100, marks of 21 students in final exams are as 90, 95, 95, 94, 90, 85,
84, 83. 85, 81,92, 93, 82, 78. 79. 81, 80, 82. 85, 76, 85 then mode of data is
a. 85
b. 95
c. 90
d. 81
2. Branches of statistics includes
a. applied statistics
b. mathematical statistics
c. industry statistics
d. bothaandb
3. Procedures of descriptive statistics and control charts which are used to improve process
are classified as
a. statistical tools
b. parallel tools

serial tools

o

d. behavioral tools

4, Sample statistics are denoted by the
a. upper case Greek letter
b. associated roman alphabets

roman letters

o o

lower case Greek letter

P.T.O.




5. Which of the following is not an example of a discrete probability distribution?
a. The sale or purchase price of a house
b. The number of bedrooms in a house
¢. The number of bathrooms in a house
d. Whether or not a home has a swimming pool in it
6. The collection of one or more outcomes from an experiment is called
a. Probability
b. Event
c. Random Value
d. Z-value
7. If youroll a pair of dice, what is the probability that (at least) one of the dice is a 4 or the
sum of the dice is 77
a. 4/36ss
b. 13/36
c. 21/36
d. 15/36 ,
8. To create a new data file in SPSS Statistics, you select:
a. Open a New Data File
b. TypeinData
¢. New Dataset
d. New Data File

9. What menu item do you select to find the “Descriptive Statistics...” selection?

a. Frequencies
b. Graphs
¢. Analyze
d. Uilities
10. The name of the tool in SPSS Statistics that creates a frequency polygon is called:
a. Graph Builder
b. Figure Builder
Chart Builder
Graph Builder

& o
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2. Give Short Answers. (5x4=20)

Chi Square Test
Rules of Probability
Area Under the normal curve

Variance

o M b=

Inferential Statistics

Q.3. Give Long Answers. (3x10=30)

What are nominal, ordinal and Interval scales? Explain with examples.
Define Measures of Dispersion. Explain its types with examples.

What is Empirical relationship between Mean, Median, and Mode? Explain with
graphs.
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Q.1. Encircle the correct choice. (1x10=10)

Urbanization is a process.
Straight lined

Cyclical

Social

None of these

&0 oe -

N
.

The current level of urbanization in Pakistan is in SAARC Countries.
Highest

Normal

Lowest

None of these

a0 o

Urbanization causes many Social problems such as
Inflation

Poverty

Unemployment

All of the above

g0 o e W

>

Urbanization in preindustrial cities was restricted by
Reliance on animal power as a source of energy

The high levels of surplus produced by the agricultural sector
The ease of migration to the city

All of the above

a0 o

»

In comparison with industrial cities preindustrial cities had
Relatively open class systems

Extensive social mobility

A much more rigid division of labour by gender

All of the above

The trend toward urbanization is most advanced in
America

England

Japan

None of these

SR A S L

P.T.O.
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Ao o e

pw

c'

g0 oPp

Who described urbanism as a way of life?
Park

Hawley

Wirth

Burgess

Urban recycling is shorthand for
Encouraging existing residents to move out of an area
Introducing local environmental strategies to an area

The refurbishment or replacement of old buildings and land
Providing incentives for urban dwellers to use public transport

In past Pakistan’s population had relatively growth rate.
Low

Medium

High

High none of these

. The shift of a population from the countryside to cities is called............

Infrastructure
Urbanization

Land preservation

An ecological footprint
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ATTEMPT THIS (SUBJECTIVE) ON THE SEPARATE ANSWER SHEET PROVIDED

Q.2.

Questions with short answers. (5x4=20)

Urbanization
Megalopolis
City

Town

Katchi Abadies

Questions with brief answers. (3x10=30)
Highlight the main social problems of the cities in Pakistan and also suggest remedial
measures to resolve those problems.

V"Jl'mt is the origin of urban life? What factors have contributed to the rise and decline of
cities? Write by giving examples from Pakistani society.

Discuss the meanings of human ecology and elaborate its relationship with urban
sociology.

Time: 2 Hrs. 45 Min. Marks: 50
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Q.1. Encircle the correct option. (10x1=10)

1. The term of judges of International Court of Justice is
a. Three years
b. Five years
¢. Six years
d. Nine years

2. When was the Charter of Human Rights adopted?

a. 1945
b. 1948
c. 1951

d. None of these
3. A group of law enforcement officers who socialize only with one another would
be considered a
a. Prescriptive norm
b. Subculture
c. Folkway
d. Proscriptive norm
4. Crimes are against individuals rather than the
a. Household
b. Investigation
¢. Society

d. None of these

P.T.O.



5. In what kinds of societies are laws usually written down formally?
a. large-scale societies
b. small-scale societies
¢. both of the above
d. none of the above
6. What are common laws?
a. laws that evolve slowly over time and are usually part of the existing
cultural tradition rather than being enacted by legislatures or rulers
b. laws that are enacted by legislatures or rulers and that apply commonly to
everyone
¢. laws that are commonly found in all kinds of societies
d. All ot the above
7. Courts are the institutions which deliver
a. Justice
b. Notice
¢. Explanation
d. All of the above
8. Judicial process means the rules
a. Which determine the role of judge and jury in the courtroom
b. Socio-legal aspect
¢. Human rights
d. None of these
9.  Which of the following kinds of society are most likely to have formalized laws
and special government institutions (e.g. police, courts, and jails) to enforce them
a. pastoralist
b. horticultural
¢. advanced agricultural and industrial
d. primogeniture
10. Fundamental rights are------- rights
a. Justiciable
b. Legal
c. Political
d. Equality
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Q.2. Give Short Answers. (5x4=20)

The nature of human rights

The functions of law

The role of NGOs

Society, culture and human rights
What are Fundamental Rights?

I

Q.3. Give Long Answers. (3x10=30)

Define deviance and explain different types of deviant behaviors.
Briefly explain the critically perspectives on the sociology of law.

Write any theory of human needs or instincts. How human needs be a guide to
determine human rights.
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Q.1. Encircle the correct option. (10x1=10)
i) Ina..... design, a complete row or column of a Latin square design is missing.
a) Factorial b) Youden Square c) Latin Square d) None of these
ii) The following design facilitates to study the interaction effect :
a) Factorial b) Completely Randomized ¢) RCB d) Latin Square
iii)  When the factors do not interact, ...... designs are more efficient than one-at-a-time
designs:
a) Factorial b) Completely Randomized c¢) RCB d) Latin Square
‘iv) A factorial model for data is called . ..... if the presence of any term iy the model
implies the presence of all lower order terms. .
a) Hierarchical b) Completely Randomized c¢) Split Plot d) Latin Square
V) When the factors were analyzed according to their importance in the design, the
following design is useful:
a) Factorial b) Fractional Replication c) Split Plot d) Incomplete Block
Design
vi) In the following design, more than one randomization can be introduced:
a) Factorial b) Fractional Replication c) Split Plot d) Incomplete Block
Design
vii)  The block size of a 2° design confounded into 4 blocks will be:
a) S b) 32 e) 16 d) 8
viii)  The BIBD is called “balanced” because the ....... of the estimated difference of
treatment effects &,—¢, is the same for all pairs of treatments 7, /.
a) Mean b) Variance ¢) Ratio d) None of these

ix) Partially Balanced Incomplete Block Designs (PBIBD) allow us to run incomplete block
designs with .... blocks than may be required for a BIBD.
a) fewer b) larger ¢) same d) None of these
X) A design witha=12,k=7,r=7,and b =12 will be called:
a) BIBD b) PBIBD c) Latin Sqaure d) None of these
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SHORT QUESTIONS
Q2.  Define the following: (5*4)

i
i
iil.

Advantages and Disadvantages of Factorial Design
iti. Fractional Replication
Quasi Latin Squares

iv.  iv. Split-Split Plot Designs
LONG QUESTIONS
Q3. Complete ANOVA table for the following factorial experiment. ABC is completely
confounded. . (08)
Replicate | Replicate 11

Blockl | Block 2 | Block! | Block 2

b=4 (1)=10 a=6 be=6

a=6 ab=7 abc=9 ac=8

c=9 be=8 c=8 =11

abc=5 ac=6 b=7 ab=8

Q4. In a split plot design the whole plot treatment (A) were applied to 3 blocks and sub-plo!
treatment (B) were then applied to split plot. The total SS, Block SS, whole Plot Error N
are 822.97, 77.55 and 36.28 respectively. “The sum for 3 blocks are given in the following
table:

By Ba B; By

A, |89 |104 |18 | 117
A, [ 100 [ 117 | 119 |126
A |92 92 104 {121 |
Complete the ANOVA and draw your conclusions. Also Compute the standard error for the

i) difference between two ‘A’ treatment means
i)  difference between two ‘B’ treatment means (08)

Q5. Consider the 2% fractional factorial with generator | = BCDE = ACDF = ABCG = ABDH.
Find the aliases of C. (06)
Q6. Data on screen colour difference on a television tube measured in degrees Kelvin are to be
compared for Four operators. On a given day only threc operators can be used in the

experiment. A balanced incomplete block design gave results as follows: (08)
Days
Operators | Monday Tuesday Wednesday Thrusday
A 173 174 -- 17
B - 175 167 172
C 183 175 168 -
D 175 - 172 175

Do a complete analysis of these data and discuss your findings with regard to difference
between operators.
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1.

\
N
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Encircle the correct option. (10x1=10)

The classical ratio estimators are generally
A. Unbiased B. Biased
C. Zero D. None of the above
People who are available, volunteer, or can be easily recruited are used in the sampling method
called —-meveeecnnne,
A. Area B. Probability proportional to size
C. Multi-stage D. Convenience
The correlation co-efficient between elements in the same <wemeve—voerae is called Intracluster
correlation.
A. cluster B. stratum
C. sample D. None of the above
The list of all units in the population is called -—-eresacens,
A. Parameter B. Statistic
C. Sampling Frame D. Bias
Like the ratio estimate, the linear regression estimate is designed to increase by
the use of an auxiliary variate x; that is correlated with y,.
A. Precision B. Sample size
C. Variability D. Confidence width
-e-seeeeww gStimator is unbiased when sample size is large.
A. BLUE B. Regression C. Ratio D. None of above

In the regression method of estimation, the quantity l%‘ll must be close to ‘1’ if p is

A. Low B. High
C. Zero D. Negative
All of the following are true about cluster sampling except
A. Samples are similar to those in simple random sampling
B. Is a rapid and simple method
C. The sample size may vary according to study design
D. It is a type of probability sample
The w-—mn=oemeeee estimate is more precise than the ratio estimate unless B = R
A. Regression B. Unbiased
C. Robust D. None of the above

10. In --eeeememee- number of units at each stage are different.

A. Simple random sampling B. Stratified random sampling
C. Systematic sampling D. Multistage sampling
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Q. No.2. Write a short note on the following: (5 each)
i.  Application of Ratio Estimator
ii. Non-response Error
iii.  Double Sampling
iv.  Cluster Sampling

Q. No.3. Compare combined and separate regression estimates. Under what condition  (08)
they are equally good. '

Q.No.4.  ghow that the value of by that minimizes V() is B = %‘- ®7)
X

Q.No.5. If a simple random sample of n clusters, each containing M elements, is  (08)
drawn from N clusters in the population, show that the sample mean per
element ¥ is an unbiased estimate of ¥ with variance:

_1-f (NM-1)
Ve =— M2(N - 1)

S*[1+ (M -~ 1)p]

Q. No. 6. If a sample of n units are drawn with probability proportional to z; and with  (07)
replacement, show that an unbiased estimate of V(Pppz) is

__L Yy
V(Frpe) = 1);(21 Top)?
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Q.1. Encircle the correct option. (10x1=10)
.. [32 ‘
i. Let A = [ 3 g ] . What are the eigenvalues of A?
a- 3and 2 b- 9 and 2 ¢- -2 and -9 d-2and 3
ii. Dimension of a matrix with 6, columns and 4 rows is
a- 64 b-4x6 - 6x4 d- 4+6

iii. L_ét A and B be two n X n matrices such that A and B are similar. Let ) be an eigenvalue of A.
Which of the following statements is wrong?

a- Aisan eigénvalﬁe of AT ¢- A is an eigenvalue of BT
b- ) is an eigenvalue of A1 d- )\ is an eigenvalue of B

iv. The eigenvalues of a 4 x 4 matrix A are 2,-3,13 and 7. Then |det (A)| is
a- 546 b- 19 c- 25 d- cannot be determined
v. If the inverse of a matrix existé, it is ciassiﬁed as
a- non-singular matrix b- singular matrix ¢ unidentified matrix d- linear matrix
vi. For matrices A, B and identity matrix I, AB=I=BA then:
a- Bisinverseof A b- Alisinverseof B ¢ A7l= B,B“ = A d- all of these
vii. For a matrix A, A® =T where I is an identity matrix.Then, A~* is equal to:
a- Al b- A2 ‘ c A d- I
viii. If |det (A)] = O then A is:
a~ identity matrix b- singular matrix ¢~ non-singular ma‘trix d- none of these
-ix. If A is a symmetric matrix then AT is:
i- A b- |det (A)] ¢- identity matrix =~ d- diagonal matxix

1 0 0
x. The determinant of the matrix A = [ 100 1 0 lis:
100 200 1

a~ 100 b- 200 c 1 d- 0
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Q42 For the data matrix, A = [ ; 32 }

(i) Obtain eigen values and eigen vectors of A.

(i) Calculate A~" snd obtain eigen values and eigen vectors of A~'. Compare the
results with those obtained in (i).

QS If a random sample of size n is taken from a multivariate normal population of

random vector x of order (p x 1) with mean g and covariance matrix 2. Find the
maximum likelihood estimators of p and X.

| 1.2 5
Q4 For the data matrix, X = [4 1 6]
4 0 4

Calculate

(i) sample means of b7 X and ¢7X
(i) sample variances of bTX and ¢’ X
(iii) sample covariance of bTX and ¢*X

where
X =2 2 —1][X1 X2 XsfT,
X =01 -13X1 Xz X

Q.5 State and derive any two properties of Wishart distribution.
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Q1.

i)

if)

iii)

iv)

v)

Encircle the correct option.

\
A

(10x1=10)

In normal distribution, z-score and z-statistic are classified as names of

a) standardized normal b) Poisson random variable
random variable

¢) normal geometric d) weighted average
variable variable

Bivariate normal distribution has number of parameters.
a) 9 b) 3

c) 6 d) §

In any continuous probability distribution, what is the probability that
x equals the mean P(x=p)?

a) 0.0 b) 0.5
¢) p d) 1.0
What is the mean of the uniform distribution from 15 to 65?
a) 40 b) 20
¢) 11.5 d) 6.32

If the probability density of X is given by
f(x) =2(1-x) for O0<x<l1
To evaluate E[(2X +1)?]

a) 2 b) 1

c) 4 d) 3
P.T.O.




vi)

vii)

viii)

The square of t-distribution is
a) F distribution b) Gamma distribution

¢) Lognormal distribution d) Laplace distribution
The range of Beta distribution is

a) Otol b) -1 t0+1

¢) Otoa d) —ato +a
If 2°- distribution has “n” degree of freedom then the mean of the 7’
distribution is

a) n b) n-1

¢) 2n d) n-2

If u is equal to 8 then standard deviation of exponential probability
distribution is

a) 0.425 b) 0.125
c) 0.225 d) 0.325
If the value of the parameter of Beta distribution let a=5 and A= 25 then

the mean of beta distribution of first kind is
a) 0.1875 b) 0.1785

¢) 0.16667 d) 0.2
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Q2 1) Show that the square of t- variate with n degree of freedom is  (20)
distributed as F with 1 and n degree of freedom.

ii) LetY, <Y;<Y;<Y,denotes the order statistic of a random
sample of size 4 from distribution having p.d.f.

2x O<x<«i
f(x)= .
0 othewise

Find the distributi_on of Y

iii) Let X and Y are independent random variables with joint

p.d.f.
fix,y) =x+y 0<x<l1,0<y<l1
=0 elsewhere
Find E(XY) and E(X + Y).

iv)  If the random variable X has normal distribution with mean
‘m’ and variance ‘ o2, Obtain the distribution of Y=aX+b.

v)  Find mean and variance of Pareto Distribution.

Q3. Define lognormal distribution and obtain its rth moment about origin.  (8)
If logex is normally disturbed with z=1,0*=4 . Find P(}2—<X <2).

Q4. Let X, and X, be two independent standard normal variables. Let (7)
Y,=X,+X, and ¥, =—§—'—. Find the marginal p.d.f. of Y>.

2

Q5. Derive F-distribution. 8
Q6. Derive characteristic function of Cauchy distribution. (7
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A
S
Y

Ql.a)  Write a FTN expression corresponding to mathematical expression
using library functions (5x1=5)

i) sirx(x--2y)+e"-"-—{x2 —yzi

ii) cos(log,, (an + 3b%))

iil) sin x
M +cosxz

iv)  1+sin’(g)

V) s P2
b+ L
¢
b)  Tick the correct option. (5x1=5)
i) The process of detecting and correcting logical errors in a program is
known as
A) Tracing B) Debugging
C) Error D) Accuracy
ii) A Fortran variable is also called
A) Identifier B) Standard
C) Grouping variable D) All of the above
iii) A two dimensional array in Fortran is used to represents a
A) vector B) Matrix
C) Subscript D) None of the above
iv)  To terminate a Do loop ___ statement is used.
A) FORMAT B) CONTINUE
C) EndIF D) DIMENSION

v)  E- Specification is used for
A) Integer variable B) Real variable
C) Mix mode D) All of the above
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Q.Z.a) Write a program to find the sum of geometric series. (5)
b) Find the final value of K (5)
i) K=2 i) K=3
10 DO20 1=3,8,2 M=2
IF(l. EQ. 5) GOTO 20 DO10 J=4,9M
K=K+1 IF(J. EQ. 6) GOTO 10
20 continue K=K+2*J
K=2*K 10 continue
K=3*K
c) write a note on Fortran worksheet. (5)
d) write the types of main memory. (5)
Q.3. Wirite a function subprogram to compute f(x) where (7)
x3? 1 9x if x<0
f@=4x°+2Jx+5  0<x<95
|x{+2.5 x29.5

Q.4. Write a Fortran program which reads an array and then sort this array in ~ (7)
ascending order.

Q.5. Write a Fortran program which prints multiplication table from 2 to 10, (7)

Q.6. Define subprogram and differentiate between function subprogram and  (7)
subroutine subprogram.

Q.7. Differentiate between | specification and F specification. (2)
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Ql.a)  Writea FTN expression corresponding to mathematical expression
using library functions | (5x1=5)

i) sin(x--l!y)+e"”—‘x2 —yzl

i) cos(log,q(an+3b%))

ii1) sin x
|/ +cosxz

iv) 1 +sin*(4)

v) e
b+ !
c
b)  Tick the correct option. (5x1=5)
i) The process of detecting and correcting logical errors in a program is
known as
A) Tracing B) Debugging
C) Error D) Accuracy
i) A Fortran variable is also called
A) Identifier B) Standard
C) Grouping variable D) All of the above
iii) A two dimensional array in Fortran is used to represents a
A) vector : B) Matrix
C) Subscript D) None of the above
iv)  To terminate a Do loop statement is used.
A) FORMAT B) CONTINUE
C) EndIF D) DIMENSION

v)  E- Specification is used for
A) Integer variable B) Real variable
C) Mix mode D) All of the above
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Q.1. Encircle the correct choice. {1x10=10)
{ Bonding between purines and pyrimidines of two strands of DNA is:
‘(a) fonic bonding (b) Hydrogen bonding (c) Covalent bonding (dy Vander wall forces
2. Itis highly variable protein among different organisms:
(a) H, (b) H:A (c)H,B (d) H,
3. Enzyvme used in PCRis:
(a) RNA polymerase (b) Taq polymerase (c) Helicase (d) Primase

4. Replication in which two original strands of DNA remain together (after serving as templates), as
would the two newly synthesized strands:

(a) Semi conservative replication (b) Conservative replication
(c) Dispersive replication (d) all of the above

5. Sequence of initiator (Inr) in case of Drosophilla is;

(a) GCCGM((GM) C (b) GCA (G/T) T (T/G)
(c) GCA (G/T) T (T/C) (d) GCC (G/T) T(T/C)

6. Two regions in mRNA that are not translated:
(a) Initiation codon  (b) 5 UTR (¢)3’UTR  (d) both (b) and (c)
7. Splicing takes place in:
(a) Nucleus (b) Nucleolus (c) Cytoplasm {d) All of the above
8. Group of genes that are regulated together is called:
{a) Repressor (b) Operator (c) Operon (d) Promotor
9. The process in which mature mRNA make proteins is called:
(2) Replication  (b) Transcription (c) Splicing (d) Translation
10. Transposable elements were first discovered in eukaryotic cells:

() Viral genome (b) Maize (c) Pea (d) All of the above
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Q.2. Write the short note on the following. (10x2=20)
i. Differentiate between metacentric and telocentric chromosome.
if. Write down the requirements for replication in Eukaryotes.
fii. Define topological domain.
iv. Differentiate between Core promotor elements and Proximal promotor elements.
v. What is Splisosome?
vi. Draw structure of tRNA.

vii, Discuss points of Watson and Crick model of DNA.
viil. Draw the structure of premature mRNA.

ix. Define Molecular Genetics.
%x. What is the function of Helicase?

Q.3. Questions with brief answers. (3x10=30)

(- Give a detailed account of Transcription in prokaryotes.
i1~ Discuss Transposable elements in Eukaryotes in detail.

7 - Give a detailed account of Leader and Traiter sequence.
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Q.1. Encircle the correct option. (10x1=10)
I. Pigmented retinal cells move intemnally to .....
(a) Neural retinal cells (c) Heart cell
(b) Epidermal cells (d) Ectodermal cells
II.  Liver develops from
(a) Endoderm ‘ (c) Ectoderm
(b) Mesoderm (d) none
.  Regeneration that occurs through re-patterning of existing tissues is known as
(a) Stem-cell mediated (¢) Epimorphosis
(b) Morphallaxis (d) compensatory
[V.  Ectoderm is responsible for the development of
(a) bone (c) kidney
(b) Skeletal muscle (d) Nervous system
V. Human genome may contain genes
(a) 2000-3000 () 20000-30000
(b) 200000-300000 (d) none
VI.  There is at least component/s to every inductive interaction.
(a) one (c) three
(b) two (d) four
VII.  Cadherin-cadherin interaction is times stronger than regular-proteins
interaction.
(a) 100 (c) 200
(b) 400 (d) 300
VIIl.  Fragile X-syndrome is caused by
(a) FMR1 gene (c) elF4E
(b) elF4G (d) BDNF
IX. Vertebrate gastrulation is the example of
(a) Matrix secretion and degradation (c) cell migration
(b) dispersal (d) delamination
X.  The mesoderm has positive affinity for
(a) Ectoderm (c¢) endoderm

(b) both ectoderm and endoderm (d) none
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Question No. 2: Shortly answer the following Questions. (10x2=20)

a) What is Bone morphogenetic Factor (BMP)?

b) Differentiate between instructive and permissive interactions.

c) Define cell potency with examples.

d) Define critical period for teratogens during Pregnancy.

e¢) Give names and functions of some cadherin molecules.

f) What are Primordial germ cells? From where these originate in mammalians Embryos.
g) Enlist some basic Genes involved in eye development.

h) What is the role of Nodal genes in axis specification?

i) What is secondary induction?

j) Define with example selective affinity.

Question No 3: Answer the following questions (3x10=30)

a) How different families of proteins are created by differential RNA Processing?
b) Write a detailed note on Gonad development in vertebrates.
¢) Describe the Epimorphic Regeneration in Salamander’s limb.
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Q.1. Encircle the correct option. (10x1=10)
i) The national mammal of Pakistan is
a. Markhor b. Hog Deer ¢. Indus Dolphin d. Cow
if) The species of animals that are living on earth are called
a. Extant species b. Extinct species ) ¢. Endangered species  d. Living species
lif) The largest national park of Pakistan is
a. Kirthar b. Ayub ‘ ¢.Chingi d. Hazargangi
iv) Lal Suhanra National park is located in a2
a. Punjab b. Sindh ¢. Kashmir d. Baluchistan
v) One of the National parks located on the highest peaks of Pakistan is
a. Khunjerab N.P b. Ayubia N.P c. Hingol N.P d.Chinji N.P
vi) The variety of organism occupying a given place is called
a. Alpha diversity b. Beta diversity ¢. Gamma d. None

vii) Maximum number of individuals of given species supported by a particular environment is called
a, Carrying capacity b. Community ¢. Diversity d. wild life

viii) The place or area where animals are kept in protection and their shooting is prohibited is called
a. Sanctuary b. protected area ¢. national park d. Zoo

ix) Infectious diseases that are transmitted from animals to human are called

a. Zonotic diseases b. Infectious diseases  c¢. Congenital diseases  d. Genetic diseases

x) Red data book containing the details of threatened species of Pakistan is published by

a. IUCN b. WWF cWPA d. SsC
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Q.2  SHORTLY ANSWER THE FOLLOWING QUESTIONS. (2x10=20)
1). Differentiate between ENDEMIC AND EXOTIC species?
2). Differentiate between HOME RANGE and TERRITORY?
3). Define FERAL SPECIES?

4). Give any five ways for CONSERVATION AND MANAGEMENT of wild life?
5). EXTINCT IN WILD?

6). Any 2 MAJOR THREATS to wild life?

7). Any two NEGATIVE WILD LIFE VALUES?

8). Give any five ZOO RULES?

9). Define ECOREGIONS?

10). Define GAME RESERVE?

Q.3 Briefly answer the following questions. All questions carry equal marks.

(10x3=30)
I). What do you know about NATIONAL PARKS, discuss in detail any three national
parks of Pakistan.

I). Discuss in detail RAMSAR CONVENTION and Ramsar sites of Pakistan.

I11). Describe IUCN categories of wild life.
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Q.1. Encircle the correct option. (10x1=10)
i. Tropical forests cover about % of the earth land area.
a)6 b) 10 c) 60 d) 20
ii. is not a greenhouse gas.
a) CFCs b) Nitrous oxide ¢) Methane d) Ethane
iii. Hot spots are:
a) Areas subjected to frequent fires
b) Area rich in biodiversity

c) Area rich in unique species
d) Area once had extinct species
Ozone depleting chemicals include:
a) Halons b) Methy! bromide ¢) Carbon tetrachloride d) All of above
tells us about proportion of individuals of different ages in a population.
a) Fecundity schedule b) Lifetable  c) Age distribution graph  d) Survivorship curves
Intrinsic per capita rate of increase 'r' is equal to maximum per capita rate of increase ty, when
a) Population size is high
b) Population size is low

¢) Value of K is high
d) All of above
are formed at high temperature in incinerator during reaction with chlorine and
hydrocarbons.
a) Dioxins b) PCBs ¢) MTBE d) Ozone

viii, A declining population have age distribution curve with maximum number of.

s

IX.

X,

a) New born b) Youngster ¢) aged d) all age groups
An annual reproducing population with initial population size of 446 individuals and geometric
rate of increase is 1.7, what will be the population size after 2 years?

a) 758 b) 1,288 c) 2,244 d) 564

In tolerance model, Climax community;

a) Can be present at early stage

b) Modify the environment

c) Prevent other community to establish that area

d) None of these
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Q. No. 2: Give short answers to the following questions. (2x10)

i. How exponential growth equation can be converted into logistic growth equation?

ii. Define biomass accumulation model.

iii. What information a survivorship curve can provide?

iv. What is sustainable growth?

v. What do you mean by particulate air pollution?

vi. What is chemical warfare?

vii. What factors in your life are contributing to water pollution? State any two of them.
viii. Define Biochemical pesticides with example.

ix. Per capita rate of increase depends on body size. Comment.

X. Define sex ratio.

Q. No. 3: Describe the following with detailed answers. (10x3)

i. Explain MECHANISM OF SUCCESSION.
ii, Write a note on sources, impacts, and control of LAND POLLUTION.
iii. Discuss the environmental limits of POPULATION GROWTH.
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Q.1. Encircle the correct choice. (1x10=10)

I. The color which insects cannot differentiate is

(a) blue (c) red
(b) white (d) green
2. A snake that uses trails to lead to its main prey- ants is called
(a) Viper (c) Leptotyphlops
(b) Gryllotalpa ‘ (d) Cobra
3. Kleptoparasitism mean
(a) Food searching o (¢) food accumulation
(b) food stealing o (d) food sharing
4. Lacerta agilis is the scientific name of _
(a) Sand Lizard | ' (c) wall Lizard
(b) Tree lizard (d) Ground Lizard
5. The onset of migration is controlled by
(a) weather (c) Biological clock
(b) Temperature (d) Rainfall
6. Any animal that eat plant is known as
(a) carnivore (c) Herbivore
(b) omnivore (d) scavenger
7. Any stimulus that is associated with some unpleasant event is called
(a) Appetitive stimulus (c¢) conditional stimulus
~ (b) Aversive stimulus (d) unconditional stimulus
8. Scientists who study behavior are called
(a) Economist (c) Ethologist
(b) Entomologist (d) Psychologist
9. Blue eyes are because of ...... .
(a) Presence of blue pigment (c) absence of blue pigment
(b) Presence of brown pigment (d) absence of brown pigment
10. When a male mates with more than one female in one breeding season this condition is
called as
(a) monogamy (¢) polygamy

(b) polyandry (d) polygynandry
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Q2. Write short notes on the following [2x10=20]

Polyandry

Synaptic facilitation

Lek

Bubble cloud feeding

Pleiotropic effect

Alarm calls

Differentiate innate learning from social learning

Foraging behavior

Aol T A S o

Habitat selection
10. Circannual rhythms

Q3. Dicuss Migration? What is the genetics of migration? [10x3=30]]
Q4. Write a detailed note on sexual reproduction and parental care?

Q5. Write a detailed note on learning? Discuss associative learning and memory in aplysia?
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